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1. 4UNPQLLEUS dNruushULEP

Thgnip N={0,1,2,...} ng pwgwuwlywl wdipnng pytph pwqdnt-
pjnLlb t: f(x;,...,x,) dwulwyh $nilyghwl Yngynud t pwpwlwlywd,
bpb w)G wpnwwwinytpnud £ N7 -h nplt bopwpwqdnpyniG N -h dhg':

n ¢hnpnfuwlwibhg Ywhyws papnp pwpwlwlywh $niGyghwbbph
pwqunp)nilp GawGwyttp §"-nd: f €& dnlyghwh npndwh wnp-
nnypp Gawlwltlp N7: bph (a,,a,,...,a,,)e N7, wyw Yoguwgnp-
sulp Gwl !f(a,,ay...@,) Guiwyndp, huy (2),@;,...a,)& N}
nbwpnd® ! f(a,,a,,...,a,) Gawlwynidp:

x, (nthnfuwlwap Yngymd b ng twlwa £ € §" dnlyghwih hw-
dwn, bpt Ywiwywywt (@)@, @, @, )€ N™' L Guilwjwluws
B, 8" € N wntinh niGbG hbwnbjw) wwydwGGbpp’

1. f(@), ), 52050 ,) S f()na, 1, B, 2,55 @)

2. tpt!f(a,,....a, ;. B a5 ,) =
f(@s @y B3 @55 @) = [ (@ @i B3 G500 2,) -

Gnynt ng wikGnipbip npnaqwsé £ L g $nillyghwhbph hwywuwpne-
pntlp ( f = g) hwulywgynid t htwnlyw) bnwlwyny. pb nplt hwywpw-

6nth Ypw $nlyghwlbphg dbyp npndwd b, www dniup wyn hwyw-
pwénth Ypw GnuyGuybu npndwd t, L Gpwig wpdtiplbpp hwadpGyGnud 6G:

&" pwquinpjwl npnwyh Gopwnwu uwhdiwbbint hwiwp GpdnubGp.

I6Gpuyhl priGlhghwabn
1. O(x)=0,
2. S(x)=x+1,

* 2h pwgwnynid 7 =0 nbugpp, npp Gaunud t S0 wbupnd, b () Ywd npnaywé sk, ud
hwywuwp t nplt ¢ hwunwwnniGh:
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_ x—y,bpbx =
3. S(x)=x=1,npunbin x=y= i ‘ :
0, hwlywnrwy ntiypnd

Gnponnmp i GGEY

1. N5 twlwG hrpnfuwlulllpf Gbpdniénud

B(X) i Xy ¥V )5eees V) DUGUGhwE ungynud t f(x,,...,x,) PnLGY-
Shwjhg y)s..., ¥, (k21) ng twywG pnthnfuwlywGGiph GEpdnuédwdp,
tpb

w) Yoy, thnthnhuwluwGGbpp twlwG s66 A(x,,....X,, ¥, V)
dnGyghwh hwdwn,

P) (X 50003 X)) Z (X ses Xy Vysees Vi )

2. YwlnGwynp inbnwnpmpinl

h(Y)sees y,) INLGYghwl Yngdnid b f(x)5e0%,) U g(V)5ees Vi)
(I i< n) pnmGyghwGlph YwinGwynp nbnwnpnipjwl wpnynilp, bpk
B(Y1s5eees Vi) = F (81D 1i5eves Vi Dsvees 8 Visews Vi D) :

3. NMwpqugnyl winpwnwnpdnd
S(xp5ees%,,y) Pllghwl Yngdmd t a(x),...,x,) L B(x,,....X,,¥,2)
$nulyghwlbph wwpqugneyl winpunwpddwb wpnynilp, bpb

{f(x,,...,x,,,O)'za(x1 yeees X, ) .

f(xl ""’xn ’y + 1) = ﬂ(xl ""’xn ’y’f(x] !""xn’y)) .

4. UifiuquignuyGh npnlGmd

w(x)5sx,) dnlyghwG Yngynd t @(x),...,x,,»y) InGyghwyh
Gwwdwdp GuqugnyGh npnGiwG  wpmynbp (Gawlwyymd L
W (X5 X, ) = 1, (@(%, ey X, , ¥) = 0)), bp pusuipuinynud bG hbnlyuwy
ww)dwGGkpp.

Ww(x,,....x,) & w) Iy o(x),...,%,,y) =0

p) Vi < ylo(x,,....x,,t) 20
L w(x,,...,x,) npybtu wpdtp pGnnibnd t htGg win y (bt w)l
qnjnLpyntl nuGh):
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f €& dnbyghwl Ynsunid t dwulwlyp Lwpeplpwg pnilblyghw
(J.4.p.), bpt wja htGpwyhGGtphg npLt dGYG t Ywd unwgynid t htGpw-
JhGGGphg YyGppwynp whqwd yhpwnbiny 1-4 qnpénnnipynLGGbpp:

UdkGnipbp npnadws f 0.4.9. (N; =N") yngynid t plnhwlnn
Ywpeplpwg pnilbyghw (p.4.3.)

f €8" dnllyghwh Yngunid t wwpqugnil Ywpeplpwg pnllghw
(w.4.p.) tpt wja htGpwjhGGbphg npLt 06LUG bt Ywd uwnwgymd t
htiGpwjhGGtphg Ytppwynp whqwd Yhpwetiny 1-3 gnpénnnipyntbGtipp:

OnhGwy

Uwwgnigklp f(x,y) =x+y $nillyghwjh wwpqugnyl Yunpqpl-
pwgntpjnLap:

x,0)=x+0=x

LPwbh np /(x0) ,

fO,y+D=x+(y+D)=(x+y)+1
ybpgltp a(x)=x= §(S(x)) L Bxy,2)=z+1, www
f(x,y)=x+y Pnlyghwh wwpquqnylG Ywnqplpwgnipjnilp hhy-
Gwynnynid t hbnlyw) nwbwyny’

w) Yppwetnd S(x) b S(x) PniGhghwlbph Gywwndwip 2 qnpén-
nnipyntlp’ unwinud GGp a(x)-p,

p) Yhpwebiny S(z) =z + 1 dnbyghwjh Gywwndwdp 1 gapénnnip-
jnclp, unwGnud GGp B(x, y,2) -p

q) a(x) u f(x,y,z) pnllghwlbph Gywwndwip Yhpwabiny 3
anpénnnipynLlp, unwlnud bip f(x,y)=x+y:

www bpk

lubGphpGbp

h°Gs $nibGyghw t unwgynd @ L B dnGyghwGbphg wwpquanyl
winpwnupddwb dhengny:

1. a(x)=LB(x,y,z2)=2-x

2. a(x)= O,ﬂ(ﬁc,y,z) =z+Xx

—6-



a(x)=1,0(x,y,2)=z+2x
a(x)=1p(x,y,z)=z+3x
a(x)=1B(x,y,z)=c-x
a(x)=1p(x,y,2)=z-x°
a(x)=1,B(x,y,2)=z-x°
a(x)=2x,0(x,y,2)=2z~1
a(x)=x,p(x,y,2)=z+3

10. a(x)=1,B(x,y,2z)=x*

1. a(x)=x,p(x,y,2)=z"

12. a(x) =x, f(x,y,2)=x’

13. a(x)=3,8(x,y,z)=x’

14. a(x)=2x,0(x,y,z) =z~ 2
15.a(x)=1B8(x,y,2)=x+2

16. a(x)=x,B(x,y,2)=2-x
17.a(x)=0,B(x,y,2) =x+ 3z
18. a(x)=2,B8(x,y,2z) =z~ 4x
19. a(x) =1, B(x,y,z) = 2* +6x
20.a(x)=x,B(x,y,2)=z+(x+y)
21.'a(x) =0,8(x,y,2)=(z+x)+y
22. a(x)=x,B(x,y,2)=y" -z
23.a(x)=0,B(x,y,z)=x+y+z

© ® N O O s w

xLy
24 QG = 7= =0 | npn2dwh whpnypp:
by w(x) yy[ [3y+1] J nn2 hnnypp

25.3waqby w(10), tpb w(x)= py[(7 - [2—;1—3]} 3= 0] :
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26. 3wty w(0) L y(9), bt y(x)= p,(5 [ ] OJ:
27. 3wty w(10), tipts y(x)= py([ 5 ]=0]-

28. 3wyt (7). bpts w(x)m[[y’_‘ ]= 0):

=3

Uwwgmgti| htinlyw| $nbyghwbbph wwpquwagnylb Ywpgplpwgnt-
pJnLlp’

29. f(x)=nmeN)

30. f(x)=x+n(meN)

3. f(x,y)=x+y

32. f(x,y)=x-y

33. f(x,y)=x" (0° =1)

34. f(x)=x! (0!=1)

0,tpx=0

35. sg(x) = pax
Ltpt x>0
Lbtpix=0

3. 5g(x) = {0 tpk x >0

x—ytpix2y
37.x+y=
O,bpix<y
38. f(x,y) =[x~
39. f(x,y) = max(x, y)
40. f(x,y) = min(x, y)
Uwwgniglip hbwnlywy $nbyghwbbph wwpquagnyt YwpgpGpwgnt-
pintlp’ oquuwagnpébiny g(X;s...sX,5X,,,)s &(VpseeVm) U B(Visees V)
InLGyghwibph wwpquwagnt)G Ywpgqplpwgnipynilp.



41. f(x),..,X,,,2) =

D 8(Xives%,,1), bBE Y S 2

i=y

O,tpiy >z

42. f(xl,...,x,,,yl,...,ym) =9

( B(YynsVm)
g(x,....x,,0), iph
1=@(YyssYm)
AYyses Ym) S BD1sees Ym)
0, Ulwgwd nbypbpnud

83, f(% X, 9,2) =

Hg(xl ,'",x",i), be y <z

i=y

O,tpt y >z

44. f(x]r--;x,,,y],...,ym) =

f ﬂ(yl ----:y.)
[Tg(xss%,.), tob

i=a(y),sYm)

0, 6Gwgwé nbwptipnLd

\

AYyseees V) S BYysees V)

45.4wublp, np f(x,,...,x,) PnLllghwh unwgynd t g(x;,...,x,,y)

L A(xs...,X,) PniGyghwlliphg uwhiwlwhwy GwquanyGh npnGiwG
qnpénnnipjwiip, bpk ,uy(g(x,,...,x,,, y)=0) npn2qwé t pninp x,,..., X,
hwiwp L sh qbpwqulgmd  A(x,...,x,): Uwwgngl, np bpb

S (x50 x,) Pnilyghwl unwgymd b g(x,...,x,,») U h(x,...,x,)

wwpqugnt)i Jwpgplpwg 9$nillyghwGbphg vwhiwlwthwy GJuqu-
qnijGh npnGiwG gnpénnnupjwdp, www w)t wwpquaqntjli Ywpqpipwg t:

46.Y%hgnip h,,...,h,,, wjlwhuph pnbyghwlbp bG, np Yuwiwjwlwh

X}, X,50.5X, pOwlwh pybph hwiwp Gpuighg dbyp L dhw)G dkYG t hw-



Jwuwpynid 0 : Uywgnigby, np tpt g,,...,8,, U Ay, B, Pnlyghwib-
np wwpquant) Ywngplpwg 60, www
8,(x,5..05%,), tipl Ay(x,,....x, ) =0
S (XX ) =9 e
&m(X;50sx,), B Ay(x,,....x, ) =0

$nilyghwl wwpquantyd Ywnpqplpwg L:
47 . Uwwgnighky, np wwpquwaqgnylb (Jwulwyh, pGnhwbnep) Yupqpl-

pwg dnLlyghwitinh nwup sh thntudh, et S(x) hhipwihG $nGyghwsh
thnfuwntG ybipglty 1, (x,,X,,...x,) =X, (I <m<n) dnGyghwi b s09-
nwgnpdt| ng twlywh hnhnfuwywGbbph GEpdnuédwh gnpénnnipynilp:

Uwwgnigby htwnbjwy $nGlyghwbbph wwpquaqnyl Yuwpgplpwgnt-
pnLlp’

X
48. f (x,y)=[;] x-p y-h ypw pwdwGbihu unwgynn pwGnpnp

e

49. f(x,y)=rm(x,y) x-p y-h dpw pwdwlbihu uwnwgynn
dGwgnpnp (rm(x,0) = x)

50. 7(x) = «x pyh pwdwlwpwnbtph pwbwyhx (z(0) = 0)

51. o(x) = «x pyh pwowlwpwnGbph gnuiwphG» (o(0) = 0)

52. Ih(x) = «x puh wywnq pwdwlwpwnlbph pwbwyhG» (ZA(0) = 0)

53. (x) = «x phup sqtipwquignn wwnq putinh pwlwyhG»

54. h(x,y)=«x L y pytiph witGwthnpp pGnhwiny pwqiwww-
whyhG» (A(x,0) = h(0,y)=0)

55.d(x,y)=«x L y pytiph wiklwdibé pGnhwinip pwdwlwpw-
nhG» (4(0,0) = 0)

56. p(x) = «x-pn wuwnq puht» (p(0) =2, p(1) =3, p(2) =5,...)
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57. long(x) = «x puh wiklwibé wwpq pwowbwpwph hwiwphG»

58. ex(x,y) = «wwpq wpwwnphslbph wbupny y pyh Jbpiniént-
pJwh 0ty x -pn wwnq puh wunhGwbh gnighshG» (ex(x,0) = 0)

59. f(x,y)=[</;] (I%;]=x)

60. f(x,y) = [C;](C; =1, ipb y < x)

61. f(x)=[e-x]

62. f(x)=[e’]

63. f(x)=x" (x-p sgtipwquignn pninp npwlwh qnuyg/ytiGwn
pytiph wpwnwnnjwihG, tpt x -p qntyg/ytiGun L)

64.%gnp v,(x),..., v,(x¥) wdkGnptp npndwé plwpwlwlywb
$nGyghwibp GG, npnlip Ywilwjwlwl x-h hwiwp pwjwpwpnd GG
vi(x+1)<x(i=1,..,5) wwpwGbphG: YwubGp, np  f(x,...,X,,,)
PnuGyghwl unwgdnil b g(x)5es X, ), (X 5y Xy Xpagseees Xpasey) bt
v,(x),..., v,(x) $nGyghwltiphg plnhwlnip winpwnwpdnud gnpén-
nnipjwdp, tpk x,,...,X,, y thnthnfuwluwGGbph papnp wpdtipltinh hwidwp
wnbnh nlGEG hbwnbyw) hwywuwpnipynlGGbpp’

S (x50 %,,0) = g (%;5...,X,),

S (Xpsees X, Y+ D)= H(X s X, s [ (X X,V (7 + 1),

S (X5 X, v (¥ + 1))

Uywgnighi, np bpb  f(x,....x,,;) PmGUghwl uvwnwgynd t
8(X)sesX,) s A(Xpsees X s Xpazsees Xparas ) Vi (X) ey V(X)) wwipqu-
qnyl Yunpaoplpwg dnLGyghwhbphg plnhwhnip winpwnwpdnid qnpén-

nnupjwiip, www wjl wywpquanyyb Ywpaplpwg t:
Uwwgniglp hbwnlyjwy weGsmpntGGbpnyd  wpdnn dnLbyghwitiph

wwnqugnt)G YwpgplpwgnipyniGp’
65. £(0)=0, (1) =1, f(n+2)=f(n)+ f(n+1)
66. f(0)=0,f()=1f(n+2)=2f(n)+ f(n+1])

-11-=-



67. f(0)=0,f()=1f(n+2)=2f(n)+3f(n+1)=1)

68. f(0)=2,f(1)=4,f(n+2)=3f(n+1)=(2f(n)+1)

69. f(0)=2,f(D)=3,f(n+2)=4f(n+1)=(f(n)+])

70. f(0)=2,f(D)=3,f(n+2)=4f(n+ )= (f(n)+])

N fO)=LfN=1Lf(n+2)=3f(n+1)=(f(n)+4)

72.f(0)=2,f(D)=3,f(n+2)= f(n+])-(f(m)+])

B.f0)=2,f(D=3,f(n+2)=f(n+1)-(f(n)+])

74. f(0)=3,f(1)=4,f(n+2)=3f(n+1)”")

75. £(0)=0,/(1)=2,f(n+2) = (f(n+ 1) =) f(n)

76.E)6ph $nLbGyghwa@, npp hwywuwp t x -p sqGpwqubgnn L x-h
htwn thnfuwnwpdwpwp wwnq pytinh pwiwyhG:

77 Uwwgnigby, np jntpwpwsnip wdklnuptp npnzdwé $nulGyghw,
nph wpdtipp hwywuwp t g pwgwenipjwdp yepowynp pyny Ybwnbpmd,
wwpquani)b Ywpqplpuwg t:

78.%gnp f(x) L g(x) PnLGyghwhbpp npnzqwé GG hbnlywy duny’

f(0)=a,g(0)=b
f(x+1) = h,(x,f(x),g(x)) :
g(x +1)=hy(x, f(x),8(x))

Uwwgnighy f(x) L g(x) $nbyghwlbph wwpquagniyl Ywpgpl-
pwgnipyntlp, bpb A, (x,¥,z) L h,(x,y,z) $nilyghwbbpp wwpquaneyl
Ywnqplpwg bG:

79.Uwywgnigl, np  jnipwpwlgynp  wwpquanyl  Ywpgplpwg
$nilGyghw pGnhwhnip Ywpqplpwg t:

80.Uwuwgnigb], np nbnunpnipjwld L wwpquagnt)i winpwnwpd-
dwh gnpénnnpyntlGGEpp thwy GG pGnhwGnup Ywpgpbpwg $nibyghwht-
nph nwuh GYwwndwdp:

81.Uwuwgnigt, np tpbt wwpquanylb Yuwpqplpwg (pGnhwlnip
Yunqplpwg, dwulwyh Ywpqplpwg) niGyghwhbtiph wndtiplbpp thntuby
ytipowynp pyYny Ytwnbpnud, wwyw vtnwgynn $nGyghwi Lu YhGh wwp-
quaqntji Ywpqplpwg (pGnhwanip Ywpqplpwg, dwubwyh Ywpgplpwg):

-12-



Uwwgnigb| hbwnbywy $nblghwlbph wwpquagnyt YwpgpGpwgnt-
pjnLlp’
82. f(x) = «x-h qni)q pwdwbwpwpGtiph pwlwyhG»

83. f(x) = «x -h bl pwdwlGwpwnplGiph pwhwlyhG»

84. f(x)=«x-h yupq pwdwlwpwnpGbiph pwGwyhG»

85. f(x) =« x -p sqbpwquwbgnn qnuq pyutiph pwhwlyhb»

86. f(x)=«x-p sqpwqubgnn YLGwn pytiph pwlwyhG»

87. f(x) = «x-p sqbipwqulgnn wwnq pytinh pwlwyhG»

88. f(x,y)=«x-h L y-h pGnhwlnip wwpq pwdwGwpwnGtph
pwlwyhb»

89. f(x) = « x -p sqtipwquhgnn YGw pytiph gnuiwphG»

90. f(x) =« x-p sqbpwqubgnn qntjq putiph gniiwphG»

91. f(x) =« x-h wwpq pwdwGwpwnpGtph gnLiwnphb»

92. f(x)=«x-p gqipwqulgnn wwnq pytiph gnLiwphb»

93. f(x,y)=«x-h L y-h pOnhwlnip pwdwGwpwnplGtiph qnidw-

pha»

94. f(x,y)=«x-h L y-h plnhwlnip wwpq pwdwbwpwnlbph
qnuiwphG»

95. f(x,y) =«y-hg ns thnpp L Sx-p sqbipwquignn Ywunwpyuwy
putinh qnudwnhb»

96. f(x,y)=«x-h L y-h pOnhwlnip pwdwlwpwnGbph wp-
tnwnpjwihG»

97. f(x) =«x -hg thnpp wwnq putiph wpwnwnpjwihG»

98. f(x,y)=¢«x-hg ng thnpp L 3y-p sgbpwquignn Ywwwpjwy
pytiph qnuiwphb»

99. f(x,y) =«x-hg uké L 2y-p sqbpwquignn wwnq pybph wp-
twnpjwihG»

100. f(x)=«x-p gqbipwqulgnn wwpq bpyynpywyltph pw-
GwyhG»

-13-



102. f(x,y)=(x!)"
103. max(x,,...,X,)
104. f(x,y,z)=|x—|y—z”
105. f(x)=«x-h w)bi pwdwlwpwplbph pwlwyhG, npnlp pw-
dwlynd G 3 Ypw wnwhg dGwgnpnh»
, GpE x L nluwnwpdwpwp wwpq Lo
106. f(x,y)= Y, tp Y tnluwnwpdwpwp wwnq
whnpny, hwlwrwy nbwpbpnid
x + y,tpb x 2 y LqnynipyniG niGh wyGwhuh i

107. f(x,y)= phu.np y =2
x = y, hwwnwl nbwpbpnid

5,tprm(x,3)=0
108. f(x)=<4,tptirm(x,3)20Lrm(x5)=0
0, dGwgwé ntiypbipncd
109. f(x,y)=«x-h L y-h wikGwdité pGnhwhnip pwdwGwpwnh
L wikGwihnpp plGnhwinip pwqiwwwwhyh wpunwnpyuihG»
x,pty+z=x
,bpix+z =
110. f(x,y,2)= > oP Y
z,bpix+y=z
0, 00wgwd nbwpbipnid
111. f(x)=«x-hg thnpp Gpw pninp Ywunwpw| pwdwbwpwnlt-
ph qnudwphG»
112. f(x)=«x-hg thnpp Gpw pninp Ywwnwpjwy pdtiph pwlwyha,
npnGp pwdwGynid GG 3 -h pw»
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13. f(x,y)= {/llog2 x”

114. f(x)=«x-hg thnpp pninp wjG pybph pwGwyhG, npnlp
pwdwbyntd GG 7 -h ypw L qniyg sEG»
x,tpix >10Lrm(x,y)=2

115, ,y) =
/(.3 {O, hwlwnwl nbwpntd

x + y, tipti x pwdwlbihu y unwgunn

116. f(x,y)= dGwgnpnp wwnq phy t
0, hwlwnwy nbwypbpnud
x, tpl x qnuyg t L nplt npwGwpn t
17, f(ry= |5 BPE¥ Anuatlnn pyh lunpwGwpn
0, hwjwnwl nkiwpbpnud
x, bipt qnnipynl nuGh wjlGwhuh g wwpq
118. f(x,y)={ phunp x=a’
0, hwiwnwy nbwpnid
X, tpb wpq k
19, fr,y)=1{ ) WM
¥, hwjwnwl niwypbpnd
x, bpb x pwdwGynuit 7 L sh pwdwbynid 4
120, f(x)= pixp y thp U
. 0, hwijwnwl nbiupbipnud

1, tipl x Wwnq pwdwlwpwnpGbph pwGwyp
hwjwuwnt y juwnmwpjw) pwdwlwpwnpGeph
pwlwyhG

0, hwywawy ntiwpbpnid

121, f(x,y)=

5%, tpti rm(x,3)=0
122. f(x)=142x,bptirm(x,3)=1
0, GGwgwé nbwpbipnud
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2x + 3y, bpl x YhGun t L rm(y,3) =2
123. f(x,y)=<8x+y,tpbx qnygtLrm(y,3)=0
x, Ubwguwé nhiypbipnud
x +3y, bpt x Ly tnfuwnwpdwpwp wwnq b

124. f(x,y)=
) x ¥, hwywnwy nbwypnid

—y,hpbxmwnqthy<x

125. f(x,y)=<x*,bpby>x
5, 6Gwgwé nbwpbpnLd

2%, bpli x qnuyg tL y YtiGen

126. f(x,y)=13",tipt x YaGuntL y qnijq
0, iGwgwd nbwptipniy

x-y,pix>ylL yqmqt
127. f(x,y)=<{2x+3,bptix=y

4, Wlwguwé nbwpbtipnid

C(x,y),tp x wupqtl y=2
128. f(x,y)= (x, ), tipk x wwpqtl y

5, hwjwnrwynbwpbpnud

2x, tipk x qnuyg t Ly YtiGun
120, f(x,y)={ pb x qrug tLy |

x + y, hwhwnwynbwpned

Uwjwgnigtip htnlbywy $nblyghwbbiph dwubwlyh YwpapGpwgnipynibp’

x-ytpix2y
130. f(x,y) =
whnpny, hwlwnwl nbkiwpned

—hhx wdwbGyned t w
131, f(xr,)= ptix-pp 4 y-hyp

ﬁnnnz, hwywewly nbwpnid
132. f(x)-p wiklGniplip wGnpny $nilblyghw t
-16-



133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

S(x)=x -pn wwpq tpLynpywlGliphg wnwehGhG
j3y41, bpbi rm(x,4)=3L y >4

f(x,y)=1<10x,tpbirm(x,4) =1L y=2

(whnpny, dGwgwé nbuwpbinnud

(x, bpk x - h qni)q pwdwhwpwplbiph pwlwyp

hwdwuwnpt y - p UGG pwdwlwpwnbliph

pwlwyhb

(winpny, hwhwnwy ntiyptipnud

8, tpb x sqtipwquignn YtGuw pybph gnudwpp
hwywuwnt y sqbipwqubgnngntjq putinh

f(xay)=J

f(x,p)= S
wlnpny, hwlywnw nbwpbpndd
— ¢y
fx0,2) = z,tpz=x" L zqmqt
winpn, hwjwnrwyntiwpbpnud

2, tipti x L y pybtinh pwdwGwpwnpGbph pwlwlGbnp

f(x,y)=4 hwjuwuwnkbG
wanpny, hwlwnwy nbwpbpnd

fx) = {2, tpt qrynupynul nGh k pGwlywG phy, np x = 3*
whnpn, hwywnwynbwpbipnd
Ltpbxwwpqtlx=2
f(x,»)=40,pt x qnujq t
winpn?, dGwgwé nbwptipnLd
2,tptirm(x,3)=0
f(x)=143,tplirm(x,3)=1
wlnpny, bpki rm(x,3) =2
2, ipti gnynupynLGnLGh k pGwlwGphy, np x = 2*

f(x)=
wbnpn?, hwhwnwyntiwptipnid
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143.

144.

145.

146.

147.

148.

149.

150.

151.

152.

2,tpix=0Ly=2
fO,y)=<Ltpix=1Ly=3
whnpn?, SGwgwé ntiwptipnid
5,bipti rm(x,4)=0
f(x)=42,tipbrm(x,4)=1
whnpny, i0wgwd nbwptpnLd

f(ny)= 5%, bpb x ywunwpju bl y > x
’ wanpn2, hwlwnwy nbiwpbpnud

FOuy)= 3, iptixwyunqtly>x+3
I wbnpn?, hwywrwynbwptipnid
Ty,tpixqnuqtly=7
f(xy)=<5=x,tipixqnyqtLy=3
whnpny, i0wgwé nbiwypbpnLd
5y,bpb x wwpq t L y Yuwwnwnju
whnpn?, hwywewynbwptipnid

{x 27, ipxqnuyqtl y<3x

f(x,)

f(x)

wanpn?, hwwnwyntiwptpned

7,tipixqnuqtly=2
f(x,y)={x+ytipixqnyqtLy=7
whnpny, 60wgwé ntwpbpnd
x+27,ipixwwpqltlx<Sy
whnpn2, hwlwnrwlntiwpbpnid

jone]
‘x+2y, tpt x Yl kL rm(y,4) =3

x=y,tipti x Yt L rm(y,4)=0
whnpn?, i0wgwé ntiwpbipnid

f(xy)=
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1583. f

154.

155.

156. f

157.

158.

159.

160.

161.

162.

whnpn?, hwywnwynbwpntd

2,pi xwwpqtly=3
f(x,y)=<3,tpi xwywpqtLy=5
wlnpny, Gwgwd ntiwpbipnd
x+2,tipti x wwpqtLy qnyq
wbnpn, hwywnrwyntwpntd

f(x,y)

1, ipti gqnynpynLGniGh &, np x = &~

) whnpn?, hwywnwy ntwpntd

1, ipk x Ly pytiph wnwytijwqnti)li pwdwlw -
pwpbtipp hwwuwp GG
whnpn?, hwlwnwy ntiypnLd

o
:
|
-
{ny, tipb x pwdwhGynidt 6 Upw iy sh
|
|
|
|
|

f(x,y)=

pwdwlynti 2*
whnpn?, hwywnwlynbwpntd

fx,y)=

(xy) = 2,6pix27y Lywwpqt
S wGnpn?, hwlwnwl ntiwptipnLd
x-y,tipix>y
fOy)=<y-xtipix<y
winpn), tiptix=y
x+y’,tiptix>3L y ytGunt

f(xy)=4x=ytipix<3Lyqngt
whnpn?, i0wgwd nbwptipnid

x¥,bptix bt L y qnuyq

Jx»)= wanpny, hwlwrwyntuwptpnd
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163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

x-y, tipi xytiGintL y qnuq

x+ y?, ipbi x YtGwn kL y YLGun
fxy)=
winpny, WGwguwé nbwptpnid

Jx+y+5,bpbxu|wnqthy>5
f(x,y)=<x=yipixwwpqtlLy<5
(whnpng, dhwgwé ntiwptipnid
Jx+5,hphxl|hﬁlnthy=3
f(x,y)=<x+y,tpixtiGntL y=6
(wanpny, dGwgwé ntiwptipnud
Jz, tptixqnugtl y>3x
f(x,y)={10x,tipt xqnyqtL y <3x
\whnnng, §Gwgwé nbiwpbipnud
(2+3y,bpti xwwpq tl y>7
f(x,y)=33+2x, i xwupqtlL y<7
\whnpng, iGwgwd ntiwpbipnud

f(x,y)={x+2y’bphx=3 L y wuwnq st

whnpn?, hwywewynbwptipnid
2,tiptirm(x,y)=0

f(x)=4<3,tipbirm(x,y)=1

whnpn?, JGwgwé nbwptipnud
flx _{Z,bpbx=3y

whnpn hwywnwyntiyptpnid
2,tptix<2
f(x,y)=<1tipix>2”
whnpny,tpti x =2
(3, bpb x qnuyg L L y 4G

J.y)= {wﬁnnnz, hwywawynbwptpnid
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x-y*, ipix wwpq b L y wwnq st
whnpny, hwhwnwy ntwpbpncy

x+ y,bpti x nplt pup Pwywinphw t L
174. f(x,y)=¢ ylwunwpjuw

whnpn, hwywewl nbiwpbpned

173. f(x,y)={

175, )= z bptz” =x
wﬁnnnz hwlywnwy nbwpbpnid
1, pli x wwnq t

176. f(x,y)=12,tipb x yuwnwpjuwy t

wlnpn, d0wgwé nbwpbpneyd

x+y,bpbx=2y Ly=3"
wﬁnnnz, hwywrwynbwpnid

177.

2. @3ntrpLAh UBLLLULEN

@yniphlgh dbpbliwh pwnwnphsGbpG 66G° dwwwybGp, qpnn-Yup-
nwgnn g{tuhlp L nEYwywnnn vwppp.

. |A JA|x|1x2 | |x,. ] ka (A A [ .
qtuhly - X
dwwwyk

nbYwdwpnn uwpp ——»

@)niphlgh dtiptiwh wluwwnnud b dwiwlwyh wewGdhh =0, 1, 2,...
wwhbphl: dwwwyblp weohg L dwiuhg whdbpowdhg b UG pwdwbyws t
poholbph, npnGghg jnpwpwGynipnud dwiwlwlyh gwbywgwd wwhhG
anyws t 6haw 06y Ghp 4 = {a,,a,,...,a,} (n 2 1) dnunph-Giph wjpnipb-
Ghg: 4 - nu wnwidGwgywé t nwwuwnly Ghep' A: dwdwbwyh JnupwpwG-

gnip wwhhl dwwwybbh Jtpgwynp pyny pohellphg pwgh, dlwgwo
pohelbpnud gpywé t A: A wwpniGwlnn pohelbnt whywGklp nwwnwpy:
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Gpnn-Ywpnwgnn qitublp dwiwbwyh jnipwpwlynip wwhhG np-
wnwpynid t Gy pehe, Ywpnnid wyn peentd gnpdwd Ghzp, Gpw thnfuwpkG
qpnud nplt Ghy A4 - hg (hGwpwynp t* Gyl Yupnwgwé Ghpp):

NGjwywpnn uwppp dwiwlwyh jnupwpwbsinip wywhhG quGyned t
JhGwybtiph Q ={go,91-+Gr-15 P15 Pm} (nm21) Ytipgwnp pwqinipjniGhg
nplt dbynid: g, YhSwlyl wewGdlwgdws t QO pwqinpynilnid b yng-

ynd t ulyqplwlwl JhSwly: GGpwnpynid t, np @jniphlGgh dLpLGwh
ufunud £t hp whuwnwipp dwiwlwyh ulyqplwlywG ¢z = 0 wwhha,

quGytiny uyqplwlywb ¢, dhdwynui: QO ={q,,9,...9,,} <€ Q pwq-
dnupjwl wwppbipp Yngynd GG gnpénn yhswybtp, P ={p,,...,p,} € Q0
pwquinpjwl@ wwpppp’ Gqpuiwlhs Yypswlylbp: Iwdwpnd GGp, np
hwjinGybiny nplt qpuihwlhs yhdwyned, @yniphGgh dbipblwh wywp-
wntd | wuwnwGpp (Ywig b weGnud): NEYwdwpnn uwppp, GiGing hp
yhSwyhg L grfuhyh Ynnihg nhuinwnlynn Ghzhg, wpnn t

w) thnfubig hp YhGwyp;

P) thntubil nhvnwnydnn Ghzp;

Q) thnjubi qiiuhyh nhppp, hwenpn wwhhG wbnwinfubing w)b
hwplLwG we Ywy dwhu poheltip, Ywd pnnlb; nbnnid (wyjuhGpG hwenpn
wwhhG qituhlp Ynhwwnlh win wwhhG hp Ynndhg qpywé Ghzp):

L24wé gnpénnnupyntGGEpp pGnipwgpynd GG hwiwwwunwuuwGw-
pwp 3 wpnwwwwnytipnudGtipny.

A:OxA4—>Q
5:0xA— A
v:Ox A —{U,2,8)

UwhdwlOmd
T, =<A4,0,4,8,v> hlguyp, npntn 4,0 pwqimpjniGatpp L

90
A,6,v wpunwwwunlbpnudGepp GYwpwepdwd GG gepunud, Yngynud t
@)nipphhGgh dtipkiGw:
Lywpwqpklp BynphGgh dkpbtwjh woluwwwlph pGpwgpp dwiw-
Gwyh ¢,(¢ +1)- pn wwhbphG (£ 20):
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GOpwnpkGp, #- pn wwhhG O)nphlgh dbpbGwl qunGynd t
g(r) ((0) = ¢g,) UhSwynid, huy gpnn-Ywpnwgnn gituhlp phnwpynd t
x Ghp:

w)bpt g(¥)eP, www GnphGgh dhptiGwh wuwwnwipl
wywpunynd L:

p) bRt ¢(1)€ Q, www nhnnwplunn pgemd x Ghzh thnfuwnkG
qndnud t 6(q(#),x) Ghap, (++1) - nn wwhhG nbhwdwpnn uwnph yh-
Swyp® g(r +1) = A(q(), x), huy gpnn-Ywpnwgnn q(tuhlip nhiwnpynud £
GnuyG pohep, tipt v(g(1),x) =S, hwplwG wy pohep, tpb v(q(),x)=U L
hwplwG dwtu pehep, tpt v(g(#),x) =2 :

UGhpwdtizuin t 262k, np wluwwnwGph L' uygpnid, L’ Ybpgndd, tpb
wzfuwwnwlipt wdwmndby t, @)niphGgh dbpblwih qifuhlp wbuwp t
quiGyh wnwehl ng nwwnwny peoh Ynw:

Bymphlgh vbpbowyh inpdwl bnwlbwlGbpp

©PymphGgh dbplilwGtpp Ywpbh t Gwpwagpby Gpynt bnwlwyny

wryntuwlw)jhb L nupuwwinybipw;h:
UryniuwlwjhG Gnwlwyny GbpYwjwgiwb nbwpnLyd

T, =<4,0, A,6,v > Byniphlgh dpkGwh, npinbin’
A={a;,a,,...0,}, Q={4osq1-s9,15 P1>s P} »
A:Ox4->0,

S:OxA>A,

v:0x4->{u,2,8},
npynud t hunbywy r x n swihwOh wrynwuwyh dhengnd.

al a] an
4
ql l(qi,aj),§(q,,aj),V(ql,aj)
qr-l
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T, =<4,0,4,6,v> ©Onphlgh dbpbbwsh nipdwiywinlbipwsh

bnwlwyny Gbpywjwgdwl nbwpmd Q@ pwaqinipywl jnpwpwignip h
yhSwyhl hwiwwwunwuhuwbsgynud t ququp — 2ppwlwly, nph Gepunid
qpynud t h Ghop: 3nupwpwlynip i - h hwdwp (0 <i<g r—l), q, - h

hwiwwwwnwuluwnn 2pewlwlyhg nnipu GG quihu |A| hww wnbtnGbp,

npnGghg jnupwpwGyniph Ypw Gadnud £ 4 pwqinipywl hwiwwwnwu-
huwb a, (1 <Jj Sn) Ghzp: ¢, -hG hwiwwwwwubuwl ququwphg nnupu

bbnn U @, Ghany Gaqwé wntinp nianynud t nbwh A(g,,a;) -hG hwiw-
wwuwupuwb ququpp, L wn wnbnh ypw a; Ghzhg hbwn hwlwqdb-

nnud gpynud t 6(g;.a,) Ghap b wyw v(g;,a;) Ghap: UyGhwyn t, np
wju Ybpw Ywenigwé mqt[wwwmuhnu dhwpdtipnpbG GYwpwqpnud t
BjniphGgh dLpLOwa:

ShunwpyblGp ByniphGgh dbipbGwjh nupjuwwwnlybpwihG inwbwyny
GbpYyujwgdwl dh ophGwy: Yhgnip, B)niphlgh dbpbGwh, uubiny wp-
huwwwGpp 1-6phg Juwqijwéd Ywiwjwlwb »+1 bGpywpnpjwl pwnh
Upw, wwpquwbu unmgnud t° 7 =0, pbi ng, pwnp pnnGtiny wGthnihnfu:
CGn npnud’ wfuwnwipl wywpwnnud b wyn pweh wiotiGwdwlu Ghoh Ypw
YwGqltind, 7»=0 nbwpnd p, bqpwithwyhs dhSwynwd, huy »>0

nbwpnud®  p, bLqpwihwyhs YhSwynud:
Uju @yniphlGgh dtpkGwih npwwwn-
Ytipp GEpYuwywgywsé t qdwgqpmud:

fwlh np @)niphGgh vbpkGwlbpp
Suwihnfunwd b0 hpkGg dwwwybGh pohy-
Gopnd qpwé  pwntipp, wwyw npwlg
dhongny pYwpwlwlwld Ppnbyghwhbip
hwpybnt hwiwp Gepywpugthbp nilly-
ghwjh  thnthnfuwlwGGtph  wpdtipGtiph
hwywpwénG pweh inbupny npnawyh wy-
pnipblGnud:

Ve, (e, e N,1<i<nn21)
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hwowp  (,,@,,...@,) hwjwpwénth dbpbGwywlws Yon  (Ywd
wwpquwbu  Ynn)  YwGywhGtGp u*u**u pwnp, npp

ap+] a;+1 a,+]

YGwlwykGp k(a,,aQ,...,an)-nq: Vwulwynpwuybu, L_l pwnp o

a +1

puh YnnG t:

Uwhtwlnd

YwubkiGp, np T Oymphlgh vbptGws hwaynid t f(x,,xz,...,x,,)
plwpwlwlwh pnilyghwh, tpb V(a',,az,...,a,,) hwywpwénih hw-
dwp (a,. eN,I<i Sn), ulubiiny wpfuwinwpp & (a,,az,...,a',,) pwnh
Upw, w) ybpowynp pwjibiphg htitnn wdwpuinid t wyl, wwpnbwlybing
dwywytGh Ypw k(f(al,az,...,a,,)) pwep, bpb f(a,,az,...,a,,)
npnaqwé t, L p) Yhpwnbh st k(al,az,...,a',,) pwnh ypw (wjuhGpG,
w2huwwnnid £ wGybipg)” hwlwnwl nbwpnud:

Uwhowlmd

Ywuklp, np f(x,,xz,...,x,,) pUwpwlwlwh pnbGyghwl hwyup-

4tith t pun @)niphGgh, Gpb qnynupyntG niGh 7 BynuphGgh tbipkGw, npp
w)l hwyijntd t:

Uwwgnighblp dh pwGh pnLbGyghwbtnph hwaytihnipjnibp pun @jni-
phhgh:
1,bptix=1
1. l:—l-}= 0, tpti x >2
x
npn2ywé sk, pix =0
YunnighGp wju pnllyghwh hwyynn Byniphlgh dtipklw nupyw-
wuwwnltiph dhengny.
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.1(1)U .1(1)U A(A)O 1(1)9 .

\1 (1)U 1(A)Q

A(1)S

2. Yunnighlp htwnbyw) $nlyghwb hwzynn Bynphlgh dbpklw.
. {0 ,pix <y
xX=y =

A(A)U

x=ytpx2y
UbpbGwl uyqplwlwlO wwhhlG nhuwpynd t dwwywytbh ypw
onwé  1..1*1..1 pwnp, pln npmd dbpbGwih qqfuhyp qnGynud t g,

x+l  y+l

uyqplwlwh ypswynid L nhunwpyndd bt dwwwybGh Jpw gplwd pwnh
wibOwdéwu 1 Ghyp: B)nuihGgh dbpblGwh waluwnwipp Yuqiwybpw-
tGp hbunbyw Ybpw. w)l «pGond t» de{wlwh Gh wpywd pwnh jnpw-
pwlynip dwjphg, wunhdwlwpwn Guqbglbing X - Gnu y - p: bpk
ulqpnud Ytippwlned 66 dwhuwynndjwhb 1 - Gpp, www dwwwybbh Ypw
wobkG hGs «pGoynud t», qpynud t 1, L whuwwnwipl wdwpwnynmd t;
Jwhwnwy nbwypnd dwwwybGh Yypw d0nd 66 x—y -1 hwwn 1 -bGp L * -
p, npnGp dbphGwh dLwihnfund t x—~y - h Ynnh L YuGq wnbned: Uju
dtipGwjh nipwwwwnybpp GEpYuwywglbiGp unnpl.

1(1)u (1)U
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luGnhpGbp

Ywnnigh) hbnlyw) pywpwlwlywt $nGyghwi hwyynn BynphGgh
OkptOw.

1. f(x,y)=x+y
2. f(x)==

3, f(x)=[—’25]

7. f (x) =rm(x,2)

8. f (x) =rm(x,3)

9. flxy)=x-y
10. f(x,y)=x'y

1. f(x,y)= rm(x,y)

X

12. f(x,y) ==
Yy

13. f(x)=x+5
14.f(x,y)=x+y+5
15.f(x)=x*4

x+2,tpix >3
16. f(x)— {x*l, tp x <3
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x+ytpix>2
17. fix,y)=
f( y) {xbpbx<2
x+y+2btpix>3
18. f(x,y)={
y,bpbx <3
x+y+lLbpix2>22Ly>1
19. f(x,y)z{
0, hwlwnwy nbwpnt
2. f(x)= {x +3, bpt rm(x,2) = 0L rm(x,3) % 0
0, hwlhwnwl nbwpntd
x+y tpk rm(x,2 =0Lrm(x,3)=1
21.1te)-{ )=0urm{x3)
1, hwlwnwly nbwpn
x, tipti x qnuyq tL rm(y,3 =0
22. f(x y)={ )
0, hwywnwl nbwpnud
x, tplix 2>y
23, f(x,y)={
yhphx<y
+3, ipx <2
24, f(x)=4" "> P
x=1,tpix>2
x+2,bph y<3
25. f(x y)
y=-l,tpy2>4
2,tpix=>4
2. f(xy)={" 2%
x+1tpix<3
+2, bipt Ik(x=2k,
27 f(x, x+2, bipti Jk(x=2k)
x=2, tpt Fk(x=2k+1)
+ybtpix>y L 3)=1
28f(x {xypxy rm()’)
0, hwjwnwy ntiwpnid
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x=1, bpb x YbGuwn t
x+1, pb x qnuq t
x =2, tptirm(x,2) =1L rm(x,3)=3

29f,y {

30. f(x,y {
y =3, hwlwnwynbwpntd
31. f(x,y) {(x +y)=3,tpt rm(x,2)= 0L rm(y,3)=0
y + |, hwywnwly nbwpnid
2
2. f(x.y)= {x+(y 2), tpti rm(x,2)= 0L rm(x,3)=1
0 hwuwnwlmbu.mnui

3. f(x,y)= x+y tphrm x 2 lhrm(x,3)=2
x =+ 4, hwywnwy nbwpnLd
x+(y+2)bpiy2x+2
2, hwhwnwyntiwpntd

Il

f(x)

x+y+2,bpix=2kLy=0
x,y)

X + 5, hwlwnwl nbwpnLd

+y)=lLbpiy2x+2
36fx,y)={(x y)=1bpty2x
X, hwywnwYy nbwpntd
_|x+y+2,tpb3k (x=2k) Ly =0
37.fx,
x+5 hwywnwy nbwpntd
38. f(x,y)=(x+y)+7
+8,tpt x>
30, f(x,y)= {( ~y)+8,tpl x2y
x+y+8tpix<y

x +y, gt rm(x + y,2)=0
|x - y], bpti rm(x + y,2)=1

o f(x,y)={

41. f(x,y)= max(x’y)



42. f(x, y) = max(x, y, z)
43. f(x, y,Z) = min(x, ¥, z)
44. f(X,y)=3-x

45. f(x,y)=2-x+y

46. f(x,y)=x+3y+3

e
X

47. f(x,y):J ¥
\0, bpby:o

,bipby # 0

. f(x.y)=1| 2 P E2)=0

|2 + y, hulwnwl nbwypnuil
49 f(x,y) = (x *y)+ 2x

50. f(x,y)= (x'+ y)

51. f(x,y)= x4y

tpix >y
52. f(x,y)= [ ]
)’+3 bpix<y

bbx>
53fxy P y

0 bpbx<y

54. f(x,y) {(2" 1)+, bpb rm(x,3)=2
{

0, hwlwnwy nbwpnt i

25, bt rm(2,2) = 0L rm{y,4)> 1

55. fix,
fler)= 0, hwjwnwly nbwpntd
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hpb rm(x,2)=1

2x = lhphrmxy) 0

56. f(x,y)=
y +1, hwywnwy nbupnud
{x + y, hwhwnwl nbwpntd

57. f(x,y)=

2x, bipti rm(x,2) =0

58.
f( ) y =1, hwywnwy nbwpnid

2x,btpx 2> y +1
59,
fxy {y Lbpx<y+1
2y, tpirm{x,2)=0Lrm\y,4)>1
S0

1, hwywnwy nbwpnid
61, f(x)= 3x, bpli rm(x,2)=0

' |x =1, bpb rm(x,2)= 0
[ ] bpti 3k npx =2k
O,tpIknpx=2k+1

x + y, tipi rm(x,3)=0
8. f(x ) {x * ¥, hwwrwl nbwpnid

62. f(x)=

o4 7(1)=| 252 |

65 f( ) 2y+1,tpi2<x<4
Sflx,y)=
Y 1, hwjwnwy nbwpntd

3x,tpt Ik npx=2k+1
x=7,bp Ik npx =2k

66. f(x)={
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2x,bpix <y
67. f(x)_{x;y‘bphxzy

I: ¢ 4 Yy
68. f(x’ y) = 2
' h 'u‘"m‘ll 'I»bulpnllj

]» bpti rm(x,2) =0

69. f(x)= x*, biph x qnug t
| 2x, tipb x 4G t

x-y,tpti x qniyq t
70. flx,y)=
f( y) {x =, tipt x YhGun k

2x, tpb rm(x,3) =0
7. f(x)= [g] bpti rm(x3) =1

x=3, bptirm(x,3)=2
x?, tipb x qnuyg t
72. =
f(x) {x(x;l)’ bpb X uhﬁu‘l t

x+3,bpk x qnuq t

73. f(x)= [ E]

3 , lipbi x Y&Gn t

2 -—
74. f(x,p)= {(x +1), tptirm(x,3)=1Lx <y
3y, hwlwnwl nbwpnii

x-ybpix=5Ly>3
75. f(x,y)=15, tpix<5Ly=3
x-ybphx>5Ly<3
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= l:
76. f(x, y) 3
2x-+1, hwhwnwl nbupntd

77. f(x,y)= (x+ 7Y, tpti rm(x,4)=1
, 3, hwjwnwy nliypncd

], tpt x>4 L x qnuq t

(x+2)2 =~y tpix2ylLuxqmqt

78. fix,y)=
f(x y) {y,hwuwnwlmhulpmd

[lii], tpt x qnugt L y=0
y

79. f(x,y)= 1 y=5,tipk y>6 L x YGunt
x+1, hwwnwy nbwpnid

\

80. f(x y)= (x+y)2, tpix<yl rm(y,3)=2
’ 3, hwlywnwy nbwpnrd

(x=2)-ytipix>yLx>10
81. f(x,y)={2x tpbix=y
4, hwlwnwlynbwpnid
a2, f(x,y): {x(xéZ), tipb rm(y+l,2)=l L xqnuqt
x+35, hwywnwl nbwpntd
Ywnnigb) Bjniphlgh dbptilw, npp Vx € N -h hwiwp hpwlwbwg-
anud b obpbGwjwlwG Ynnh hbwnbyw) dLwhnfunip)nlGGlpp.
83. k(x) > k(2)* k(0)* k(x = 1)
84. k(x) > k(2)* k(x = 2)
85. k(x) = k(x =2) * k(1)
86. k(x) = k(x =1)* k(0)* k(1)
87. k(x) — k(0)* k(x =1)*k(2)
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88. k(x) > k(0)* k(x =1)* k(3)

89. k(x) = k(x +2)* k(1) * k(x)

90. k(x) > k(x +1)* k(1) * k(x = 1)
91. k(x) > k(5)* k(x +3)* k(x = 1)
92. k(x) - k(2x)* k(x +2)

93. k(x) = k(x+1)* k(x)* k(x 1)
94. k(x) > k(x)* k(x)* k(x = 2)

95. k(x) > k(x)* k(x =1) * k(x)

96. k(x) = k(0)* k(x)* k(0)* k(x +1)
97. k(x) = k(x =3)*k(0)* k(x +2)
98. k(x) > k(x =1)*k(x)* k(x+1)
99. k(x) = k(1)* k(x =1)*k(x +1)
100. k(x)— k(x =2)*k(0)* k(rm(x,3))

101, k(x) > k(x)*k[%]*k(x)
102. k(x)—> k[ﬂ » k(x +1)* k(rm(x,3))

103, k(x)— k[%]*k(l)*k(x;l)

k(0)* k(x 1), tipti rm(x,3)= 0
104. k(x)

k(2x), hwlwnwy ntiwpntd

k(x=1)sk(x=1) bptix > 4
105. k(x)

k(1)* k(2), hwiwnwl nbwpnLd

k(x)* k(x = 2), bpt rm(x,3) = 0
106. k(x)

k(0), hwlwnwl nbwpntd
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k(4)* k(3x)* k(2), tipt x qnuq t
107. k(x)
k(x), hwwnwy ntbwpnid
y k(x=2)*k(x) tiptix=5

108. k(x)\

k(2x), hwlwnwl nbwpnid

k[ﬂ + (0)* k(x), bpls rm(x,4) > 2
109. k(x)i’ k(x)* k(1) hwywnwl nbwpnL

k(x2 ) tipti rm(x,3)=0
110. k(x) = k(x = 4)* k(2x) tipti rm(x,3) = 2
k(2x), hwywnwy ntiupnLd

k(x=2)* k(1) bptix >3

111, k(x)/

k(2x), hwywnwl nbwpntd
k(2)* k()*k(x=1) ipti x> 6
112, k(x)<
k(x), hwywnwy ntiwpnid
k(2x)*k(2), bpti rm(x,2) = 1
113. k(x) <
k(x = 1), hwiwrwy ntiwpnid
k(2x)* k(0)* k(1), bpl rm(x,3) = 2

114. k(x)

N k(2), hwlwnwy ntwpntd



3. FLUYLUL @YGMP JUUULUNMGEMP JUUULCULGULAFULED

3nipwpwlgnip ubbnqwé n pGwlwG pyh hwiwp N"-hg N -h
Upw thnhudhwpdbip wpnwwwnybpnudp Ynsynud t pGwlwa pybph wwpq
hwiwpwywymd: YwGunnph Ynndhg OGpdmuéybp b hwdwpwlwinudp
htnlyw| tnwGwyny’

(x+y)x+y+1)
2
quGnud t jnipwpwlynip (x,y) qnugh hwidwpp, huy r(m) L I(m)
ynuGyghwGbpp (nbu (1)) ypwlwbgGmd 66 m hwiwnp nuGbgnn qnuygh
we' ¥, b dwh' x, wlnwidlbpp: UyGhwywn t, np CU(m),r(m))=m L

rCl,y) =y, U(C(x,y)=x:

n 23 hwiwp dwlwéiwh tnwbwyny GEpdnusyned t

C" (%)%, ) = C(C" 7 (X eor Xy ) X,)
ImGyghw, nph dhongny hwiwpwlwygnd 66 pGwywh pytph 7 -jwl-
Gtpp:

Awiwywunwuhiwlwpwp @ (m) 1<i<n (nbu [1]) $nilbyghwib-
nh dhengny putn n-jwyh m LYwlGwnnpul hwiwph Yepwywbgbyned t
Gpw 7 -pn whnwdp:

LbpinotiGp hbnwy GuuGwynuwiGepp N = {A} N'=N u
N°=N°UN' UN?U..UN"U...: N°-hg N -h ypw thnfushwpdtp
wnunwwwinybpnudp GEpdnudyby £ Ynntith Ynnodhg hinbyw nwbwyny
0,ptn=0 ‘
Cln=1,C"(x,...x, )+, ipin>1

n=2 npbypnd C(x,y)= +x  $nGlyghwb

B(x,...x,) = {

Gnnbgwl hwiwpwlwimdiGph hbn Juwwywéd nhwrwpyyned GO
htwnlbyw| $nbyghwibpp’

e p(x) = «ibly hwwn x-hg pwnugwéd hwiwywpgh gynnbywhd hw-
OwphG»

e d(z)=«z qmnbgwl hwdwp nGhgnn hwdwlwpgh bpluwpne-
pjulbp»
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« z qynnbiyw hwdwn nuGegnn hwdwywpgh
o Ai,z) = i-pn whnwdhG», bpli1<i<8(2)
0, hwjwnwynbwpnid
o @(x,y)=«w)d hwiwywpgh qnbywl hwdwphG, npp
unwgynud £ty plwlwG phyp wehg Ygwapbiny x qynnbpwl hwdwp
nLGgnn hwdwlwpghl»
o (x,y) = «w)G hwiwywngh qjnatiywh hwiwphG, npp unwgyned

t y qmubpwl hwdwp nGbgnn hwdwlywpgp wehg Yygugpbiny x

gqJnnbpwh hwiwp nllbignn hwdwywpghl»

« z gynnbiywb hwdwp nGegnn hwdwlwpghi-pn
wlnwdihg ulyuynn j ipywpnipjwidp hwnywsh
qJnnbywlhwdwphl»,tptii21Li+ j-1<6(z)

0, hwywnwy nbwpnty

0 0(z,i, j)=

ey(x,y)=«y hwwn x- btphg pwnyugwséd hwiwlywnpgh qynnbywh
hwdwphl»

tuGnhpGbp

1. Uywgnigty C(x,y) $nilyghwih wwpquanyl Yungplpwgnt-
p)nihp:

2. Uwwgmgti, np C(x,y) $nilyghwh hnfushwpdtp hwiwww-
wwutuwbnpniG t N2 L N Ghols:

3. Uwwgmgty /(x) L r(x) pnbyghwbbnh wwpqugnyb Ywpgpt-
pwgntp)niip:

4. Uywgngty C"(x,,...,x,) dnlyghwsh wwpquanyl Yupgpl-
pwgnipniap:

5. Uwwgngty, np C"(x,,...,x,) $nibyghwh thntushwndtp hwiw-

wwunwuhuwbnpnt t N” L N dhol:

-37-



6. Uywgmgly @'(m) i=12,..n $nbyghwlbph wwpqugnil

Ywnqpbpwgnipjnilp:
7. Uwwgnighy p(x), 8(z), A(i,2), o(x,y), w(x,y). 6(z,i,))

L y(x,y) $nGyghwGbinh wwpqugnt)G Ywngplpwgnipnilp:
Qhgnip ,B(x,,..,x,,)= m: 3wyyby hbnbyw| pniGyghwbbpp b wwyw-

gnigh Gpwig wwnquqntyG YwpgplGpwgnipynilp’
8. B(8,4,1,10)

9. B(8,x,,4,%,,1,x,,10,x,,)

10. B(x,,x,,...,x,_,,8,5)

1. B(x,,3,%,,1, x4, Xs5...,X,)

12, B(x;, %3, X5, X4y X5 505 X151, X,1,2)
13 B(x; %, X5 Xy X103.%), 3, X5 %75 %)
14. ,B(x3,0,x2,1,x1,2,x3,x4,x5,...,x,,)
15. B(x,,3,x,,1,%¢,%;5...,X,)

16. B(X,_ 5%, X5 X 55000 X,_5)

17. ﬂ(x,,x,,x,,xj,x5,x,,,x,,xs,...,x,,_z,x,,_,,x,,)
18. ,8(1,2,3,4,5,x,,xz,xj,x,,_,,x,,)

19. #(2,8,24,%,,%,,....X,_,X,)

20. ,B(x,,x,,Z,xj,x‘,4,...,x,,_,,x,,,n)

21. B(x), X, X5, %5005 X,,_ ;515 %,,2)

p
22. A x,,0,...,0,x,,0,...,0,x,,0,...,0,...,x,,0,...,0
—— N—— N N——
\ x x x3 %,
,
23. | x,,0,x,,0,0,x,,0,0,0.,...,x,,0,...,0
\ n

24. B(L1L XXXy X3, X g5eves Xp_ys Xps X3 252)
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25. B(X,5 X3 Xp_ 15 Xp_psees X5 X))

26. B(Xy3X3,X), X 45 X550 X35 X,5 X35 X, 1)

27. ,B(O X3 X55eeys Xp_ s X 0)

28. ﬂ( "_3,x,,_2,x,,_,,x,,,xj,x6,x,...,,x,,_4,x,,x2,x,,x4)

29. ﬂ(x,,xz,xj,x4,5 6,7,8,%9,X,y5... )

30. ﬂ(x,,xz,O 0,0,%;5,%,,X5, X5 5000 X, _35%,_5,0,0,0,%,_,,X )

31. ,B(x6,x,,xa,xg,x,,,,...,x,,,x,,x,,x,,x“x,)

32. ﬂ(x,,xz,xj,x4,0,0,0,x5,x6,0,0,0,x,,xg,xg,x,o,x,,...,x")

ﬁlh‘uwgm.gb[ htunbywy $nGyghwbph wwpquagnyl YwpgplGpwgnt-
pintlp

33. f(m)=«m qnbpwl hwiwp nGbgnn hwiwlwpgh m-hg
dbé qnuyq whnwdibsph pwlwyhGy:

34. f(m)=«m qnbgwl hwiwp nGtignn hwiwlwpgh wwpq
wlnwiGtph pwlwyhhx»:

35. f(m) =«m qnnbpwh hwiwp nGkgnn hwiwlywpgh 3 -hg ik
wwpq L Y&0w whnwaGkph pwlwyha»:

36. f(m,x) =«m qnntipwG hwiwp nllbgnn hwiwlywpgnid qnyg
inbntipnud quGynn x -hg Uké YhGuwn pytiph pwGwyhG»:

37. f(m)=«m qnbpywl hwdiwp niGgnn hwdiwywpgnd Y&Gwn
wntintpnud qunGynn 735 -hg thnpp qni)q pubtiph pwGwyhG»:

38. f(m,i,j)=«m qnnbipwh hwiwp nGkgnn hwiwywpgh i-pn
L j-pn wlnwdiGkph m-hg 066 pGnhwlnip wwpq pwdwlwpwplph
pwlwyhb»:

39. f(m,i)=«m qnnbipwl hwiwp nGbgnn hwiwywpgh Ytpghh
wlnwdhg 0hGsL i-pn wlnwdip Gbpwrjwy wlnwdGtph wdtkGwihnpp
pOnhwGnip pwqiwwwnhyhb»:

40. f(m) =«m qnpbiywh hwiwp nlGkgnn hwiwlywpgh 5 -h Ypw
pwdwGynn qnijq whnwiGtph gnuiwphG»:

41. f(m)=«m qnntigwl hwiwp nmlbgnn hwiwywpgh YLl

wnbintpnud qunGynn 3 -h Upw pwdwynn qnijq whnwiGbph gnudwph»:
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42. f(m,x) =«m qnnbywl hwiwp nilGbgnn hwiwlwnpgnud YhGwn
wbnbpnud quGynn x -h Ypw pwdwbynn qniyq pybiph gnidwphln:

43. f(m) =«m qnntipwl hwdwp nlGgnn hwiwlwpgh 3-h L 7-h
Upw pwdwhGynn whnwdibkph gnudwphb»:

44. f(m)=«m qnbgwl hwiwp nlGbgnn hwiwlwpgh qnig
winwdbkph YEGwn pwdwlwpwnpGbiph gnudwphb»:

45. f(m) =«m qnnbywl hwiwp mGkgnn hwiwlwpgh qnuyq nb-
ntpnud quGynn 4-h Ypw pwdwldnn winwiGtphg pwnywgwé hwdw-
Ywpgh qjnnbgwh hwiwphlr:

46. f(m) =«m qnnbpwG hwiwp nGbgnn hwiwbwnpgh 3 -h Ypw
pwdwlynn wnbtnbtpnud qunlynn winwdbtphg pwnyuwgwé hwiwlwpgh
qJnnbywi hwdwphl»:

47. f(m)=«m qnbpwl hwdwp nGbgnn hwdwlwpgh 4 -h Ypw
pwdwynn qnijq whnwdGbph wpwnwnpywhl»:

48. f(m)=«m qnpbywl hwiwp nGlgnn hwiwywpgh &(m)-p
sqbpwquignn YEGun wlnwdiGtph wpnwnpjwihGs:

49. f(m)=«m qrbpwG hwiwp nilGbgnn hwiwywpgnid YaGwn
nbnbpnud qunlynn qniyq pytiph wpunwnpjwhG»:

50. f(m)=«m qnbywl hwdwp nlbignn hwiwywpgnud YhGwn
wtintpnud quGynn 3 -hg Uk¢ pytiph wpuwnpjwihG»:

51. f(m)=«m qnnbywl hwiwp nlbgnn hwiwlwngh 3 -pnhg
OwfuwytipphG J -hg dbd whnwibtiph wpuwnpyuphG»:

52. f(x,y)=«wjl hwiwbwnpgh qjonbpwl hwdwphG, npp unwg-
gnud t x qyonbgwl hwiwp nGbgnn hwiwlywpgh jnipwpwlsnip wi-
nwdhg hbwin wybpwglbbny y phyp»:

53. f(x,y) =«w)l hwiwlwpgh qnbywh hwdwphG, npp unwg-
ynui t x qynnbywh hwiwp nuibgnn hwiwlwpghG wehg b dwhuhg Ygw-
anbiny y phup:

54. f(m,i) =«wji hwiwlwpgh gynnbywl hwdwphG, npp unwg-
ynud £t m qyonbgwl hwdwp nlGbgnn hwiwywpgh i-pn wlnwdh wdb-
Owibié wwnq pwdwlwpwphl wehg Ygwapkind m phyp»:
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55. f(m,i)=«m qnbigwl hwiwp nGbgnn hwiwlwpgh i-pn
wlinwdh wiklwité wwpq pwdwlwpwph hwiwphg Juqidwé hwiw-
Ywpgh gynnbigpwl hwdwphG»:

56. f(m,i) = «w)l hwiwywpgh qrnbgwl hwiwphG, npp unwg-
Unid t m qynnbywa hwdwp nibbgnn hwiwlwpgh 7 -pn wGnwdhg htitnn
wybwglbind 7-pn wwnq phup»:

57. f(m) = «wjl hwiwywngh qynnbywh hwiwphG, npp unwgynid
t m qnntipwb hwdwp nuGgnn hwiwywpghg pGunpbiny wyl winwdbb-
pp, npnGg hwdwpGbpp pwdwGyned GG 3 -h Ypw»:

58. f(m,i)=«m qnbtigwl hwiwp nGbgnn hwiwywpgh 4 -hG
wwwnhy nbnbpnud L 7-G sqbpwquignn wlnwdGephg pwnyuguwé hw-
dwywpgh gynnbywl hwdwphby:

59. f(m,i) =«wjl hwiwlwngh qnntigwl hwdwphG, npp unwg-
ynud t m qynnbywl hwdwp nlGbgnn hwiwlwpgh Gwhiwybpeht winw-
Uhg uluwé plGwnpbiny i Gpywpnipjwdp (nbwh dwhu) hwnywd»:

60. f(m)=«m qntpwl hwdwp nltgnn hwiwlwpgh qnug L
3 -hG wwwhy nbnbpnd qunGynn wlnwilbphg pwnywgwéd hwiwywp-
qh qynnbigwl hwdwphG»:

61. f(x,y,i) = «w)l hwiwywpgh gnntigywh hwdwphG, npp unwg-
ynui bt x qynnbpgwl hwdwp nGlgnn hwiwlwpgh i -pn winwihg hbwnn
wyblwglbiny y phyp»:

62. f(x,y) = «wjl hwiwywpgh gnntigwh hwiwnphG, npp unwgyntd
t x qyrnbywh hwiwp nlbtignn hwiwlwpghg dwluhg” bgwapbiny y qyn-
nbywG hwdwp nGlgnn hwdwlwngp, huy wehg Ygwanptiny x hwun 7 »:

63. f(x,i) = «w)l hwiwlwpgh qnbpwh hwdwphG, npp unwg-
ynui t x gqynnbgwl hwiwp nlGlignn hwiwlwnpgh i -pn winwidhg wnwg
wybjwgtbiny x hww x, huy i-pn wlnwdhg htinn Ygwagnptipng G0w-
gwé wlnwdiGbpp hwhwnrwy Ywpgny»:

64. f(x,y) = «wjb hwiwhwpgh qjnnbywl hwiwphG, npp unwg-
ynd t y qnbpwl hwdwp nbbgnn hwiwlwpghg pGuptinyd x -hG
wwwhl whnwibkpp® uyutind y gnnbigpwl hwdwp ncbbgnn hwiwywp-
gh ytinghg»:
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4. 3UUUMPSULP dNFLLUShULEN

Nhgnip M c 3" F(x,,x,,...,x,) pniGlighwh Ynsynd t hwidwwh-
nwbh M pwqinpjwl hwiwp, bpb
Vf(x,..x,) € M 3n, € N (Fn,x,..x,)= flx,,...x,))
VmeN (F(mx,...x,)e M):
OphGwy’
M= {x+y2,x3,2xy} pwqinipjwl hwiwp hwiwwhwnwGh &G
hwlnhuwGnd hbnlyw) $nGyghwhtipp’
w) F(x,,%,y) = (x + y')sg(%,) + x"sglx, - 1|+ 2xysg(x, = ),
R F(x0,%, %) = (x +y7)sg(rm(x,,3)) + X sglrm(x,,3) -1 +
+x° @Irm(x0 J3) - 1| + 2ch§|rm(x0 J3)- 2| :
M= { x’,x+ Zy}u { xk-y"k,me N} pwquinpjwl hwiwp hw-
dwwhwnwGh t, ophGuwly, hbinlywy pniGyghw’
F(x0,%,y) = X" 5g(xo) +(x+2y) sglxy | + ™2y sg(x, =1):

fuGnhpGtip

Loqwé pwqinpniGGliph hwiwp Ywneniglp hwdwwhunwGh $ncly-
ghw L wwuwgnigh| Gpw wwpqugnt)i uwpgpGpwgnip)nilp:

1. M={2x,x’,x+x2}

2. M={ xt+y?, x‘él}

3. M= {x+y,x v, x>, rm(x, y)}

4. M= {x+y,x 6z,x”" 522y}

5 M= { x-y,x=y,rm(x, y),[ ]}
y

6. M= { X2 +,2x,x” }
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13.M =

14.M=

15. M=

16. M =

17.M =
18.M =
19.M =

20.M =
21. M=
2.M=
23. M=

+y ,x—}’,z*‘y, -
Y

xz,yz,x+1,y+2}

2,95, %0 + 9, x-'—y}

[y] L y+2, [«/—]}

x’,x= 3y,x+7’[ ]}
y=1

-
%},y,x+5y,y+7x}

N
u

7y,x’,x’*',x43y,x+6y}

[-xJ,x+x",[Z],x+10,x2}
Ly 5

x+3y,x= 6y,x’*',5x,2y}

) x=3
x—y,x-y,[7;y],x+y}

t(x, ), i}/k=0,1,2}
rest(x,y) [ky

x+y,z=c/c=12}

1= x,[y+3} xl/l= 78}
x=1

5-1/1=123}u{x+y}

r=3/r=13,5}u{2x}

xl,k+y/l=12;k =34}

xr,b+cy/r=23;b=01;c =89}
—43 -




24. M ={x+y,k-x-yI(x=y)/ k=012l =3,4}
25. M ={x=y,x+k-y,y* /k=0121=56,7}
26.M = { 2,y3,a(x+y),xy/a>3}
27.M—{x’,x-y}u{ax2+y/aeN}
28.M={ax2/a23}u{y,x-y}

20. M ={x+by/be N}u{xy,x"}

30.M= {x ~3yz,y* /keN}

31. M ={3x,x+1}u{x-2y/ye N}
R2.M={x+y,x-yu{x+k-z/ke N}
3B.M-= {7 X+62,y" k- x- y/keN}

M={cx y/ceN}u{x+y,|: xy]}

38.M={x+2y/yeN}u {x X }
36.M= {c 2‘/ceN} {x—2'° x+7}
37.M = {x yy,x+k- y/keN}
38.M-= {x+3y,x+4y,rm(kx y)/keN}
30. M ={rm(x,y),k-z/ke N}
40.M ={x+y,x+3z,k-x-z/ke N}
#. M ={x3x}u{x-37/ce N}
2. M ={x+@y) /ce Nju{x+1,%}
43. M ={x=7,x+2°}u{2°-x/ce N}
{x 2x} {x+3y/yeN}
45. M = {x+y,x y} {x+ky/keN}
{x ,rm(x, y)} {x'/i=l35 }
47. M ={kxy,l(x+y)/ k=3,4;l € N}
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48. M = {[%/—]rm(lyx)/kzezv}
9. M=< x" x+y,|— } x'+y /abeN}

50. M =
51. M =
52. M =
53.M =

a-x+byla=135,.;b=02,4,.}
i=024,.Ju{y’ /1 j23}
a-x/a>3}u{by/b>4}

¢ -x+c,-ylc,,c, € N}

xy,cy + z, x+lz/cleN}

Ix/le N}u{y=n/ne N}
x+k-yl-y-z/l= 012keN}
x,k-y,l(z+y)/ k,le N}

58. M ={k-x-y,l(z+v)/ ke N, =12,3}
50. M ={y=1/1=158}U{x+2k/k=0,24,.}

{
{x
{
{
M ={
{
{
{
{
{
60. M ={a+bx/a,be N}
|
{
{
{
{
{
{
{
{

55.M =
56. M =
57. M =

61. M={ax+y /akeN}

62 M=<a-x /a,beNa>[ﬂ}

63.M ={x'/ie N,rm(i,5) = 0}
64. M= {x” Irm(i,2) =0}u{ )" / j € N}
65. M ={x'/ie N,rm(i,2) = 0}u{)’ /> 2}
66. M = x/aeN} xz/rm(14) OIGN}
67.M ={(x') /i, j € N,rm(i,3) = 0,rm(j,2) = 0}
xX+y,x } { ,y/l_]ENl>2}
x-y' Irm(i,3) = 2}u{a*” I rm(@,2) = 0k a > 7}
a-x+b-yl-z/a,b,le N}
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68. M =
69. M =
70.M =



a-x+b-ylabe Nyu{c'/ce N}
kx+ y,Ixz, p(y ~ z)/klpeN}

71. M ={

72. M ={

73.M= {x+y,x ky,l-x-y,(m- x)’/klmeN}

74.M ={ax+by+cz/a,b,ce N}

76. M ={x+k,ly,z" I1,k,me N}

76. M ={a-x+b-y/a,beN}u {x'+yf/i,jeN}

7. M ={x,y}ul{xy//i=024,.y=135..}u
v{a-x+b-y/a,be N}

5. GULU2GLP &4 UhUUGULU2GLP
RUQUNIEB3NILLEN

Ohgmp M < N: M puwqinpjwl pGnipwqnhs dnuGlyghwl uwh-
dwynid t hbnbywy bnwbwyny.
Ltpt xe M

2""(x)={0, bpt xe M’

Uhuwplnipwgnhg dniGlighwl’ hnlyw) Ypw.
- (x)— 1, tpt xeM.
=01 bl xe M
M  puqinpynilp Yngdnmd t dwlwstyph, tpb Gpw pGnipwgnhs
PniGlghwi Ywngplpuwg t:
M  pwqinpnGp Yngynd bt Ypuwdwlwsbyp, tpt wbnh mGh
htinlyw; wuwydwGGbphg nput dayp’

1. 7y (x) SwuGwyh YuwpgpGpuwg $nulyghw t;

2. QnynupyniG nuGh f (x) dwulwyh Ywpgplpwg pniblyghw, wybuyh-
uht, np M = {x/! f(x)};

3. Qnynupyncl nuGh f (a,x) wwpquwant)i YwpgpGpwg pnillyghw,
wyGwyhuhlG, np M = {a/Z-] xf(a,x)=0}:
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4. QnjnipjniG  nuGh F(a,x,,...,x,,) wwpquagnyb Ywpgplpwg
dnillghw, wylwhuhG, np M = {a/3 x,,...,x, F(a,x],...,x,,)=0};

5. Qnjnipynil nuGh f(x) Gwubwlh YwpgpGpwg $nLlhyghw, wybuh-
uhG,np M ={y/3 x f(x)=y};

6. tbpt M —p nwuwpy st, www gnynpyntG niGh f(x) wwnpqu-
any( YwnapGpwg Pnullyghw, wilwhuhG, np M ={y/3 x f(x)= y};

7. 6pb M —p woOybpo t, www gnjnipynth niGh g(x) pOnhwGnip
Lwpqppwg PniGughu, wibwhuhG, np M ={y/3 x g(x)=y} U tet
X # X, wyw g(xl);tg(xz):

Nhgnip M < N": M pwqdnpynilp Yngynid t Swlwskih (Yhuw-
Swlwgkh), bpbk Swlwbih (Yhuwswlwgkh) t

M = {C"(x,,...,x,, )/(x,,...,x,,)e M} pwqdnipyntbp:

bwlwsbih L Ghowowlwsbh pwgdnpimbGph hhdGwlwl hunint-

pnLaG6np

1. Swlwsbih pwqinipjwl [pwgnuip Swhwgkih b

2. bpymt Swlwgbih (Yhuwbwlwskih) pwqdnipynbGliph dhwyn-
pnudl e hwwnnedp Swbwgkih (UJhuwSwGwgbih) t:

3. Yhuwbwlwsbh pwqinipjwl (pwgnip YhuwSwlwskih t w)l L
Ghwjb wyb nbwpnd, Bpp wjl (hwnlbwpwp Gwb Gpw (pwgniip) Swiw-
sbLh t (Mnuwnp plinpbd):

tulnhpGhip

8niyg tnwy hGwnlywy pwqinpyniGGliph SwhwskihnpyniGp.
1. M=o

2. M=N

3. M={39}

4. M= {a,‘az,...,an}

5. M ={2k/k e N}

6. M={2k+1/ke N}
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7. M={w n-puunqphyt}

8. M ={n/ n-plhwunwpju phy t}

9. M ={1,3}u {2k/k e N}

10. M = {2,4}u Pk+1/keN}

1. M = {6} U {w/ n-puwnqphyt}
12. M = {w/ n-puuwnqphy t} \ {2,5}
13. M ={2,6,10,14,..}

14. M ={3,7,17}

15.M = {3,69,...}

16. M = {1,11,111,...}

17.M = {131331 B

18. M = {x/rm(x 3):#0 L rm(x,2)20}
19.M= { rm(x,2)=0 b rm(x,6)¢0}
20. M ={x/x>7L3k x=2k}

21. M = {x/3k x=2"}

22 M ={x/3k x=3".5}

23. M ={/3k3l x=3".5'}

24. M = {x/3k x =k}

25. M ={x/3Kal x=k* +1?}
26.M={x/3y 3z yP+2? =x2}
27. M ={x/x25 L 3y, y=3x+1}
28. M ={C(xy)/3k>0 x=y+k}

20. M = {(xy)/x =2y}
30.M = {(x y/x y }
31 M= {(x y)3vx=2"

}
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32.M = {xy/Eva>2}

BM-= {x (x,)/3vx>5-3" }

4M-= {xy/x 632”}

35. M ={{(x.y)/rm(x,2)=0 L rm(y,3)=0}
36. M ={(x,y)/rm(x,2)=0L y-n wunq t}
37. M = {(xy)/x+3" >2}

38. M ={(xy)/3vx>3" L y=3-k}

9.M= {xy/rm(xZ) OL3¢ y—5t}

40. M = {(xy)/3k(x + y) =3}

41. M ={(x,y)/3z (x<z<ylLz-pyunqphyt)}
42 M= {x,y,t)/t>x 3’}

43. M ={(x,y,z)/x =y -3z}
44.M={C3(x,y,z)/x=3y+5’}

45. M = {C’(x,y,z)/x=y+ 2’}

8nyg wwp pwqinpjul YhuwSwlwsbihntpjwl uwhdwbnuiGlph
hwdwpdtipnipynip.

46. UwhdwGned 1 « UwhdwGnud 2

47 .UwhdwGnid 1 « UwhdwGnud 3:

48 . Uwhdw@nud 1 « UwhdwGndd 4:

49. UwhiwGned 1 < UwhdwGnud 5:

50. UwhiwGned 1 < UwhdwGmd 6, tpl pwquinipnilp nuinwpy sk:

51.UwhdwGnid 1 «» UwhdwGnd 7, tipk pwquincpynuGp wGybpy &

52. UwhdwGntd 2 < UwhdwGnud 3

53.Uwhdwbnid 2 « UwhdwGOnul 4

54. Uwhdw@ntd 2 < Uwhdwbnud 5

55, UwhiwGnil 2 <+ UwhdwGnid 6, bpt pwquintpjniGp nwunwpl st:

56. UwhdwGnid 2 « UwhiwGnud 7, bpk pwquinupynuGp waybipe t:

57 . Uwhdw(nid 3 « UwhdwGnud 4

58. UwhiwGntd 3 « Uwhdwlnud 5
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59. UwhidwGnud 3 « UwhdwGndd 6, bpb pwqdnwpynilp nwwnwpl sk:

60. Uwhdwntd 3 < UwhdwGnud 7, bpb pwquintpynilp whdbng L:

61. UwhiwGnuld 4 « UwhdwGnud 5

62. Uwhiw@nud 4 < UwhdwGnud 6, bipk pwqdnupyntlp nuwnwpl sk:

63. UwhiwGnid 4 « UwhdwGnud 7, tpb pwqinupymbp whGybpe t:

64. UwhdwlnLd 5 « UwhdwGnud 6, bpb pwqunegynilp nuwnwply st:

65.Uwhdw@nud 5 « Uwhdwlnud 7, Gpb pwqdnepnilp waybpe t:

66. Uwhdwlnwd 6 « UwhdwGnud 7, pb pwqdnipnilp nwwnwpy sk b
waytipg L:

Uwwgmgt] htnlyw| pwqdnpnGlbph  YhuwSwhwskihnipyniGp
hwiwdw)l 1 - 7 uwhdwbnuiGbph.

67. M = {1,10} (1-6)

68. M ={3,7,17} (1-6)

69. M = {n/ n-pwwnaphy t}

70. M = {n/ n- p yunumyw phy t}

71. M ={1,3}u {2k/k e N}

72. M = {2,4}U Rk+1/keN}

73. M = {L,6}U {w/ n-pwwnq phy t}
74. M ={2,6,10,14,..}

75. M ={5,10,15,20,...

76. M ={11,111,..}

77. M ={13,133,1333,..}

78. M ={x/rm(x,4)=0}

79. M ={x/3k x=3"}

80. M = {x/x - h pwdwGwpwnpGbph pwlwlp hwywuwpt 3}
81. M ={x/3y wunqphd,npx=y+2}
82. M = {x/3k x = 24}

83. M ={x/3zx=3 +1}

84. M ={x/x>7 L3k k=2x}
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85. M = {x/3k x=3*.5}
3
86.M={x/3y, y+y<x? Sl:yT:”

87. M = {(x, y)/x = 2}

88. M = {C(x,y)/x=2"}

89. M = {(x,y)/x > 2"}

9. M = {(xy)/xSy }

9. M= {xy)/x<y }

92.M = {(x y)x=5- 3”}

9. M= {xy/x 5. 3”}

94.M—{(x,y)/y—3’- ‘}

95. M ={(x, y)/rmlx, y)=l}

96. M = {(x y)/x=3 >2}

97. M= {(x )3y, x=y }

98.M—{x,y)/3k x=7" y}

99.M={(x,y)/3y, x>3”}

100. M ={(x,y)/3z, x-y=1z}

101. M ={(x,y)/x-pamya tl y - pwunqt}

102. M={xy)/y-panyat3k x=3*y}

103. M ={(x,y)/x>3" L 3k y =3k}

104. M = {(x,y)/rm(x,3) = 0L rm(y, x) = 0}

105. M ={(x,y)/x - pwwnqt L y - pYwinwpju}

106. M ={(xy)/x =3k +1, y-puwpqlt}
M
M

R X

107.
108.

= (x,y)/H z,x<z<yl z—nthwnjw[t}
={xy)3z 27+ 2 =27}
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108.
110.

111.
112.
113.
114.
115.
116.
117.
118.
118.
120.
121.
122.
123.
124.

M ={(xy)/x-pu y-p tnhwnwpdwpwn wwnq G}

M ={(xy)/x-p L y-hwikGwibé plnhwbnip
pwdwlwpwpp YEGun t}

M={(x,y /x—nl;wmwnjwlthEZy:x’ }

={y)/x<yu y<xt}

{xy)/3kx-y=3k+2}

{( /Ek x= k3hy>x}

(x

(x.y)/32 xy=1=2}
{(x,)/rm(min(x,),3)=0 L rm(max(x,y}4)=0)}

{

(x

(x y,t)/t>x-3’}
{(xy,2)/z23x-(y=1)}
{(x.7.2)/x = y=32)
{(xy.2)/x+y=2]
{(x.y.2)/x=y=y=z}
{(x, y,2)/z=4x=3y+1}
3y 2)x=y+27}

{x y/x¢y } x y,z)/z<x+y}

ERERKEE&EEEKE
]

6. UuuLuuh LUMrQALLBUS dNHLUShULENP Bd LhUUGULUGLP

RUQUNHB3NELLENP IUUUNULULNFY

Swjnbh t, np VnZlBF(xo,x,,...,x") Owulwlyh YwpgpGpwg

$nLlyghw, npp hwiwwyhwnwbh t §" dwubwyh Ywpgpipwg $nibyghw-
Geph pwqldnpjwl hwiwp L, punn tnpjwl, hwdwpwlwinud t win pwag-
dnipynilp: Uynwhuh hwiwwhwnwh $nblyghw Yupbip t weneglp tniwn-
ptp GnwlwyGtpny [1 - 4]: OphGwy, YhGhh Ynnihg Gwrnigdwé hw-

SwwhinwGh $nGlghw planiGywe t Gowbwlby K™ (x,, X, ,..., x, )-ny:
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Uwulwynpwybu, Kz(xo,x,) hwiwwhunwGh $nllyghwh dhengny
hwiwpwywiynid t §' pwquinueyniGp:
COnniGdwé b0 Gwl hbnbjw) GawGwynuiGbpp.
Vn € N hwiwp Kz(n,x)=f,,(x)‘—“zn:

Nuyufp pbnpbd

g' pwqinpjwl gwiywgwé ny nwunwpl ubhwlywb Gopwpwqlint-
pjwlp wwunlwbnn pnibyghwbph pnpnp YihGjwh hwdwplbph pwqdne-
pjntlp Gwlwskip st:

JFhdGubind pwqdnpywl YhuwswlwsbihnipywG 5-pn uwhdwGiwh
dpw, Mnuinh Ynndhg wpygti £ Yhuwbwbwstih pwqdngnibGbph hbnlbyuwyg
hwiwpwlwinudp’

7, ={y/3xK*(n,x) = y}
(n hwiwp nGtgnn YhuwdwGwsbih pwqinipntGa t):

luGnhpGtip
Uwwgnigti, np’

1. Bf(x) w.ly. $nilyghw, wyluhuhG, np Vxz = {x}:

. dn,np z,= {n}:

. 3An,np z,= N\{n}:
. 3g(x,y) wwpquanyt YwngpGpwg $nLblyghw, wyGuhuhG, np
Ty = {C(nm)/nen,bmex,}:
twnwqnuntp hbnbyw| pwqinipynlGbpp Swlwsbh”™ GG, p&™ ng,
YhuwSwGwsk h® &G, pb° ny:
6. M={n | n,=@}
7. M={n | n,=N}
8. M={n! a en,}, npintin a - G npnawlh plwlwb phy t:

2
3. 3n,np 1, = {n*}:
4
5
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15. M = { 2}=
16. M = {n/'f(lS)}
17.M ={n/ 1 £,(10) }
18.M ={n/1£,(5) u 11,(7)}
19.M ={n/£,(5)=7}
20. M = {n/3xf, (x) =13}

21. M ={/ £,03)+ 1,00 = £, )}
22. M ={C(n,m)/x, c x,}

aruyuLnHa3nL

. Mamues A.H. AnropaT™bl H peKypcuBHbIe QyHKUMH.— M.: Hayka, 1986.
. Pomkepc X. Teopusa pexypcBHbIX QYHKUMH W 3(deKTHBHaA BbIYHC-

nrMocTh.— M.: Mup, 1972.
Bepewarvn HK., Illess A. Jlekipiu mo MareMaTH4ecKoif JIOTHKE W TEOPHH
amropa™oB. Y. 3. Berurcmimelie ¢yHkimm.— M.: MITHMO, 1999.

. [Ilerep P. PexypcuBHnie pyHkumu.— M.: HJI, 1954.
. JlaspoB U.A., MakciamoBa JI.JI. 3agaun no TeoOpHH MHOXECTB, MareMa-

THYECKO# JIOTHKe U TeopHH anroputmMoB.— M.: ®UIMATIIHUT, 2001.
UwpwojwG 3.P., LhghjwG U.U. COpwgwlywngbiph wnbunipjwl nwupGpwgh
fulnppGbph (nLédwh dEpnnwlwh gnignudltp:— Gp.: 6M3 hpwwn., 1984:
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411 AOLPABYSTY, 4.9 UNYWURUSUY, UU. 2NFAULSUTL

uLeNrhEeULLLD SBUNMFSUTL MU AhMLELh
aNANJIUSNk

(Utponwlwi dtnGwupy)

Uwninpugpywd t wnwugqpmpjwi 30.09.2008 p.:
Quihup’ 60x84'/,6 : @munpp’ odubip: <pwn. 3.0 duniny,
wnwuwgp. 3.5 dwiny= 3.3 ww)d. Swinyh:
Sywpwlwy’ 100: Mwwybp’ 97:

BN hpunwpwlyympymG
bpluwd, U). UwGmyyw 1:

bplwGh yhnwliws hwwuwpwih

owbpwwnhy wynihqpwdhwjh unnpupwdwing
bplwG, U} UwGmlywé 1:
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3.n. PNLPPEYU3UL, 3.9. UNYUPU3UL,
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(GtpnnwlwG dtnlwnly)
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QU 22.12 g7
813

f

813

Ipwunwpwynipjwl bt Gpwfuwynplp EMI
hGdnpiwwnhywih L Yppwrwlywb dwpbdwwnh-
Yuwyh dwynyinbnh funphnipnp

1.1 PAILPPEGSUL, 3.9. UNYUPUSUL,

uu. 2NrrUrsuY

Uignphpdltiph ntunipjwb huGnhpGbph dnnnywéne (d6-
pnnwlwl dtrOwpnl): - Bp.: EM3-h hpwn,, 2008 p., 56 to:
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1. 4UNPQLLEUS dNruushULEP

Thgnip N={0,1,2,...} ng pwgwuwlywl wdipnng pytph pwqdnt-
pjnLlb t: f(x;,...,x,) dwulwyh $nilyghwl Yngynud t pwpwlwlywd,
bpb w)G wpnwwwinytpnud £ N7 -h nplt bopwpwqdnpyniG N -h dhg':

n ¢hnpnfuwlwibhg Ywhyws papnp pwpwlwlywh $niGyghwbbph
pwqunp)nilp GawGwyttp §"-nd: f €& dnlyghwh npndwh wnp-
nnypp Gawlwltlp N7: bph (a,,a,,...,a,,)e N7, wyw Yoguwgnp-
sulp Gwl !f(a,,ay...@,) Guiwyndp, huy (2),@;,...a,)& N}
nbwpnd® ! f(a,,a,,...,a,) Gawlwynidp:

x, (nthnfuwlwap Yngymd b ng twlwa £ € §" dnlyghwih hw-
dwn, bpt Ywiwywywt (@)@, @, @, )€ N™' L Guilwjwluws
B, 8" € N wntinh niGbG hbwnbjw) wwydwGGbpp’

1. f(@), ), 52050 ,) S f()na, 1, B, 2,55 @)

2. tpt!f(a,,....a, ;. B a5 ,) =
f(@s @y B3 @55 @) = [ (@ @i B3 G500 2,) -

Gnynt ng wikGnipbip npnaqwsé £ L g $nillyghwhbph hwywuwpne-
pntlp ( f = g) hwulywgynid t htwnlyw) bnwlwyny. pb nplt hwywpw-

6nth Ypw $nlyghwlbphg dbyp npndwd b, www dniup wyn hwyw-
pwénth Ypw GnuyGuybu npndwd t, L Gpwig wpdtiplbpp hwadpGyGnud 6G:

&" pwquinpjwl npnwyh Gopwnwu uwhdiwbbint hwiwp GpdnubGp.

I6Gpuyhl priGlhghwabn
1. O(x)=0,
2. S(x)=x+1,

* 2h pwgwnynid 7 =0 nbugpp, npp Gaunud t S0 wbupnd, b () Ywd npnaywé sk, ud
hwywuwp t nplt ¢ hwunwwnniGh:
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_ x—y,bpbx =
3. S(x)=x=1,npunbin x=y= i ‘ :
0, hwlywnrwy ntiypnd

Gnponnmp i GGEY

1. N5 twlwG hrpnfuwlulllpf Gbpdniénud

B(X) i Xy ¥V )5eees V) DUGUGhwE ungynud t f(x,,...,x,) PnLGY-
Shwjhg y)s..., ¥, (k21) ng twywG pnthnfuwlywGGiph GEpdnuédwdp,
tpb

w) Yoy, thnthnhuwluwGGbpp twlwG s66 A(x,,....X,, ¥, V)
dnGyghwh hwdwn,

P) (X 50003 X)) Z (X ses Xy Vysees Vi )

2. YwlnGwynp inbnwnpmpinl

h(Y)sees y,) INLGYghwl Yngdnid b f(x)5e0%,) U g(V)5ees Vi)
(I i< n) pnmGyghwGlph YwinGwynp nbnwnpnipjwl wpnynilp, bpk
B(Y1s5eees Vi) = F (81D 1i5eves Vi Dsvees 8 Visews Vi D) :

3. NMwpqugnyl winpwnwnpdnd
S(xp5ees%,,y) Pllghwl Yngdmd t a(x),...,x,) L B(x,,....X,,¥,2)
$nulyghwlbph wwpqugneyl winpunwpddwb wpnynilp, bpb

{f(x,,...,x,,,O)'za(x1 yeees X, ) .

f(xl ""’xn ’y + 1) = ﬂ(xl ""’xn ’y’f(x] !""xn’y)) .

4. UifiuquignuyGh npnlGmd

w(x)5sx,) dnlyghwG Yngynd t @(x),...,x,,»y) InGyghwyh
Gwwdwdp GuqugnyGh npnGiwG  wpmynbp (Gawlwyymd L
W (X5 X, ) = 1, (@(%, ey X, , ¥) = 0)), bp pusuipuinynud bG hbnlyuwy
ww)dwGGkpp.

Ww(x,,....x,) & w) Iy o(x),...,%,,y) =0

p) Vi < ylo(x,,....x,,t) 20
L w(x,,...,x,) npybtu wpdtp pGnnibnd t htGg win y (bt w)l
qnjnLpyntl nuGh):
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f €& dnbyghwl Ynsunid t dwulwlyp Lwpeplpwg pnilblyghw
(J.4.p.), bpt wja htGpwyhGGtphg npLt dGYG t Ywd unwgynid t htGpw-
JhGGGphg YyGppwynp whqwd yhpwnbiny 1-4 qnpénnnipynLGGbpp:

UdkGnipbp npnadws f 0.4.9. (N; =N") yngynid t plnhwlnn
Ywpeplpwg pnilbyghw (p.4.3.)

f €8" dnllyghwh Yngunid t wwpqugnil Ywpeplpwg pnllghw
(w.4.p.) tpt wja htGpwjhGGbphg npLt 06LUG bt Ywd uwnwgymd t
htiGpwjhGGtphg Ytppwynp whqwd Yhpwetiny 1-3 gnpénnnipyntbGtipp:

OnhGwy

Uwwgnigklp f(x,y) =x+y $nillyghwjh wwpqugnyl Yunpqpl-
pwgntpjnLap:

x,0)=x+0=x

LPwbh np /(x0) ,

fO,y+D=x+(y+D)=(x+y)+1
ybpgltp a(x)=x= §(S(x)) L Bxy,2)=z+1, www
f(x,y)=x+y Pnlyghwh wwpquqnylG Ywnqplpwgnipjnilp hhy-
Gwynnynid t hbnlyw) nwbwyny’

w) Yppwetnd S(x) b S(x) PniGhghwlbph Gywwndwip 2 qnpén-
nnipyntlp’ unwinud GGp a(x)-p,

p) Yhpwebiny S(z) =z + 1 dnbyghwjh Gywwndwdp 1 gapénnnip-
jnclp, unwGnud GGp B(x, y,2) -p

q) a(x) u f(x,y,z) pnllghwlbph Gywwndwip Yhpwabiny 3
anpénnnipynLlp, unwlnud bip f(x,y)=x+y:

www bpk

lubGphpGbp

h°Gs $nibGyghw t unwgynd @ L B dnGyghwGbphg wwpquanyl
winpwnupddwb dhengny:

1. a(x)=LB(x,y,z2)=2-x

2. a(x)= O,ﬂ(ﬁc,y,z) =z+Xx
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a(x)=1,0(x,y,2)=z+2x
a(x)=1p(x,y,z)=z+3x
a(x)=1B(x,y,z)=c-x
a(x)=1p(x,y,2)=z-x°
a(x)=1,B(x,y,2)=z-x°
a(x)=2x,0(x,y,2)=2z~1
a(x)=x,p(x,y,2)=z+3

10. a(x)=1,B(x,y,2z)=x*

1. a(x)=x,p(x,y,2)=z"

12. a(x) =x, f(x,y,2)=x’

13. a(x)=3,8(x,y,z)=x’

14. a(x)=2x,0(x,y,z) =z~ 2
15.a(x)=1B8(x,y,2)=x+2

16. a(x)=x,B(x,y,2)=2-x
17.a(x)=0,B(x,y,2) =x+ 3z
18. a(x)=2,B8(x,y,2z) =z~ 4x
19. a(x) =1, B(x,y,z) = 2* +6x
20.a(x)=x,B(x,y,2)=z+(x+y)
21.'a(x) =0,8(x,y,2)=(z+x)+y
22. a(x)=x,B(x,y,2)=y" -z
23.a(x)=0,B(x,y,z)=x+y+z

© ® N O O s w

xLy
24 QG = 7= =0 | npn2dwh whpnypp:
by w(x) yy[ [3y+1] J nn2 hnnypp

25.3waqby w(10), tpb w(x)= py[(7 - [2—;1—3]} 3= 0] :
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26. 3wty w(0) L y(9), bt y(x)= p,(5 [ ] OJ:
27. 3wty w(10), tipts y(x)= py([ 5 ]=0]-

28. 3wyt (7). bpts w(x)m[[y’_‘ ]= 0):

=3

Uwwgmgti| htinlyw| $nbyghwbbph wwpquwagnylb Ywpgplpwgnt-
pJnLlp’

29. f(x)=nmeN)

30. f(x)=x+n(meN)

3. f(x,y)=x+y

32. f(x,y)=x-y

33. f(x,y)=x" (0° =1)

34. f(x)=x! (0!=1)

0,tpx=0

35. sg(x) = pax
Ltpt x>0
Lbtpix=0

3. 5g(x) = {0 tpk x >0

x—ytpix2y
37.x+y=
O,bpix<y
38. f(x,y) =[x~
39. f(x,y) = max(x, y)
40. f(x,y) = min(x, y)
Uwwgniglip hbwnlywy $nbyghwbbph wwpquagnyt YwpgpGpwgnt-
pintlp’ oquuwagnpébiny g(X;s...sX,5X,,,)s &(VpseeVm) U B(Visees V)
InLGyghwibph wwpquwagnt)G Ywpgqplpwgnipynilp.



41. f(x),..,X,,,2) =

D 8(Xives%,,1), bBE Y S 2

i=y

O,tpiy >z

42. f(xl,...,x,,,yl,...,ym) =9

( B(YynsVm)
g(x,....x,,0), iph
1=@(YyssYm)
AYyses Ym) S BD1sees Ym)
0, Ulwgwd nbypbpnud

83, f(% X, 9,2) =

Hg(xl ,'",x",i), be y <z

i=y

O,tpt y >z

44. f(x]r--;x,,,y],...,ym) =

f ﬂ(yl ----:y.)
[Tg(xss%,.), tob

i=a(y),sYm)

0, 6Gwgwé nbwptipnLd

\

AYyseees V) S BYysees V)

45.4wublp, np f(x,,...,x,) PnLllghwh unwgynd t g(x;,...,x,,y)

L A(xs...,X,) PniGyghwlliphg uwhiwlwhwy GwquanyGh npnGiwG
qnpénnnipjwiip, bpk ,uy(g(x,,...,x,,, y)=0) npn2qwé t pninp x,,..., X,
hwiwp L sh qbpwqulgmd  A(x,...,x,): Uwwgngl, np bpb

S (x50 x,) Pnilyghwl unwgymd b g(x,...,x,,») U h(x,...,x,)

wwpqugnt)i Jwpgplpwg 9$nillyghwGbphg vwhiwlwthwy GJuqu-
qnijGh npnGiwG gnpénnnupjwdp, www w)t wwpquaqntjli Ywpqpipwg t:

46.Y%hgnip h,,...,h,,, wjlwhuph pnbyghwlbp bG, np Yuwiwjwlwh

X}, X,50.5X, pOwlwh pybph hwiwp Gpuighg dbyp L dhw)G dkYG t hw-



Jwuwpynid 0 : Uywgnigby, np tpt g,,...,8,, U Ay, B, Pnlyghwib-
np wwpquant) Ywngplpwg 60, www
8,(x,5..05%,), tipl Ay(x,,....x, ) =0
S (XX ) =9 e
&m(X;50sx,), B Ay(x,,....x, ) =0

$nilyghwl wwpquantyd Ywnpqplpwg L:
47 . Uwwgnighky, np wwpquwaqgnylb (Jwulwyh, pGnhwbnep) Yupqpl-

pwg dnLlyghwitinh nwup sh thntudh, et S(x) hhipwihG $nGyghwsh
thnfuwntG ybipglty 1, (x,,X,,...x,) =X, (I <m<n) dnGyghwi b s09-
nwgnpdt| ng twlywh hnhnfuwywGbbph GEpdnuédwh gnpénnnipynilp:

Uwwgnigby htwnbjwy $nGlyghwbbph wwpquaqnyl Yuwpgplpwgnt-
pnLlp’

X
48. f (x,y)=[;] x-p y-h ypw pwdwGbihu unwgynn pwGnpnp

e

49. f(x,y)=rm(x,y) x-p y-h dpw pwdwlbihu uwnwgynn
dGwgnpnp (rm(x,0) = x)

50. 7(x) = «x pyh pwdwlwpwnbtph pwbwyhx (z(0) = 0)

51. o(x) = «x pyh pwowlwpwnGbph gnuiwphG» (o(0) = 0)

52. Ih(x) = «x puh wywnq pwdwlwpwnlbph pwbwyhG» (ZA(0) = 0)

53. (x) = «x phup sqtipwquignn wwnq putinh pwlwyhG»

54. h(x,y)=«x L y pytiph witGwthnpp pGnhwiny pwqiwww-
whyhG» (A(x,0) = h(0,y)=0)

55.d(x,y)=«x L y pytiph wiklwdibé pGnhwinip pwdwlwpw-
nhG» (4(0,0) = 0)

56. p(x) = «x-pn wuwnq puht» (p(0) =2, p(1) =3, p(2) =5,...)
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57. long(x) = «x puh wiklwibé wwpq pwowbwpwph hwiwphG»

58. ex(x,y) = «wwpq wpwwnphslbph wbupny y pyh Jbpiniént-
pJwh 0ty x -pn wwnq puh wunhGwbh gnighshG» (ex(x,0) = 0)

59. f(x,y)=[</;] (I%;]=x)

60. f(x,y) = [C;](C; =1, ipb y < x)

61. f(x)=[e-x]

62. f(x)=[e’]

63. f(x)=x" (x-p sgtipwquignn pninp npwlwh qnuyg/ytiGwn
pytiph wpwnwnnjwihG, tpt x -p qntyg/ytiGun L)

64.%gnp v,(x),..., v,(x¥) wdkGnptp npndwé plwpwlwlywb
$nGyghwibp GG, npnlip Ywilwjwlwl x-h hwiwp pwjwpwpnd GG
vi(x+1)<x(i=1,..,5) wwpwGbphG: YwubGp, np  f(x,...,X,,,)
PnuGyghwl unwgdnil b g(x)5es X, ), (X 5y Xy Xpagseees Xpasey) bt
v,(x),..., v,(x) $nGyghwltiphg plnhwlnip winpwnwpdnud gnpén-
nnipjwdp, tpk x,,...,X,, y thnthnfuwluwGGbph papnp wpdtipltinh hwidwp
wnbnh nlGEG hbwnbyw) hwywuwpnipynlGGbpp’

S (x50 %,,0) = g (%;5...,X,),

S (Xpsees X, Y+ D)= H(X s X, s [ (X X,V (7 + 1),

S (X5 X, v (¥ + 1))

Uywgnighi, np bpb  f(x,....x,,;) PmGUghwl uvwnwgynd t
8(X)sesX,) s A(Xpsees X s Xpazsees Xparas ) Vi (X) ey V(X)) wwipqu-
qnyl Yunpaoplpwg dnLGyghwhbphg plnhwhnip winpwnwpdnid qnpén-

nnupjwiip, www wjl wywpquanyyb Ywpaplpwg t:
Uwwgniglp hbwnlyjwy weGsmpntGGbpnyd  wpdnn dnLbyghwitiph

wwnqugnt)G YwpgplpwgnipyniGp’
65. £(0)=0, (1) =1, f(n+2)=f(n)+ f(n+1)
66. f(0)=0,f()=1f(n+2)=2f(n)+ f(n+1])
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67. f(0)=0,f()=1f(n+2)=2f(n)+3f(n+1)=1)

68. f(0)=2,f(1)=4,f(n+2)=3f(n+1)=(2f(n)+1)

69. f(0)=2,f(D)=3,f(n+2)=4f(n+1)=(f(n)+])

70. f(0)=2,f(D)=3,f(n+2)=4f(n+ )= (f(n)+])

N fO)=LfN=1Lf(n+2)=3f(n+1)=(f(n)+4)

72.f(0)=2,f(D)=3,f(n+2)= f(n+])-(f(m)+])

B.f0)=2,f(D=3,f(n+2)=f(n+1)-(f(n)+])

74. f(0)=3,f(1)=4,f(n+2)=3f(n+1)”")

75. £(0)=0,/(1)=2,f(n+2) = (f(n+ 1) =) f(n)

76.E)6ph $nLbGyghwa@, npp hwywuwp t x -p sqGpwqubgnn L x-h
htwn thnfuwnwpdwpwp wwnq pytinh pwiwyhG:

77 Uwwgnigby, np jntpwpwsnip wdklnuptp npnzdwé $nulGyghw,
nph wpdtipp hwywuwp t g pwgwenipjwdp yepowynp pyny Ybwnbpmd,
wwpquani)b Ywpqplpuwg t:

78.%gnp f(x) L g(x) PnLGyghwhbpp npnzqwé GG hbnlywy duny’

f(0)=a,g(0)=b
f(x+1) = h,(x,f(x),g(x)) :
g(x +1)=hy(x, f(x),8(x))

Uwwgnighy f(x) L g(x) $nbyghwlbph wwpquagniyl Ywpgpl-
pwgnipyntlp, bpb A, (x,¥,z) L h,(x,y,z) $nilyghwbbpp wwpquaneyl
Ywnqplpwg bG:

79.Uwywgnigl, np  jnipwpwlgynp  wwpquanyl  Ywpgplpwg
$nilGyghw pGnhwhnip Ywpqplpwg t:

80.Uwuwgnigb], np nbnunpnipjwld L wwpquagnt)i winpwnwpd-
dwh gnpénnnpyntlGGEpp thwy GG pGnhwGnup Ywpgpbpwg $nibyghwht-
nph nwuh GYwwndwdp:

81.Uwuwgnigt, np tpbt wwpquanylb Yuwpqplpwg (pGnhwlnip
Yunqplpwg, dwulwyh Ywpqplpwg) niGyghwhbtiph wndtiplbpp thntuby
ytipowynp pyYny Ytwnbpnud, wwyw vtnwgynn $nGyghwi Lu YhGh wwp-
quaqntji Ywpqplpwg (pGnhwanip Ywpqplpwg, dwubwyh Ywpgplpwg):
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Uwwgnigb| hbwnbywy $nblghwlbph wwpquagnyt YwpgpGpwgnt-
pjnLlp’
82. f(x) = «x-h qni)q pwdwbwpwpGtiph pwlwyhG»

83. f(x) = «x -h bl pwdwlGwpwnplGiph pwhwlyhG»

84. f(x)=«x-h yupq pwdwlwpwnpGbiph pwGwyhG»

85. f(x) =« x -p sqbpwquwbgnn qnuq pyutiph pwhwlyhb»

86. f(x)=«x-p sqpwqubgnn YLGwn pytiph pwlwyhG»

87. f(x) = «x-p sqbipwqulgnn wwnq pytinh pwlwyhG»

88. f(x,y)=«x-h L y-h pGnhwlnip wwpq pwdwGwpwnGtph
pwlwyhb»

89. f(x) = « x -p sqtipwquhgnn YGw pytiph gnuiwphG»

90. f(x) =« x-p sqbpwqubgnn qntjq putiph gniiwphG»

91. f(x) =« x-h wwpq pwdwGwpwnpGtph gnLiwnphb»

92. f(x)=«x-p gqipwqulgnn wwnq pytiph gnLiwphb»

93. f(x,y)=«x-h L y-h pOnhwlnip pwdwGwpwnplGtiph qnidw-

pha»

94. f(x,y)=«x-h L y-h plnhwlnip wwpq pwdwbwpwnlbph
qnuiwphG»

95. f(x,y) =«y-hg ns thnpp L Sx-p sqbipwquignn Ywunwpyuwy
putinh qnudwnhb»

96. f(x,y)=«x-h L y-h pOnhwlnip pwdwlwpwnGbph wp-
tnwnpjwihG»

97. f(x) =«x -hg thnpp wwnq putiph wpwnwnpjwihG»

98. f(x,y)=¢«x-hg ng thnpp L 3y-p sgbpwquignn Ywwwpjwy
pytiph qnuiwphb»

99. f(x,y) =«x-hg uké L 2y-p sqbpwquignn wwnq pybph wp-
twnpjwihG»

100. f(x)=«x-p gqbipwqulgnn wwpq bpyynpywyltph pw-
GwyhG»
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102. f(x,y)=(x!)"
103. max(x,,...,X,)
104. f(x,y,z)=|x—|y—z”
105. f(x)=«x-h w)bi pwdwlwpwplbph pwlwyhG, npnlp pw-
dwlynd G 3 Ypw wnwhg dGwgnpnh»
, GpE x L nluwnwpdwpwp wwpq Lo
106. f(x,y)= Y, tp Y tnluwnwpdwpwp wwnq
whnpny, hwlwrwy nbwpbpnid
x + y,tpb x 2 y LqnynipyniG niGh wyGwhuh i

107. f(x,y)= phu.np y =2
x = y, hwwnwl nbwpbpnid

5,tprm(x,3)=0
108. f(x)=<4,tptirm(x,3)20Lrm(x5)=0
0, dGwgwé ntiypbipncd
109. f(x,y)=«x-h L y-h wikGwdité pGnhwhnip pwdwGwpwnh
L wikGwihnpp plGnhwinip pwqiwwwwhyh wpunwnpyuihG»
x,pty+z=x
,bpix+z =
110. f(x,y,2)= > oP Y
z,bpix+y=z
0, 00wgwd nbwpbipnid
111. f(x)=«x-hg thnpp Gpw pninp Ywunwpw| pwdwbwpwnlt-
ph qnudwphG»
112. f(x)=«x-hg thnpp Gpw pninp Ywwnwpjwy pdtiph pwlwyha,
npnGp pwdwGynid GG 3 -h pw»
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13. f(x,y)= {/llog2 x”

114. f(x)=«x-hg thnpp pninp wjG pybph pwGwyhG, npnlp
pwdwbyntd GG 7 -h ypw L qniyg sEG»
x,tpix >10Lrm(x,y)=2

115, ,y) =
/(.3 {O, hwlwnwl nbwpntd

x + y, tipti x pwdwlbihu y unwgunn

116. f(x,y)= dGwgnpnp wwnq phy t
0, hwlwnwy nbwypbpnud
x, tpl x qnuyg t L nplt npwGwpn t
17, f(ry= |5 BPE¥ Anuatlnn pyh lunpwGwpn
0, hwjwnwl nkiwpbpnud
x, bipt qnnipynl nuGh wjlGwhuh g wwpq
118. f(x,y)={ phunp x=a’
0, hwiwnwy nbwpnid
X, tpb wpq k
19, fr,y)=1{ ) WM
¥, hwjwnwl niwypbpnd
x, bpb x pwdwGynuit 7 L sh pwdwbynid 4
120, f(x)= pixp y thp U
. 0, hwijwnwl nbiupbipnud

1, tipl x Wwnq pwdwlwpwnpGbph pwGwyp
hwjwuwnt y juwnmwpjw) pwdwlwpwnpGeph
pwlwyhG

0, hwywawy ntiwpbpnid

121, f(x,y)=

5%, tpti rm(x,3)=0
122. f(x)=142x,bptirm(x,3)=1
0, GGwgwé nbwpbipnud
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2x + 3y, bpl x YhGun t L rm(y,3) =2
123. f(x,y)=<8x+y,tpbx qnygtLrm(y,3)=0
x, Ubwguwé nhiypbipnud
x +3y, bpt x Ly tnfuwnwpdwpwp wwnq b

124. f(x,y)=
) x ¥, hwywnwy nbwypnid

—y,hpbxmwnqthy<x

125. f(x,y)=<x*,bpby>x
5, 6Gwgwé nbwpbpnLd

2%, bpli x qnuyg tL y YtiGen

126. f(x,y)=13",tipt x YaGuntL y qnijq
0, iGwgwd nbwptipniy

x-y,pix>ylL yqmqt
127. f(x,y)=<{2x+3,bptix=y

4, Wlwguwé nbwpbtipnid

C(x,y),tp x wupqtl y=2
128. f(x,y)= (x, ), tipk x wwpqtl y

5, hwjwnrwynbwpbpnud

2x, tipk x qnuyg t Ly YtiGun
120, f(x,y)={ pb x qrug tLy |

x + y, hwhwnwynbwpned

Uwjwgnigtip htnlbywy $nblyghwbbiph dwubwlyh YwpapGpwgnipynibp’

x-ytpix2y
130. f(x,y) =
whnpny, hwlwnwl nbkiwpned

—hhx wdwbGyned t w
131, f(xr,)= ptix-pp 4 y-hyp

ﬁnnnz, hwywewly nbwpnid
132. f(x)-p wiklGniplip wGnpny $nilblyghw t
-16-



133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

S(x)=x -pn wwpq tpLynpywlGliphg wnwehGhG
j3y41, bpbi rm(x,4)=3L y >4

f(x,y)=1<10x,tpbirm(x,4) =1L y=2

(whnpny, dGwgwé nbuwpbinnud

(x, bpk x - h qni)q pwdwhwpwplbiph pwlwyp

hwdwuwnpt y - p UGG pwdwlwpwnbliph

pwlwyhb

(winpny, hwhwnwy ntiyptipnud

8, tpb x sqtipwquignn YtGuw pybph gnudwpp
hwywuwnt y sqbipwqubgnngntjq putinh

f(xay)=J

f(x,p)= S
wlnpny, hwlywnw nbwpbpndd
— ¢y
fx0,2) = z,tpz=x" L zqmqt
winpn, hwjwnrwyntiwpbpnud

2, tipti x L y pybtinh pwdwGwpwnpGbph pwlwlGbnp

f(x,y)=4 hwjuwuwnkbG
wanpny, hwlwnwy nbwpbpnd

fx) = {2, tpt qrynupynul nGh k pGwlywG phy, np x = 3*
whnpn, hwywnwynbwpbipnd
Ltpbxwwpqtlx=2
f(x,»)=40,pt x qnujq t
winpn?, dGwgwé nbwptipnLd
2,tptirm(x,3)=0
f(x)=143,tplirm(x,3)=1
wlnpny, bpki rm(x,3) =2
2, ipti gnynupynLGnLGh k pGwlwGphy, np x = 2*

f(x)=
wbnpn?, hwhwnwyntiwptipnid
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143.

144.

145.

146.

147.

148.

149.

150.

151.

152.

2,tpix=0Ly=2
fO,y)=<Ltpix=1Ly=3
whnpn?, SGwgwé ntiwptipnid
5,bipti rm(x,4)=0
f(x)=42,tipbrm(x,4)=1
whnpny, i0wgwd nbwptpnLd

f(ny)= 5%, bpb x ywunwpju bl y > x
’ wanpn2, hwlwnwy nbiwpbpnud

FOuy)= 3, iptixwyunqtly>x+3
I wbnpn?, hwywrwynbwptipnid
Ty,tpixqnuqtly=7
f(xy)=<5=x,tipixqnyqtLy=3
whnpny, i0wgwé nbiwypbpnLd
5y,bpb x wwpq t L y Yuwwnwnju
whnpn?, hwywewynbwptipnid

{x 27, ipxqnuyqtl y<3x

f(x,)

f(x)

wanpn?, hwwnwyntiwptpned

7,tipixqnuqtly=2
f(x,y)={x+ytipixqnyqtLy=7
whnpny, 60wgwé ntwpbpnd
x+27,ipixwwpqltlx<Sy
whnpn2, hwlwnrwlntiwpbpnid

jone]
‘x+2y, tpt x Yl kL rm(y,4) =3

x=y,tipti x Yt L rm(y,4)=0
whnpn?, i0wgwé ntiwpbipnid

f(xy)=

~ 18-



1583. f

154.

155.

156. f

157.

158.

159.

160.

161.

162.

whnpn?, hwywnwynbwpntd

2,pi xwwpqtly=3
f(x,y)=<3,tpi xwywpqtLy=5
wlnpny, Gwgwd ntiwpbipnd
x+2,tipti x wwpqtLy qnyq
wbnpn, hwywnrwyntwpntd

f(x,y)

1, ipti gqnynpynLGniGh &, np x = &~

) whnpn?, hwywnwy ntwpntd

1, ipk x Ly pytiph wnwytijwqnti)li pwdwlw -
pwpbtipp hwwuwp GG
whnpn?, hwlwnwy ntiypnLd

o
:
|
-
{ny, tipb x pwdwhGynidt 6 Upw iy sh
|
|
|
|
|

f(x,y)=

pwdwlynti 2*
whnpn?, hwywnwlynbwpntd

fx,y)=

(xy) = 2,6pix27y Lywwpqt
S wGnpn?, hwlwnwl ntiwptipnLd
x-y,tipix>y
fOy)=<y-xtipix<y
winpn), tiptix=y
x+y’,tiptix>3L y ytGunt

f(xy)=4x=ytipix<3Lyqngt
whnpn?, i0wgwd nbwptipnid

x¥,bptix bt L y qnuyq

Jx»)= wanpny, hwlwrwyntuwptpnd
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163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

x-y, tipi xytiGintL y qnuq

x+ y?, ipbi x YtGwn kL y YLGun
fxy)=
winpny, WGwguwé nbwptpnid

Jx+y+5,bpbxu|wnqthy>5
f(x,y)=<x=yipixwwpqtlLy<5
(whnpng, dhwgwé ntiwptipnid
Jx+5,hphxl|hﬁlnthy=3
f(x,y)=<x+y,tpixtiGntL y=6
(wanpny, dGwgwé ntiwptipnud
Jz, tptixqnugtl y>3x
f(x,y)={10x,tipt xqnyqtL y <3x
\whnnng, §Gwgwé nbiwpbipnud
(2+3y,bpti xwwpq tl y>7
f(x,y)=33+2x, i xwupqtlL y<7
\whnpng, iGwgwd ntiwpbipnud

f(x,y)={x+2y’bphx=3 L y wuwnq st

whnpn?, hwywewynbwptipnid
2,tiptirm(x,y)=0

f(x)=4<3,tipbirm(x,y)=1

whnpn?, JGwgwé nbwptipnud
flx _{Z,bpbx=3y

whnpn hwywnwyntiyptpnid
2,tptix<2
f(x,y)=<1tipix>2”
whnpny,tpti x =2
(3, bpb x qnuyg L L y 4G

J.y)= {wﬁnnnz, hwywawynbwptpnid
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x-y*, ipix wwpq b L y wwnq st
whnpny, hwhwnwy ntwpbpncy

x+ y,bpti x nplt pup Pwywinphw t L
174. f(x,y)=¢ ylwunwpjuw

whnpn, hwywewl nbiwpbpned

173. f(x,y)={

175, )= z bptz” =x
wﬁnnnz hwlywnwy nbwpbpnid
1, pli x wwnq t

176. f(x,y)=12,tipb x yuwnwpjuwy t

wlnpn, d0wgwé nbwpbpneyd

x+y,bpbx=2y Ly=3"
wﬁnnnz, hwywrwynbwpnid

177.

2. @3ntrpLAh UBLLLULEN

@yniphlgh dbpbliwh pwnwnphsGbpG 66G° dwwwybGp, qpnn-Yup-
nwgnn g{tuhlp L nEYwywnnn vwppp.

. |A JA|x|1x2 | |x,. ] ka (A A [ .
qtuhly - X
dwwwyk

nbYwdwpnn uwpp ——»

@)niphlgh dtiptiwh wluwwnnud b dwiwlwyh wewGdhh =0, 1, 2,...
wwhbphl: dwwwyblp weohg L dwiuhg whdbpowdhg b UG pwdwbyws t
poholbph, npnGghg jnpwpwGynipnud dwiwlwlyh gwbywgwd wwhhG
anyws t 6haw 06y Ghp 4 = {a,,a,,...,a,} (n 2 1) dnunph-Giph wjpnipb-
Ghg: 4 - nu wnwidGwgywé t nwwuwnly Ghep' A: dwdwbwyh JnupwpwG-

gnip wwhhl dwwwybbh Jtpgwynp pyny pohellphg pwgh, dlwgwo
pohelbpnud gpywé t A: A wwpniGwlnn pohelbnt whywGklp nwwnwpy:
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Gpnn-Ywpnwgnn qitublp dwiwbwyh jnipwpwlynip wwhhG np-
wnwpynid t Gy pehe, Ywpnnid wyn peentd gnpdwd Ghzp, Gpw thnfuwpkG
qpnud nplt Ghy A4 - hg (hGwpwynp t* Gyl Yupnwgwé Ghpp):

NGjwywpnn uwppp dwiwlwyh jnupwpwbsinip wywhhG quGyned t
JhGwybtiph Q ={go,91-+Gr-15 P15 Pm} (nm21) Ytipgwnp pwqinipjniGhg
nplt dbynid: g, YhSwlyl wewGdlwgdws t QO pwqinpynilnid b yng-

ynd t ulyqplwlwl JhSwly: GGpwnpynid t, np @jniphlGgh dLpLGwh
ufunud £t hp whuwnwipp dwiwlwyh ulyqplwlywG ¢z = 0 wwhha,

quGytiny uyqplwlywb ¢, dhdwynui: QO ={q,,9,...9,,} <€ Q pwq-
dnupjwl wwppbipp Yngynd GG gnpénn yhswybtp, P ={p,,...,p,} € Q0
pwquinpjwl@ wwpppp’ Gqpuiwlhs Yypswlylbp: Iwdwpnd GGp, np
hwjinGybiny nplt qpuihwlhs yhdwyned, @yniphGgh dbipblwh wywp-
wntd | wuwnwGpp (Ywig b weGnud): NEYwdwpnn uwppp, GiGing hp
yhSwyhg L grfuhyh Ynnihg nhuinwnlynn Ghzhg, wpnn t

w) thnfubig hp YhGwyp;

P) thntubil nhvnwnydnn Ghzp;

Q) thnjubi qiiuhyh nhppp, hwenpn wwhhG wbnwinfubing w)b
hwplLwG we Ywy dwhu poheltip, Ywd pnnlb; nbnnid (wyjuhGpG hwenpn
wwhhG qituhlp Ynhwwnlh win wwhhG hp Ynndhg qpywé Ghzp):

L24wé gnpénnnupyntGGEpp pGnipwgpynd GG hwiwwwunwuuwGw-
pwp 3 wpnwwwwnytipnudGtipny.

A:OxA4—>Q
5:0xA— A
v:Ox A —{U,2,8)

UwhdwlOmd
T, =<A4,0,4,8,v> hlguyp, npntn 4,0 pwqimpjniGatpp L

90
A,6,v wpunwwwunlbpnudGepp GYwpwepdwd GG gepunud, Yngynud t
@)nipphhGgh dtipkiGw:
Lywpwqpklp BynphGgh dkpbtwjh woluwwwlph pGpwgpp dwiw-
Gwyh ¢,(¢ +1)- pn wwhbphG (£ 20):
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GOpwnpkGp, #- pn wwhhG O)nphlgh dbpbGwl qunGynd t
g(r) ((0) = ¢g,) UhSwynid, huy gpnn-Ywpnwgnn gituhlp phnwpynd t
x Ghp:

w)bpt g(¥)eP, www GnphGgh dhptiGwh wuwwnwipl
wywpunynd L:

p) bRt ¢(1)€ Q, www nhnnwplunn pgemd x Ghzh thnfuwnkG
qndnud t 6(q(#),x) Ghap, (++1) - nn wwhhG nbhwdwpnn uwnph yh-
Swyp® g(r +1) = A(q(), x), huy gpnn-Ywpnwgnn q(tuhlip nhiwnpynud £
GnuyG pohep, tipt v(g(1),x) =S, hwplwG wy pohep, tpb v(q(),x)=U L
hwplwG dwtu pehep, tpt v(g(#),x) =2 :

UGhpwdtizuin t 262k, np wluwwnwGph L' uygpnid, L’ Ybpgndd, tpb
wzfuwwnwlipt wdwmndby t, @)niphGgh dbpblwih qifuhlp wbuwp t
quiGyh wnwehl ng nwwnwny peoh Ynw:

Bymphlgh vbpbowyh inpdwl bnwlbwlGbpp

©PymphGgh dbplilwGtpp Ywpbh t Gwpwagpby Gpynt bnwlwyny

wryntuwlw)jhb L nupuwwinybipw;h:
UryniuwlwjhG Gnwlwyny GbpYwjwgiwb nbwpnLyd

T, =<4,0, A,6,v > Byniphlgh dpkGwh, npinbin’
A={a;,a,,...0,}, Q={4osq1-s9,15 P1>s P} »
A:Ox4->0,

S:OxA>A,

v:0x4->{u,2,8},
npynud t hunbywy r x n swihwOh wrynwuwyh dhengnd.

al a] an
4
ql l(qi,aj),§(q,,aj),V(ql,aj)
qr-l
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T, =<4,0,4,6,v> ©Onphlgh dbpbbwsh nipdwiywinlbipwsh

bnwlwyny Gbpywjwgdwl nbwpmd Q@ pwaqinipywl jnpwpwignip h
yhSwyhl hwiwwwunwuhuwbsgynud t ququp — 2ppwlwly, nph Gepunid
qpynud t h Ghop: 3nupwpwlynip i - h hwdwp (0 <i<g r—l), q, - h

hwiwwwwnwuluwnn 2pewlwlyhg nnipu GG quihu |A| hww wnbtnGbp,

npnGghg jnupwpwGyniph Ypw Gadnud £ 4 pwqinipywl hwiwwwnwu-
huwb a, (1 <Jj Sn) Ghzp: ¢, -hG hwiwwwwwubuwl ququwphg nnupu

bbnn U @, Ghany Gaqwé wntinp nianynud t nbwh A(g,,a;) -hG hwiw-
wwuwupuwb ququpp, L wn wnbnh ypw a; Ghzhg hbwn hwlwqdb-

nnud gpynud t 6(g;.a,) Ghap b wyw v(g;,a;) Ghap: UyGhwyn t, np
wju Ybpw Ywenigwé mqt[wwwmuhnu dhwpdtipnpbG GYwpwqpnud t
BjniphGgh dLpLOwa:

ShunwpyblGp ByniphGgh dbipbGwjh nupjuwwwnlybpwihG inwbwyny
GbpYyujwgdwl dh ophGwy: Yhgnip, B)niphlgh dbpbGwh, uubiny wp-
huwwwGpp 1-6phg Juwqijwéd Ywiwjwlwb »+1 bGpywpnpjwl pwnh
Upw, wwpquwbu unmgnud t° 7 =0, pbi ng, pwnp pnnGtiny wGthnihnfu:
CGn npnud’ wfuwnwipl wywpwnnud b wyn pweh wiotiGwdwlu Ghoh Ypw
YwGqltind, 7»=0 nbwpnd p, bqpwithwyhs dhSwynwd, huy »>0

nbwpnud®  p, bLqpwihwyhs YhSwynud:
Uju @yniphlGgh dtpkGwih npwwwn-
Ytipp GEpYuwywgywsé t qdwgqpmud:

fwlh np @)niphGgh vbpkGwlbpp
Suwihnfunwd b0 hpkGg dwwwybGh pohy-
Gopnd qpwé  pwntipp, wwyw npwlg
dhongny pYwpwlwlwld Ppnbyghwhbip
hwpybnt hwiwp Gepywpugthbp nilly-
ghwjh  thnthnfuwlwGGtph  wpdtipGtiph
hwywpwénG pweh inbupny npnawyh wy-
pnipblGnud:

Ve, (e, e N,1<i<nn21)
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hwowp  (,,@,,...@,) hwjwpwénth dbpbGwywlws Yon  (Ywd
wwpquwbu  Ynn)  YwGywhGtGp u*u**u pwnp, npp

ap+] a;+1 a,+]

YGwlwykGp k(a,,aQ,...,an)-nq: Vwulwynpwuybu, L_l pwnp o

a +1

puh YnnG t:

Uwhtwlnd

YwubkiGp, np T Oymphlgh vbptGws hwaynid t f(x,,xz,...,x,,)
plwpwlwlwh pnilyghwh, tpb V(a',,az,...,a,,) hwywpwénih hw-
dwp (a,. eN,I<i Sn), ulubiiny wpfuwinwpp & (a,,az,...,a',,) pwnh
Upw, w) ybpowynp pwjibiphg htitnn wdwpuinid t wyl, wwpnbwlybing
dwywytGh Ypw k(f(al,az,...,a,,)) pwep, bpb f(a,,az,...,a,,)
npnaqwé t, L p) Yhpwnbh st k(al,az,...,a',,) pwnh ypw (wjuhGpG,
w2huwwnnid £ wGybipg)” hwlwnwl nbwpnud:

Uwhowlmd

Ywuklp, np f(x,,xz,...,x,,) pUwpwlwlwh pnbGyghwl hwyup-

4tith t pun @)niphGgh, Gpb qnynupyntG niGh 7 BynuphGgh tbipkGw, npp
w)l hwyijntd t:

Uwwgnighblp dh pwGh pnLbGyghwbtnph hwaytihnipjnibp pun @jni-
phhgh:
1,bptix=1
1. l:—l-}= 0, tpti x >2
x
npn2ywé sk, pix =0
YunnighGp wju pnllyghwh hwyynn Byniphlgh dtipklw nupyw-
wuwwnltiph dhengny.
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.1(1)U .1(1)U A(A)O 1(1)9 .

\1 (1)U 1(A)Q

A(1)S

2. Yunnighlp htwnbyw) $nlyghwb hwzynn Bynphlgh dbpklw.
. {0 ,pix <y
xX=y =

A(A)U

x=ytpx2y
UbpbGwl uyqplwlwlO wwhhlG nhuwpynd t dwwywytbh ypw
onwé  1..1*1..1 pwnp, pln npmd dbpbGwih qqfuhyp qnGynud t g,

x+l  y+l

uyqplwlwh ypswynid L nhunwpyndd bt dwwwybGh Jpw gplwd pwnh
wibOwdéwu 1 Ghyp: B)nuihGgh dbpblGwh waluwnwipp Yuqiwybpw-
tGp hbunbyw Ybpw. w)l «pGond t» de{wlwh Gh wpywd pwnh jnpw-
pwlynip dwjphg, wunhdwlwpwn Guqbglbing X - Gnu y - p: bpk
ulqpnud Ytippwlned 66 dwhuwynndjwhb 1 - Gpp, www dwwwybbh Ypw
wobkG hGs «pGoynud t», qpynud t 1, L whuwwnwipl wdwpwnynmd t;
Jwhwnwy nbwypnd dwwwybGh Yypw d0nd 66 x—y -1 hwwn 1 -bGp L * -
p, npnGp dbphGwh dLwihnfund t x—~y - h Ynnh L YuGq wnbned: Uju
dtipGwjh nipwwwwnybpp GEpYuwywglbiGp unnpl.

1(1)u (1)U
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luGnhpGbp

Ywnnigh) hbnlyw) pywpwlwlywt $nGyghwi hwyynn BynphGgh
OkptOw.

1. f(x,y)=x+y
2. f(x)==

3, f(x)=[—’25]

7. f (x) =rm(x,2)

8. f (x) =rm(x,3)

9. flxy)=x-y
10. f(x,y)=x'y

1. f(x,y)= rm(x,y)

X

12. f(x,y) ==
Yy

13. f(x)=x+5
14.f(x,y)=x+y+5
15.f(x)=x*4

x+2,tpix >3
16. f(x)— {x*l, tp x <3
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x+ytpix>2
17. fix,y)=
f( y) {xbpbx<2
x+y+2btpix>3
18. f(x,y)={
y,bpbx <3
x+y+lLbpix2>22Ly>1
19. f(x,y)z{
0, hwlwnwy nbwpnt
2. f(x)= {x +3, bpt rm(x,2) = 0L rm(x,3) % 0
0, hwlhwnwl nbwpntd
x+y tpk rm(x,2 =0Lrm(x,3)=1
21.1te)-{ )=0urm{x3)
1, hwlwnwly nbwpn
x, tipti x qnuyq tL rm(y,3 =0
22. f(x y)={ )
0, hwywnwl nbwpnud
x, tplix 2>y
23, f(x,y)={
yhphx<y
+3, ipx <2
24, f(x)=4" "> P
x=1,tpix>2
x+2,bph y<3
25. f(x y)
y=-l,tpy2>4
2,tpix=>4
2. f(xy)={" 2%
x+1tpix<3
+2, bipt Ik(x=2k,
27 f(x, x+2, bipti Jk(x=2k)
x=2, tpt Fk(x=2k+1)
+ybtpix>y L 3)=1
28f(x {xypxy rm()’)
0, hwjwnwy ntiwpnid
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x=1, bpb x YbGuwn t
x+1, pb x qnuq t
x =2, tptirm(x,2) =1L rm(x,3)=3

29f,y {

30. f(x,y {
y =3, hwlwnwynbwpntd
31. f(x,y) {(x +y)=3,tpt rm(x,2)= 0L rm(y,3)=0
y + |, hwywnwly nbwpnid
2
2. f(x.y)= {x+(y 2), tpti rm(x,2)= 0L rm(x,3)=1
0 hwuwnwlmbu.mnui

3. f(x,y)= x+y tphrm x 2 lhrm(x,3)=2
x =+ 4, hwywnwy nbwpnLd
x+(y+2)bpiy2x+2
2, hwhwnwyntiwpntd

Il

f(x)

x+y+2,bpix=2kLy=0
x,y)

X + 5, hwlwnwl nbwpnLd

+y)=lLbpiy2x+2
36fx,y)={(x y)=1bpty2x
X, hwywnwYy nbwpntd
_|x+y+2,tpb3k (x=2k) Ly =0
37.fx,
x+5 hwywnwy nbwpntd
38. f(x,y)=(x+y)+7
+8,tpt x>
30, f(x,y)= {( ~y)+8,tpl x2y
x+y+8tpix<y

x +y, gt rm(x + y,2)=0
|x - y], bpti rm(x + y,2)=1

o f(x,y)={

41. f(x,y)= max(x’y)



42. f(x, y) = max(x, y, z)
43. f(x, y,Z) = min(x, ¥, z)
44. f(X,y)=3-x

45. f(x,y)=2-x+y

46. f(x,y)=x+3y+3

e
X

47. f(x,y):J ¥
\0, bpby:o

,bipby # 0

. f(x.y)=1| 2 P E2)=0

|2 + y, hulwnwl nbwypnuil
49 f(x,y) = (x *y)+ 2x

50. f(x,y)= (x'+ y)

51. f(x,y)= x4y

tpix >y
52. f(x,y)= [ ]
)’+3 bpix<y

bbx>
53fxy P y

0 bpbx<y

54. f(x,y) {(2" 1)+, bpb rm(x,3)=2
{

0, hwlwnwy nbwpnt i

25, bt rm(2,2) = 0L rm{y,4)> 1

55. fix,
fler)= 0, hwjwnwly nbwpntd
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hpb rm(x,2)=1

2x = lhphrmxy) 0

56. f(x,y)=
y +1, hwywnwy nbupnud
{x + y, hwhwnwl nbwpntd

57. f(x,y)=

2x, bipti rm(x,2) =0

58.
f( ) y =1, hwywnwy nbwpnid

2x,btpx 2> y +1
59,
fxy {y Lbpx<y+1
2y, tpirm{x,2)=0Lrm\y,4)>1
S0

1, hwywnwy nbwpnid
61, f(x)= 3x, bpli rm(x,2)=0

' |x =1, bpb rm(x,2)= 0
[ ] bpti 3k npx =2k
O,tpIknpx=2k+1

x + y, tipi rm(x,3)=0
8. f(x ) {x * ¥, hwwrwl nbwpnid

62. f(x)=

o4 7(1)=| 252 |

65 f( ) 2y+1,tpi2<x<4
Sflx,y)=
Y 1, hwjwnwy nbwpntd

3x,tpt Ik npx=2k+1
x=7,bp Ik npx =2k

66. f(x)={
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2x,bpix <y
67. f(x)_{x;y‘bphxzy

I: ¢ 4 Yy
68. f(x’ y) = 2
' h 'u‘"m‘ll 'I»bulpnllj

]» bpti rm(x,2) =0

69. f(x)= x*, biph x qnug t
| 2x, tipb x 4G t

x-y,tpti x qniyq t
70. flx,y)=
f( y) {x =, tipt x YhGun k

2x, tpb rm(x,3) =0
7. f(x)= [g] bpti rm(x3) =1

x=3, bptirm(x,3)=2
x?, tipb x qnuyg t
72. =
f(x) {x(x;l)’ bpb X uhﬁu‘l t

x+3,bpk x qnuq t

73. f(x)= [ E]

3 , lipbi x Y&Gn t

2 -—
74. f(x,p)= {(x +1), tptirm(x,3)=1Lx <y
3y, hwlwnwl nbwpnii

x-ybpix=5Ly>3
75. f(x,y)=15, tpix<5Ly=3
x-ybphx>5Ly<3
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= l:
76. f(x, y) 3
2x-+1, hwhwnwl nbupntd

77. f(x,y)= (x+ 7Y, tpti rm(x,4)=1
, 3, hwjwnwy nliypncd

], tpt x>4 L x qnuq t

(x+2)2 =~y tpix2ylLuxqmqt

78. fix,y)=
f(x y) {y,hwuwnwlmhulpmd

[lii], tpt x qnugt L y=0
y

79. f(x,y)= 1 y=5,tipk y>6 L x YGunt
x+1, hwwnwy nbwpnid

\

80. f(x y)= (x+y)2, tpix<yl rm(y,3)=2
’ 3, hwlywnwy nbwpnrd

(x=2)-ytipix>yLx>10
81. f(x,y)={2x tpbix=y
4, hwlwnwlynbwpnid
a2, f(x,y): {x(xéZ), tipb rm(y+l,2)=l L xqnuqt
x+35, hwywnwl nbwpntd
Ywnnigb) Bjniphlgh dbptilw, npp Vx € N -h hwiwp hpwlwbwg-
anud b obpbGwjwlwG Ynnh hbwnbyw) dLwhnfunip)nlGGlpp.
83. k(x) > k(2)* k(0)* k(x = 1)
84. k(x) > k(2)* k(x = 2)
85. k(x) = k(x =2) * k(1)
86. k(x) = k(x =1)* k(0)* k(1)
87. k(x) — k(0)* k(x =1)*k(2)
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88. k(x) > k(0)* k(x =1)* k(3)

89. k(x) = k(x +2)* k(1) * k(x)

90. k(x) > k(x +1)* k(1) * k(x = 1)
91. k(x) > k(5)* k(x +3)* k(x = 1)
92. k(x) - k(2x)* k(x +2)

93. k(x) = k(x+1)* k(x)* k(x 1)
94. k(x) > k(x)* k(x)* k(x = 2)

95. k(x) > k(x)* k(x =1) * k(x)

96. k(x) = k(0)* k(x)* k(0)* k(x +1)
97. k(x) = k(x =3)*k(0)* k(x +2)
98. k(x) > k(x =1)*k(x)* k(x+1)
99. k(x) = k(1)* k(x =1)*k(x +1)
100. k(x)— k(x =2)*k(0)* k(rm(x,3))

101, k(x) > k(x)*k[%]*k(x)
102. k(x)—> k[ﬂ » k(x +1)* k(rm(x,3))

103, k(x)— k[%]*k(l)*k(x;l)

k(0)* k(x 1), tipti rm(x,3)= 0
104. k(x)

k(2x), hwlwnwy ntiwpntd

k(x=1)sk(x=1) bptix > 4
105. k(x)

k(1)* k(2), hwiwnwl nbwpnLd

k(x)* k(x = 2), bpt rm(x,3) = 0
106. k(x)

k(0), hwlwnwl nbwpntd
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k(4)* k(3x)* k(2), tipt x qnuq t
107. k(x)
k(x), hwwnwy ntbwpnid
y k(x=2)*k(x) tiptix=5

108. k(x)\

k(2x), hwlwnwl nbwpnid

k[ﬂ + (0)* k(x), bpls rm(x,4) > 2
109. k(x)i’ k(x)* k(1) hwywnwl nbwpnL

k(x2 ) tipti rm(x,3)=0
110. k(x) = k(x = 4)* k(2x) tipti rm(x,3) = 2
k(2x), hwywnwy ntiupnLd

k(x=2)* k(1) bptix >3

111, k(x)/

k(2x), hwywnwl nbwpntd
k(2)* k()*k(x=1) ipti x> 6
112, k(x)<
k(x), hwywnwy ntiwpnid
k(2x)*k(2), bpti rm(x,2) = 1
113. k(x) <
k(x = 1), hwiwrwy ntiwpnid
k(2x)* k(0)* k(1), bpl rm(x,3) = 2

114. k(x)

N k(2), hwlwnwy ntwpntd



3. FLUYLUL @YGMP JUUULUNMGEMP JUUULCULGULAFULED

3nipwpwlgnip ubbnqwé n pGwlwG pyh hwiwp N"-hg N -h
Upw thnhudhwpdbip wpnwwwnybpnudp Ynsynud t pGwlwa pybph wwpq
hwiwpwywymd: YwGunnph Ynndhg OGpdmuéybp b hwdwpwlwinudp
htnlyw| tnwGwyny’

(x+y)x+y+1)
2
quGnud t jnipwpwlynip (x,y) qnugh hwidwpp, huy r(m) L I(m)
ynuGyghwGbpp (nbu (1)) ypwlwbgGmd 66 m hwiwnp nuGbgnn qnuygh
we' ¥, b dwh' x, wlnwidlbpp: UyGhwywn t, np CU(m),r(m))=m L

rCl,y) =y, U(C(x,y)=x:

n 23 hwiwp dwlwéiwh tnwbwyny GEpdnusyned t

C" (%)%, ) = C(C" 7 (X eor Xy ) X,)
ImGyghw, nph dhongny hwiwpwlwygnd 66 pGwywh pytph 7 -jwl-
Gtpp:

Awiwywunwuhiwlwpwp @ (m) 1<i<n (nbu [1]) $nilbyghwib-
nh dhengny putn n-jwyh m LYwlGwnnpul hwiwph Yepwywbgbyned t
Gpw 7 -pn whnwdp:

LbpinotiGp hbnwy GuuGwynuwiGepp N = {A} N'=N u
N°=N°UN' UN?U..UN"U...: N°-hg N -h ypw thnfushwpdtp
wnunwwwinybpnudp GEpdnudyby £ Ynntith Ynnodhg hinbyw nwbwyny
0,ptn=0 ‘
Cln=1,C"(x,...x, )+, ipin>1

n=2 npbypnd C(x,y)= +x  $nGlyghwb

B(x,...x,) = {

Gnnbgwl hwiwpwlwimdiGph hbn Juwwywéd nhwrwpyyned GO
htwnlbyw| $nbyghwibpp’

e p(x) = «ibly hwwn x-hg pwnugwéd hwiwywpgh gynnbywhd hw-
OwphG»

e d(z)=«z qmnbgwl hwdwp nGhgnn hwdwlwpgh bpluwpne-
pjulbp»
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« z qynnbiyw hwdwn nuGegnn hwdwywpgh
o Ai,z) = i-pn whnwdhG», bpli1<i<8(2)
0, hwjwnwynbwpnid
o @(x,y)=«w)d hwiwywpgh qnbywl hwdwphG, npp
unwgynud £ty plwlwG phyp wehg Ygwapbiny x qynnbpwl hwdwp
nLGgnn hwdwlwpghl»
o (x,y) = «w)G hwiwywngh qjnatiywh hwiwphG, npp unwgyned

t y qmubpwl hwdwp nGbgnn hwdwlywpgp wehg Yygugpbiny x

gqJnnbpwh hwiwp nllbignn hwdwywpghl»

« z gynnbiywb hwdwp nGegnn hwdwlwpghi-pn
wlnwdihg ulyuynn j ipywpnipjwidp hwnywsh
qJnnbywlhwdwphl»,tptii21Li+ j-1<6(z)

0, hwywnwy nbwpnty

0 0(z,i, j)=

ey(x,y)=«y hwwn x- btphg pwnyugwséd hwiwlywnpgh qynnbywh
hwdwphl»

tuGnhpGbp

1. Uywgnigty C(x,y) $nilyghwih wwpquanyl Yungplpwgnt-
p)nihp:

2. Uwwgmgti, np C(x,y) $nilyghwh hnfushwpdtp hwiwww-
wwutuwbnpniG t N2 L N Ghols:

3. Uwwgmgty /(x) L r(x) pnbyghwbbnh wwpqugnyb Ywpgpt-
pwgntp)niip:

4. Uywgngty C"(x,,...,x,) dnlyghwsh wwpquanyl Yupgpl-
pwgnipniap:

5. Uwwgngty, np C"(x,,...,x,) $nibyghwh thntushwndtp hwiw-

wwunwuhuwbnpnt t N” L N dhol:
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6. Uywgmgly @'(m) i=12,..n $nbyghwlbph wwpqugnil

Ywnqpbpwgnipjnilp:
7. Uwwgnighy p(x), 8(z), A(i,2), o(x,y), w(x,y). 6(z,i,))

L y(x,y) $nGyghwGbinh wwpqugnt)G Ywngplpwgnipnilp:
Qhgnip ,B(x,,..,x,,)= m: 3wyyby hbnbyw| pniGyghwbbpp b wwyw-

gnigh Gpwig wwnquqntyG YwpgplGpwgnipynilp’
8. B(8,4,1,10)

9. B(8,x,,4,%,,1,x,,10,x,,)

10. B(x,,x,,...,x,_,,8,5)

1. B(x,,3,%,,1, x4, Xs5...,X,)

12, B(x;, %3, X5, X4y X5 505 X151, X,1,2)
13 B(x; %, X5 Xy X103.%), 3, X5 %75 %)
14. ,B(x3,0,x2,1,x1,2,x3,x4,x5,...,x,,)
15. B(x,,3,x,,1,%¢,%;5...,X,)

16. B(X,_ 5%, X5 X 55000 X,_5)

17. ﬂ(x,,x,,x,,xj,x5,x,,,x,,xs,...,x,,_z,x,,_,,x,,)
18. ,8(1,2,3,4,5,x,,xz,xj,x,,_,,x,,)

19. #(2,8,24,%,,%,,....X,_,X,)

20. ,B(x,,x,,Z,xj,x‘,4,...,x,,_,,x,,,n)

21. B(x), X, X5, %5005 X,,_ ;515 %,,2)

p
22. A x,,0,...,0,x,,0,...,0,x,,0,...,0,...,x,,0,...,0
—— N—— N N——
\ x x x3 %,
,
23. | x,,0,x,,0,0,x,,0,0,0.,...,x,,0,...,0
\ n

24. B(L1L XXXy X3, X g5eves Xp_ys Xps X3 252)
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25. B(X,5 X3 Xp_ 15 Xp_psees X5 X))

26. B(Xy3X3,X), X 45 X550 X35 X,5 X35 X, 1)

27. ,B(O X3 X55eeys Xp_ s X 0)

28. ﬂ( "_3,x,,_2,x,,_,,x,,,xj,x6,x,...,,x,,_4,x,,x2,x,,x4)

29. ﬂ(x,,xz,xj,x4,5 6,7,8,%9,X,y5... )

30. ﬂ(x,,xz,O 0,0,%;5,%,,X5, X5 5000 X, _35%,_5,0,0,0,%,_,,X )

31. ,B(x6,x,,xa,xg,x,,,,...,x,,,x,,x,,x,,x“x,)

32. ﬂ(x,,xz,xj,x4,0,0,0,x5,x6,0,0,0,x,,xg,xg,x,o,x,,...,x")

ﬁlh‘uwgm.gb[ htunbywy $nGyghwbph wwpquagnyl YwpgplGpwgnt-
pintlp

33. f(m)=«m qnbpwl hwiwp nGbgnn hwiwlwpgh m-hg
dbé qnuyq whnwdibsph pwlwyhGy:

34. f(m)=«m qnbgwl hwiwp nGtignn hwiwlwpgh wwpq
wlnwiGtph pwlwyhhx»:

35. f(m) =«m qnnbpwh hwiwp nGkgnn hwiwlywpgh 3 -hg ik
wwpq L Y&0w whnwaGkph pwlwyha»:

36. f(m,x) =«m qnntipwG hwiwp nllbgnn hwiwlywpgnid qnyg
inbntipnud quGynn x -hg Uké YhGuwn pytiph pwGwyhG»:

37. f(m)=«m qnbpywl hwdiwp niGgnn hwdiwywpgnd Y&Gwn
wntintpnud qunGynn 735 -hg thnpp qni)q pubtiph pwGwyhG»:

38. f(m,i,j)=«m qnnbipwh hwiwp nGkgnn hwiwywpgh i-pn
L j-pn wlnwdiGkph m-hg 066 pGnhwlnip wwpq pwdwlwpwplph
pwlwyhb»:

39. f(m,i)=«m qnnbipwl hwiwp nGbgnn hwiwywpgh Ytpghh
wlnwdhg 0hGsL i-pn wlnwdip Gbpwrjwy wlnwdGtph wdtkGwihnpp
pOnhwGnip pwqiwwwnhyhb»:

40. f(m) =«m qnpbiywh hwiwp nlGkgnn hwiwlywpgh 5 -h Ypw
pwdwGynn qnijq whnwiGtph gnuiwphG»:

41. f(m)=«m qnntigwl hwiwp nmlbgnn hwiwywpgh YLl

wnbintpnud qunGynn 3 -h Upw pwdwynn qnijq whnwiGbph gnudwph»:
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42. f(m,x) =«m qnnbywl hwiwp nilGbgnn hwiwlwnpgnud YhGwn
wbnbpnud quGynn x -h Ypw pwdwbynn qniyq pybiph gnidwphln:

43. f(m) =«m qnntipwl hwdwp nlGgnn hwiwlwpgh 3-h L 7-h
Upw pwdwhGynn whnwdibkph gnudwphb»:

44. f(m)=«m qnbgwl hwiwp nlGbgnn hwiwlwpgh qnig
winwdbkph YEGwn pwdwlwpwnpGbiph gnudwphb»:

45. f(m) =«m qnnbywl hwiwp mGkgnn hwiwlwpgh qnuyq nb-
ntpnud quGynn 4-h Ypw pwdwldnn winwiGtphg pwnywgwé hwdw-
Ywpgh qjnnbgwh hwiwphlr:

46. f(m) =«m qnnbpwG hwiwp nGbgnn hwiwbwnpgh 3 -h Ypw
pwdwlynn wnbtnbtpnud qunlynn winwdbtphg pwnyuwgwé hwiwlwpgh
qJnnbywi hwdwphl»:

47. f(m)=«m qnbpwl hwdwp nGbgnn hwdwlwpgh 4 -h Ypw
pwdwynn qnijq whnwdGbph wpwnwnpywhl»:

48. f(m)=«m qnpbywl hwiwp nGlgnn hwiwywpgh &(m)-p
sqbpwquignn YEGun wlnwdiGtph wpnwnpjwihGs:

49. f(m)=«m qrbpwG hwiwp nilGbgnn hwiwywpgnid YaGwn
nbnbpnud qunlynn qniyq pytiph wpunwnpjwhG»:

50. f(m)=«m qnbywl hwdwp nlbignn hwiwywpgnud YhGwn
wtintpnud quGynn 3 -hg Uk¢ pytiph wpuwnpjwihG»:

51. f(m)=«m qnnbywl hwiwp nlbgnn hwiwlwngh 3 -pnhg
OwfuwytipphG J -hg dbd whnwibtiph wpuwnpyuphG»:

52. f(x,y)=«wjl hwiwbwnpgh qjonbpwl hwdwphG, npp unwg-
gnud t x qyonbgwl hwiwp nGbgnn hwiwlywpgh jnipwpwlsnip wi-
nwdhg hbwin wybpwglbbny y phyp»:

53. f(x,y) =«w)l hwiwlwpgh qnbywh hwdwphG, npp unwg-
ynui t x qynnbywh hwiwp nuibgnn hwiwlwpghG wehg b dwhuhg Ygw-
anbiny y phup:

54. f(m,i) =«wji hwiwlwpgh gynnbywl hwdwphG, npp unwg-
ynud £t m qyonbgwl hwdwp nlGbgnn hwiwywpgh i-pn wlnwdh wdb-
Owibié wwnq pwdwlwpwphl wehg Ygwapkind m phyp»:
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55. f(m,i)=«m qnbigwl hwiwp nGbgnn hwiwlwpgh i-pn
wlinwdh wiklwité wwpq pwdwlwpwph hwiwphg Juqidwé hwiw-
Ywpgh gynnbigpwl hwdwphG»:

56. f(m,i) = «w)l hwiwywpgh qrnbgwl hwiwphG, npp unwg-
Unid t m qynnbywa hwdwp nibbgnn hwiwlwpgh 7 -pn wGnwdhg htitnn
wybwglbind 7-pn wwnq phup»:

57. f(m) = «wjl hwiwywngh qynnbywh hwiwphG, npp unwgynid
t m qnntipwb hwdwp nuGgnn hwiwywpghg pGunpbiny wyl winwdbb-
pp, npnGg hwdwpGbpp pwdwGyned GG 3 -h Ypw»:

58. f(m,i)=«m qnbtigwl hwiwp nGbgnn hwiwywpgh 4 -hG
wwwnhy nbnbpnud L 7-G sqbpwquignn wlnwdGephg pwnyuguwé hw-
dwywpgh gynnbywl hwdwphby:

59. f(m,i) =«wjl hwiwlwngh qnntigwl hwdwphG, npp unwg-
ynud t m qynnbywl hwdwp nlGbgnn hwiwlwpgh Gwhiwybpeht winw-
Uhg uluwé plGwnpbiny i Gpywpnipjwdp (nbwh dwhu) hwnywd»:

60. f(m)=«m qntpwl hwdwp nltgnn hwiwlwpgh qnug L
3 -hG wwwhy nbnbpnd qunGynn wlnwilbphg pwnywgwéd hwiwywp-
qh qynnbigwl hwdwphG»:

61. f(x,y,i) = «w)l hwiwywpgh gnntigywh hwdwphG, npp unwg-
ynui bt x qynnbpgwl hwdwp nGlgnn hwiwlwpgh i -pn winwihg hbwnn
wyblwglbiny y phyp»:

62. f(x,y) = «wjl hwiwywpgh gnntigwh hwiwnphG, npp unwgyntd
t x qyrnbywh hwiwp nlbtignn hwiwlwpghg dwluhg” bgwapbiny y qyn-
nbywG hwdwp nGlgnn hwdwlwngp, huy wehg Ygwanptiny x hwun 7 »:

63. f(x,i) = «w)l hwiwlwpgh qnbpwh hwdwphG, npp unwg-
ynui t x gqynnbgwl hwiwp nlGlignn hwiwlwnpgh i -pn winwidhg wnwg
wybjwgtbiny x hww x, huy i-pn wlnwdhg htinn Ygwagnptipng G0w-
gwé wlnwdiGbpp hwhwnrwy Ywpgny»:

64. f(x,y) = «wjb hwiwhwpgh qjnnbywl hwiwphG, npp unwg-
ynd t y qnbpwl hwdwp nbbgnn hwiwlwpghg pGuptinyd x -hG
wwwhl whnwibkpp® uyutind y gnnbigpwl hwdwp ncbbgnn hwiwywp-
gh ytinghg»:

_41-



4. 3UUUMPSULP dNFLLUShULEN

Nhgnip M c 3" F(x,,x,,...,x,) pniGlighwh Ynsynd t hwidwwh-
nwbh M pwqinpjwl hwiwp, bpb
Vf(x,..x,) € M 3n, € N (Fn,x,..x,)= flx,,...x,))
VmeN (F(mx,...x,)e M):
OphGwy’
M= {x+y2,x3,2xy} pwqinipjwl hwiwp hwiwwhwnwGh &G
hwlnhuwGnd hbnlyw) $nGyghwhtipp’
w) F(x,,%,y) = (x + y')sg(%,) + x"sglx, - 1|+ 2xysg(x, = ),
R F(x0,%, %) = (x +y7)sg(rm(x,,3)) + X sglrm(x,,3) -1 +
+x° @Irm(x0 J3) - 1| + 2ch§|rm(x0 J3)- 2| :
M= { x’,x+ Zy}u { xk-y"k,me N} pwquinpjwl hwiwp hw-
dwwhwnwGh t, ophGuwly, hbinlywy pniGyghw’
F(x0,%,y) = X" 5g(xo) +(x+2y) sglxy | + ™2y sg(x, =1):

fuGnhpGtip

Loqwé pwqinpniGGliph hwiwp Ywneniglp hwdwwhunwGh $ncly-
ghw L wwuwgnigh| Gpw wwpqugnt)i uwpgpGpwgnip)nilp:

1. M={2x,x’,x+x2}

2. M={ xt+y?, x‘él}

3. M= {x+y,x v, x>, rm(x, y)}

4. M= {x+y,x 6z,x”" 522y}

5 M= { x-y,x=y,rm(x, y),[ ]}
y

6. M= { X2 +,2x,x” }

—42-



N

i
,_J%

&faa

S
Il

S
Il

,—HM,—H,—& ,—&,—4‘”

13.M =

14.M=

15. M=

16. M =

17.M =
18.M =
19.M =

20.M =
21. M=
2.M=
23. M=

+y ,x—}’,z*‘y, -
Y

xz,yz,x+1,y+2}

2,95, %0 + 9, x-'—y}

[y] L y+2, [«/—]}

x’,x= 3y,x+7’[ ]}
y=1

-
%},y,x+5y,y+7x}

N
u

7y,x’,x’*',x43y,x+6y}

[-xJ,x+x",[Z],x+10,x2}
Ly 5

x+3y,x= 6y,x’*',5x,2y}

) x=3
x—y,x-y,[7;y],x+y}

t(x, ), i}/k=0,1,2}
rest(x,y) [ky

x+y,z=c/c=12}

1= x,[y+3} xl/l= 78}
x=1

5-1/1=123}u{x+y}

r=3/r=13,5}u{2x}

xl,k+y/l=12;k =34}

xr,b+cy/r=23;b=01;c =89}
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24. M ={x+y,k-x-yI(x=y)/ k=012l =3,4}
25. M ={x=y,x+k-y,y* /k=0121=56,7}
26.M = { 2,y3,a(x+y),xy/a>3}
27.M—{x’,x-y}u{ax2+y/aeN}
28.M={ax2/a23}u{y,x-y}

20. M ={x+by/be N}u{xy,x"}

30.M= {x ~3yz,y* /keN}

31. M ={3x,x+1}u{x-2y/ye N}
R2.M={x+y,x-yu{x+k-z/ke N}
3B.M-= {7 X+62,y" k- x- y/keN}

M={cx y/ceN}u{x+y,|: xy]}

38.M={x+2y/yeN}u {x X }
36.M= {c 2‘/ceN} {x—2'° x+7}
37.M = {x yy,x+k- y/keN}
38.M-= {x+3y,x+4y,rm(kx y)/keN}
30. M ={rm(x,y),k-z/ke N}
40.M ={x+y,x+3z,k-x-z/ke N}
#. M ={x3x}u{x-37/ce N}
2. M ={x+@y) /ce Nju{x+1,%}
43. M ={x=7,x+2°}u{2°-x/ce N}
{x 2x} {x+3y/yeN}
45. M = {x+y,x y} {x+ky/keN}
{x ,rm(x, y)} {x'/i=l35 }
47. M ={kxy,l(x+y)/ k=3,4;l € N}
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48. M = {[%/—]rm(lyx)/kzezv}
9. M=< x" x+y,|— } x'+y /abeN}

50. M =
51. M =
52. M =
53.M =

a-x+byla=135,.;b=02,4,.}
i=024,.Ju{y’ /1 j23}
a-x/a>3}u{by/b>4}

¢ -x+c,-ylc,,c, € N}

xy,cy + z, x+lz/cleN}

Ix/le N}u{y=n/ne N}
x+k-yl-y-z/l= 012keN}
x,k-y,l(z+y)/ k,le N}

58. M ={k-x-y,l(z+v)/ ke N, =12,3}
50. M ={y=1/1=158}U{x+2k/k=0,24,.}

{
{x
{
{
M ={
{
{
{
{
{
60. M ={a+bx/a,be N}
|
{
{
{
{
{
{
{
{

55.M =
56. M =
57. M =

61. M={ax+y /akeN}

62 M=<a-x /a,beNa>[ﬂ}

63.M ={x'/ie N,rm(i,5) = 0}
64. M= {x” Irm(i,2) =0}u{ )" / j € N}
65. M ={x'/ie N,rm(i,2) = 0}u{)’ /> 2}
66. M = x/aeN} xz/rm(14) OIGN}
67.M ={(x') /i, j € N,rm(i,3) = 0,rm(j,2) = 0}
xX+y,x } { ,y/l_]ENl>2}
x-y' Irm(i,3) = 2}u{a*” I rm(@,2) = 0k a > 7}
a-x+b-yl-z/a,b,le N}
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68. M =
69. M =
70.M =



a-x+b-ylabe Nyu{c'/ce N}
kx+ y,Ixz, p(y ~ z)/klpeN}

71. M ={

72. M ={

73.M= {x+y,x ky,l-x-y,(m- x)’/klmeN}

74.M ={ax+by+cz/a,b,ce N}

76. M ={x+k,ly,z" I1,k,me N}

76. M ={a-x+b-y/a,beN}u {x'+yf/i,jeN}

7. M ={x,y}ul{xy//i=024,.y=135..}u
v{a-x+b-y/a,be N}

5. GULU2GLP &4 UhUUGULU2GLP
RUQUNIEB3NILLEN

Ohgmp M < N: M puwqinpjwl pGnipwqnhs dnuGlyghwl uwh-
dwynid t hbnbywy bnwbwyny.
Ltpt xe M

2""(x)={0, bpt xe M’

Uhuwplnipwgnhg dniGlighwl’ hnlyw) Ypw.
- (x)— 1, tpt xeM.
=01 bl xe M
M  puqinpynilp Yngdnmd t dwlwstyph, tpb Gpw pGnipwgnhs
PniGlghwi Ywngplpuwg t:
M  pwqinpnGp Yngynd bt Ypuwdwlwsbyp, tpt wbnh mGh
htinlyw; wuwydwGGbphg nput dayp’

1. 7y (x) SwuGwyh YuwpgpGpuwg $nulyghw t;

2. QnynupyniG nuGh f (x) dwulwyh Ywpgplpwg pniblyghw, wybuyh-
uht, np M = {x/! f(x)};

3. Qnynupyncl nuGh f (a,x) wwpquwant)i YwpgpGpwg pnillyghw,
wyGwyhuhlG, np M = {a/Z-] xf(a,x)=0}:
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4. QnjnipjniG  nuGh F(a,x,,...,x,,) wwpquagnyb Ywpgplpwg
dnillghw, wylwhuhG, np M = {a/3 x,,...,x, F(a,x],...,x,,)=0};

5. Qnjnipynil nuGh f(x) Gwubwlh YwpgpGpwg $nLlhyghw, wybuh-
uhG,np M ={y/3 x f(x)=y};

6. tbpt M —p nwuwpy st, www gnynpyntG niGh f(x) wwnpqu-
any( YwnapGpwg Pnullyghw, wilwhuhG, np M ={y/3 x f(x)= y};

7. 6pb M —p woOybpo t, www gnjnipynth niGh g(x) pOnhwGnip
Lwpqppwg PniGughu, wibwhuhG, np M ={y/3 x g(x)=y} U tet
X # X, wyw g(xl);tg(xz):

Nhgnip M < N": M pwqdnpynilp Yngynid t Swlwskih (Yhuw-
Swlwgkh), bpbk Swlwbih (Yhuwswlwgkh) t

M = {C"(x,,...,x,, )/(x,,...,x,,)e M} pwqdnipyntbp:

bwlwsbih L Ghowowlwsbh pwgdnpimbGph hhdGwlwl hunint-

pnLaG6np

1. Swlwsbih pwqinipjwl [pwgnuip Swhwgkih b

2. bpymt Swlwgbih (Yhuwbwlwskih) pwqdnipynbGliph dhwyn-
pnudl e hwwnnedp Swbwgkih (UJhuwSwGwgbih) t:

3. Yhuwbwlwsbh pwqinipjwl (pwgnip YhuwSwlwskih t w)l L
Ghwjb wyb nbwpnd, Bpp wjl (hwnlbwpwp Gwb Gpw (pwgniip) Swiw-
sbLh t (Mnuwnp plinpbd):

tulnhpGhip

8niyg tnwy hGwnlywy pwqinpyniGGliph SwhwskihnpyniGp.
1. M=o

2. M=N

3. M={39}

4. M= {a,‘az,...,an}

5. M ={2k/k e N}

6. M={2k+1/ke N}
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7. M={w n-puunqphyt}

8. M ={n/ n-plhwunwpju phy t}

9. M ={1,3}u {2k/k e N}

10. M = {2,4}u Pk+1/keN}

1. M = {6} U {w/ n-puwnqphyt}
12. M = {w/ n-puuwnqphy t} \ {2,5}
13. M ={2,6,10,14,..}

14. M ={3,7,17}

15.M = {3,69,...}

16. M = {1,11,111,...}

17.M = {131331 B

18. M = {x/rm(x 3):#0 L rm(x,2)20}
19.M= { rm(x,2)=0 b rm(x,6)¢0}
20. M ={x/x>7L3k x=2k}

21. M = {x/3k x=2"}

22 M ={x/3k x=3".5}

23. M ={/3k3l x=3".5'}

24. M = {x/3k x =k}

25. M ={x/3Kal x=k* +1?}
26.M={x/3y 3z yP+2? =x2}
27. M ={x/x25 L 3y, y=3x+1}
28. M ={C(xy)/3k>0 x=y+k}

20. M = {(xy)/x =2y}
30.M = {(x y/x y }
31 M= {(x y)3vx=2"

}
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32.M = {xy/Eva>2}

BM-= {x (x,)/3vx>5-3" }

4M-= {xy/x 632”}

35. M ={{(x.y)/rm(x,2)=0 L rm(y,3)=0}
36. M ={(x,y)/rm(x,2)=0L y-n wunq t}
37. M = {(xy)/x+3" >2}

38. M ={(xy)/3vx>3" L y=3-k}

9.M= {xy/rm(xZ) OL3¢ y—5t}

40. M = {(xy)/3k(x + y) =3}

41. M ={(x,y)/3z (x<z<ylLz-pyunqphyt)}
42 M= {x,y,t)/t>x 3’}

43. M ={(x,y,z)/x =y -3z}
44.M={C3(x,y,z)/x=3y+5’}

45. M = {C’(x,y,z)/x=y+ 2’}

8nyg wwp pwqinpjul YhuwSwlwsbihntpjwl uwhdwbnuiGlph
hwdwpdtipnipynip.

46. UwhdwGned 1 « UwhdwGnud 2

47 .UwhdwGnid 1 « UwhdwGnud 3:

48 . Uwhdw@nud 1 « UwhdwGndd 4:

49. UwhiwGned 1 < UwhdwGnud 5:

50. UwhiwGned 1 < UwhdwGmd 6, tpl pwquinipnilp nuinwpy sk:

51.UwhdwGnid 1 «» UwhdwGnd 7, tipk pwquincpynuGp wGybpy &

52. UwhdwGntd 2 < UwhdwGnud 3

53.Uwhdwbnid 2 « UwhdwGOnul 4

54. Uwhdw@ntd 2 < Uwhdwbnud 5

55, UwhiwGnil 2 <+ UwhdwGnid 6, bpt pwquintpjniGp nwunwpl st:

56. UwhdwGnid 2 « UwhiwGnud 7, bpk pwquinupynuGp waybipe t:

57 . Uwhdw(nid 3 « UwhdwGnud 4

58. UwhiwGntd 3 « Uwhdwlnud 5
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59. UwhidwGnud 3 « UwhdwGndd 6, bpb pwqdnwpynilp nwwnwpl sk:

60. Uwhdwntd 3 < UwhdwGnud 7, bpb pwquintpynilp whdbng L:

61. UwhiwGnuld 4 « UwhdwGnud 5

62. Uwhiw@nud 4 < UwhdwGnud 6, bipk pwqdnupyntlp nuwnwpl sk:

63. UwhiwGnid 4 « UwhdwGnud 7, tpb pwqinupymbp whGybpe t:

64. UwhdwlnLd 5 « UwhdwGnud 6, bpb pwqunegynilp nuwnwply st:

65.Uwhdw@nud 5 « Uwhdwlnud 7, Gpb pwqdnepnilp waybpe t:

66. Uwhdwlnwd 6 « UwhdwGnud 7, pb pwqdnipnilp nwwnwpy sk b
waytipg L:

Uwwgmgt] htnlyw| pwqdnpnGlbph  YhuwSwhwskihnipyniGp
hwiwdw)l 1 - 7 uwhdwbnuiGbph.

67. M = {1,10} (1-6)

68. M ={3,7,17} (1-6)

69. M = {n/ n-pwwnaphy t}

70. M = {n/ n- p yunumyw phy t}

71. M ={1,3}u {2k/k e N}

72. M = {2,4}U Rk+1/keN}

73. M = {L,6}U {w/ n-pwwnq phy t}
74. M ={2,6,10,14,..}

75. M ={5,10,15,20,...

76. M ={11,111,..}

77. M ={13,133,1333,..}

78. M ={x/rm(x,4)=0}

79. M ={x/3k x=3"}

80. M = {x/x - h pwdwGwpwnpGbph pwlwlp hwywuwpt 3}
81. M ={x/3y wunqphd,npx=y+2}
82. M = {x/3k x = 24}

83. M ={x/3zx=3 +1}

84. M ={x/x>7 L3k k=2x}
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85. M = {x/3k x=3*.5}
3
86.M={x/3y, y+y<x? Sl:yT:”

87. M = {(x, y)/x = 2}

88. M = {C(x,y)/x=2"}

89. M = {(x,y)/x > 2"}

9. M = {(xy)/xSy }

9. M= {xy)/x<y }

92.M = {(x y)x=5- 3”}

9. M= {xy/x 5. 3”}

94.M—{(x,y)/y—3’- ‘}

95. M ={(x, y)/rmlx, y)=l}

96. M = {(x y)/x=3 >2}

97. M= {(x )3y, x=y }

98.M—{x,y)/3k x=7" y}

99.M={(x,y)/3y, x>3”}

100. M ={(x,y)/3z, x-y=1z}

101. M ={(x,y)/x-pamya tl y - pwunqt}

102. M={xy)/y-panyat3k x=3*y}

103. M ={(x,y)/x>3" L 3k y =3k}

104. M = {(x,y)/rm(x,3) = 0L rm(y, x) = 0}

105. M ={(x,y)/x - pwwnqt L y - pYwinwpju}

106. M ={(xy)/x =3k +1, y-puwpqlt}
M
M

R X

107.
108.

= (x,y)/H z,x<z<yl z—nthwnjw[t}
={xy)3z 27+ 2 =27}
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108.
110.

111.
112.
113.
114.
115.
116.
117.
118.
118.
120.
121.
122.
123.
124.

M ={(xy)/x-pu y-p tnhwnwpdwpwn wwnq G}

M ={(xy)/x-p L y-hwikGwibé plnhwbnip
pwdwlwpwpp YEGun t}

M={(x,y /x—nl;wmwnjwlthEZy:x’ }

={y)/x<yu y<xt}

{xy)/3kx-y=3k+2}

{( /Ek x= k3hy>x}

(x

(x.y)/32 xy=1=2}
{(x,)/rm(min(x,),3)=0 L rm(max(x,y}4)=0)}

{

(x

(x y,t)/t>x-3’}
{(xy,2)/z23x-(y=1)}
{(x.7.2)/x = y=32)
{(xy.2)/x+y=2]
{(x.y.2)/x=y=y=z}
{(x, y,2)/z=4x=3y+1}
3y 2)x=y+27}

{x y/x¢y } x y,z)/z<x+y}

ERERKEE&EEEKE
]

6. UuuLuuh LUMrQALLBUS dNHLUShULENP Bd LhUUGULUGLP

RUQUNHB3NELLENP IUUUNULULNFY

Swjnbh t, np VnZlBF(xo,x,,...,x") Owulwlyh YwpgpGpwg

$nLlyghw, npp hwiwwyhwnwbh t §" dwubwyh Ywpgpipwg $nibyghw-
Geph pwqldnpjwl hwiwp L, punn tnpjwl, hwdwpwlwinud t win pwag-
dnipynilp: Uynwhuh hwiwwhwnwh $nblyghw Yupbip t weneglp tniwn-
ptp GnwlwyGtpny [1 - 4]: OphGwy, YhGhh Ynnihg Gwrnigdwé hw-

SwwhinwGh $nGlghw planiGywe t Gowbwlby K™ (x,, X, ,..., x, )-ny:
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Uwulwynpwybu, Kz(xo,x,) hwiwwhunwGh $nllyghwh dhengny
hwiwpwywiynid t §' pwquinueyniGp:
COnniGdwé b0 Gwl hbnbjw) GawGwynuiGbpp.
Vn € N hwiwp Kz(n,x)=f,,(x)‘—“zn:

Nuyufp pbnpbd

g' pwqinpjwl gwiywgwé ny nwunwpl ubhwlywb Gopwpwqlint-
pjwlp wwunlwbnn pnibyghwbph pnpnp YihGjwh hwdwplbph pwqdne-
pjntlp Gwlwskip st:

JFhdGubind pwqdnpywl YhuwswlwsbihnipywG 5-pn uwhdwGiwh
dpw, Mnuinh Ynndhg wpygti £ Yhuwbwbwstih pwqdngnibGbph hbnlbyuwyg
hwiwpwlwinudp’

7, ={y/3xK*(n,x) = y}
(n hwiwp nGtgnn YhuwdwGwsbih pwqinipntGa t):

luGnhpGtip
Uwwgnigti, np’

1. Bf(x) w.ly. $nilyghw, wyluhuhG, np Vxz = {x}:

. dn,np z,= {n}:

. 3An,np z,= N\{n}:
. 3g(x,y) wwpquanyt YwngpGpwg $nLblyghw, wyGuhuhG, np
Ty = {C(nm)/nen,bmex,}:
twnwqnuntp hbnbyw| pwqinipynlGbpp Swlwsbh”™ GG, p&™ ng,
YhuwSwGwsk h® &G, pb° ny:
6. M={n | n,=@}
7. M={n | n,=N}
8. M={n! a en,}, npintin a - G npnawlh plwlwb phy t:

2
3. 3n,np 1, = {n*}:
4
5
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15. M = { 2}=
16. M = {n/'f(lS)}
17.M ={n/ 1 £,(10) }
18.M ={n/1£,(5) u 11,(7)}
19.M ={n/£,(5)=7}
20. M = {n/3xf, (x) =13}

21. M ={/ £,03)+ 1,00 = £, )}
22. M ={C(n,m)/x, c x,}

aruyuLnHa3nL

. Mamues A.H. AnropaT™bl H peKypcuBHbIe QyHKUMH.— M.: Hayka, 1986.
. Pomkepc X. Teopusa pexypcBHbIX QYHKUMH W 3(deKTHBHaA BbIYHC-

nrMocTh.— M.: Mup, 1972.
Bepewarvn HK., Illess A. Jlekipiu mo MareMaTH4ecKoif JIOTHKE W TEOPHH
amropa™oB. Y. 3. Berurcmimelie ¢yHkimm.— M.: MITHMO, 1999.

. [Ilerep P. PexypcuBHnie pyHkumu.— M.: HJI, 1954.
. JlaspoB U.A., MakciamoBa JI.JI. 3agaun no TeoOpHH MHOXECTB, MareMa-

THYECKO# JIOTHKe U TeopHH anroputmMoB.— M.: ®UIMATIIHUT, 2001.
UwpwojwG 3.P., LhghjwG U.U. COpwgwlywngbiph wnbunipjwl nwupGpwgh
fulnppGbph (nLédwh dEpnnwlwh gnignudltp:— Gp.: 6M3 hpwwn., 1984:

— 54—



pAYULAWLNEE3NEL

UWPUWPIIG . ......ooiieiieieeceie ettt ettt be st et e st saaeaesteensaenaasaeeres 3
1. Ywpqplpwg PnLGUGhWOEN......ccooeeeicieece e 4
2. B)nLphGgh GERBGWIGEN .....oveevveeeeeeceetece et 21
3. POwywG pybtph hwiwywpqbph hwiwpwwintdGbp ........ccooeeeeeeee. 36
4. Swdwwhunwbh PnGUGRWGERN ......oeeveeeeiieeeeeeee e, 42
5. 6wlwgbih L YhuwbwGwsbih pwqdnpyntlGhp........cooveeeieiee. 46
6. UwuGwyh YwpqplGpwg pnGyghwbbnh L Ypuwbwlwskih
pwaqinipntGGEph hwdwpWYWENL ..., 52

QNUWLYWGANLRINLA........ooveeieieieteecrre ettt ettt be e eeerresaneans 54
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1. 4UNPQLLEUS dNruushULEP

Thgnip N={0,1,2,...} ng pwgwuwlywl wdipnng pytph pwqdnt-
pjnLlb t: f(x;,...,x,) dwulwyh $nilyghwl Yngynud t pwpwlwlywd,
bpb w)G wpnwwwinytpnud £ N7 -h nplt bopwpwqdnpyniG N -h dhg':

n ¢hnpnfuwlwibhg Ywhyws papnp pwpwlwlywh $niGyghwbbph
pwqunp)nilp GawGwyttp §"-nd: f €& dnlyghwh npndwh wnp-
nnypp Gawlwltlp N7: bph (a,,a,,...,a,,)e N7, wyw Yoguwgnp-
sulp Gwl !f(a,,ay...@,) Guiwyndp, huy (2),@;,...a,)& N}
nbwpnd® ! f(a,,a,,...,a,) Gawlwynidp:

x, (nthnfuwlwap Yngymd b ng twlwa £ € §" dnlyghwih hw-
dwn, bpt Ywiwywywt (@)@, @, @, )€ N™' L Guilwjwluws
B, 8" € N wntinh niGbG hbwnbjw) wwydwGGbpp’

1. f(@), ), 52050 ,) S f()na, 1, B, 2,55 @)

2. tpt!f(a,,....a, ;. B a5 ,) =
f(@s @y B3 @55 @) = [ (@ @i B3 G500 2,) -

Gnynt ng wikGnipbip npnaqwsé £ L g $nillyghwhbph hwywuwpne-
pntlp ( f = g) hwulywgynid t htwnlyw) bnwlwyny. pb nplt hwywpw-

6nth Ypw $nlyghwlbphg dbyp npndwd b, www dniup wyn hwyw-
pwénth Ypw GnuyGuybu npndwd t, L Gpwig wpdtiplbpp hwadpGyGnud 6G:

&" pwquinpjwl npnwyh Gopwnwu uwhdiwbbint hwiwp GpdnubGp.

I6Gpuyhl priGlhghwabn
1. O(x)=0,
2. S(x)=x+1,

* 2h pwgwnynid 7 =0 nbugpp, npp Gaunud t S0 wbupnd, b () Ywd npnaywé sk, ud
hwywuwp t nplt ¢ hwunwwnniGh:
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_ x—y,bpbx =
3. S(x)=x=1,npunbin x=y= i ‘ :
0, hwlywnrwy ntiypnd

Gnponnmp i GGEY

1. N5 twlwG hrpnfuwlulllpf Gbpdniénud

B(X) i Xy ¥V )5eees V) DUGUGhwE ungynud t f(x,,...,x,) PnLGY-
Shwjhg y)s..., ¥, (k21) ng twywG pnthnfuwlywGGiph GEpdnuédwdp,
tpb

w) Yoy, thnthnhuwluwGGbpp twlwG s66 A(x,,....X,, ¥, V)
dnGyghwh hwdwn,

P) (X 50003 X)) Z (X ses Xy Vysees Vi )

2. YwlnGwynp inbnwnpmpinl

h(Y)sees y,) INLGYghwl Yngdnid b f(x)5e0%,) U g(V)5ees Vi)
(I i< n) pnmGyghwGlph YwinGwynp nbnwnpnipjwl wpnynilp, bpk
B(Y1s5eees Vi) = F (81D 1i5eves Vi Dsvees 8 Visews Vi D) :

3. NMwpqugnyl winpwnwnpdnd
S(xp5ees%,,y) Pllghwl Yngdmd t a(x),...,x,) L B(x,,....X,,¥,2)
$nulyghwlbph wwpqugneyl winpunwpddwb wpnynilp, bpb

{f(x,,...,x,,,O)'za(x1 yeees X, ) .

f(xl ""’xn ’y + 1) = ﬂ(xl ""’xn ’y’f(x] !""xn’y)) .

4. UifiuquignuyGh npnlGmd

w(x)5sx,) dnlyghwG Yngynd t @(x),...,x,,»y) InGyghwyh
Gwwdwdp GuqugnyGh npnGiwG  wpmynbp (Gawlwyymd L
W (X5 X, ) = 1, (@(%, ey X, , ¥) = 0)), bp pusuipuinynud bG hbnlyuwy
ww)dwGGkpp.

Ww(x,,....x,) & w) Iy o(x),...,%,,y) =0

p) Vi < ylo(x,,....x,,t) 20
L w(x,,...,x,) npybtu wpdtp pGnnibnd t htGg win y (bt w)l
qnjnLpyntl nuGh):
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f €& dnbyghwl Ynsunid t dwulwlyp Lwpeplpwg pnilblyghw
(J.4.p.), bpt wja htGpwyhGGtphg npLt dGYG t Ywd unwgynid t htGpw-
JhGGGphg YyGppwynp whqwd yhpwnbiny 1-4 qnpénnnipynLGGbpp:

UdkGnipbp npnadws f 0.4.9. (N; =N") yngynid t plnhwlnn
Ywpeplpwg pnilbyghw (p.4.3.)

f €8" dnllyghwh Yngunid t wwpqugnil Ywpeplpwg pnllghw
(w.4.p.) tpt wja htGpwjhGGbphg npLt 06LUG bt Ywd uwnwgymd t
htiGpwjhGGtphg Ytppwynp whqwd Yhpwetiny 1-3 gnpénnnipyntbGtipp:

OnhGwy

Uwwgnigklp f(x,y) =x+y $nillyghwjh wwpqugnyl Yunpqpl-
pwgntpjnLap:

x,0)=x+0=x

LPwbh np /(x0) ,

fO,y+D=x+(y+D)=(x+y)+1
ybpgltp a(x)=x= §(S(x)) L Bxy,2)=z+1, www
f(x,y)=x+y Pnlyghwh wwpquqnylG Ywnqplpwgnipjnilp hhy-
Gwynnynid t hbnlyw) nwbwyny’

w) Yppwetnd S(x) b S(x) PniGhghwlbph Gywwndwip 2 qnpén-
nnipyntlp’ unwinud GGp a(x)-p,

p) Yhpwebiny S(z) =z + 1 dnbyghwjh Gywwndwdp 1 gapénnnip-
jnclp, unwGnud GGp B(x, y,2) -p

q) a(x) u f(x,y,z) pnllghwlbph Gywwndwip Yhpwabiny 3
anpénnnipynLlp, unwlnud bip f(x,y)=x+y:

www bpk

lubGphpGbp

h°Gs $nibGyghw t unwgynd @ L B dnGyghwGbphg wwpquanyl
winpwnupddwb dhengny:

1. a(x)=LB(x,y,z2)=2-x

2. a(x)= O,ﬂ(ﬁc,y,z) =z+Xx
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a(x)=1,0(x,y,2)=z+2x
a(x)=1p(x,y,z)=z+3x
a(x)=1B(x,y,z)=c-x
a(x)=1p(x,y,2)=z-x°
a(x)=1,B(x,y,2)=z-x°
a(x)=2x,0(x,y,2)=2z~1
a(x)=x,p(x,y,2)=z+3

10. a(x)=1,B(x,y,2z)=x*

1. a(x)=x,p(x,y,2)=z"

12. a(x) =x, f(x,y,2)=x’

13. a(x)=3,8(x,y,z)=x’

14. a(x)=2x,0(x,y,z) =z~ 2
15.a(x)=1B8(x,y,2)=x+2

16. a(x)=x,B(x,y,2)=2-x
17.a(x)=0,B(x,y,2) =x+ 3z
18. a(x)=2,B8(x,y,2z) =z~ 4x
19. a(x) =1, B(x,y,z) = 2* +6x
20.a(x)=x,B(x,y,2)=z+(x+y)
21.'a(x) =0,8(x,y,2)=(z+x)+y
22. a(x)=x,B(x,y,2)=y" -z
23.a(x)=0,B(x,y,z)=x+y+z

© ® N O O s w

xLy
24 QG = 7= =0 | npn2dwh whpnypp:
by w(x) yy[ [3y+1] J nn2 hnnypp

25.3waqby w(10), tpb w(x)= py[(7 - [2—;1—3]} 3= 0] :
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26. 3wty w(0) L y(9), bt y(x)= p,(5 [ ] OJ:
27. 3wty w(10), tipts y(x)= py([ 5 ]=0]-

28. 3wyt (7). bpts w(x)m[[y’_‘ ]= 0):

=3

Uwwgmgti| htinlyw| $nbyghwbbph wwpquwagnylb Ywpgplpwgnt-
pJnLlp’

29. f(x)=nmeN)

30. f(x)=x+n(meN)

3. f(x,y)=x+y

32. f(x,y)=x-y

33. f(x,y)=x" (0° =1)

34. f(x)=x! (0!=1)

0,tpx=0

35. sg(x) = pax
Ltpt x>0
Lbtpix=0

3. 5g(x) = {0 tpk x >0

x—ytpix2y
37.x+y=
O,bpix<y
38. f(x,y) =[x~
39. f(x,y) = max(x, y)
40. f(x,y) = min(x, y)
Uwwgniglip hbwnlywy $nbyghwbbph wwpquagnyt YwpgpGpwgnt-
pintlp’ oquuwagnpébiny g(X;s...sX,5X,,,)s &(VpseeVm) U B(Visees V)
InLGyghwibph wwpquwagnt)G Ywpgqplpwgnipynilp.



41. f(x),..,X,,,2) =

D 8(Xives%,,1), bBE Y S 2

i=y

O,tpiy >z

42. f(xl,...,x,,,yl,...,ym) =9

( B(YynsVm)
g(x,....x,,0), iph
1=@(YyssYm)
AYyses Ym) S BD1sees Ym)
0, Ulwgwd nbypbpnud

83, f(% X, 9,2) =

Hg(xl ,'",x",i), be y <z

i=y

O,tpt y >z

44. f(x]r--;x,,,y],...,ym) =

f ﬂ(yl ----:y.)
[Tg(xss%,.), tob

i=a(y),sYm)

0, 6Gwgwé nbwptipnLd

\

AYyseees V) S BYysees V)

45.4wublp, np f(x,,...,x,) PnLllghwh unwgynd t g(x;,...,x,,y)

L A(xs...,X,) PniGyghwlliphg uwhiwlwhwy GwquanyGh npnGiwG
qnpénnnipjwiip, bpk ,uy(g(x,,...,x,,, y)=0) npn2qwé t pninp x,,..., X,
hwiwp L sh qbpwqulgmd  A(x,...,x,): Uwwgngl, np bpb

S (x50 x,) Pnilyghwl unwgymd b g(x,...,x,,») U h(x,...,x,)

wwpqugnt)i Jwpgplpwg 9$nillyghwGbphg vwhiwlwthwy GJuqu-
qnijGh npnGiwG gnpénnnupjwdp, www w)t wwpquaqntjli Ywpqpipwg t:

46.Y%hgnip h,,...,h,,, wjlwhuph pnbyghwlbp bG, np Yuwiwjwlwh

X}, X,50.5X, pOwlwh pybph hwiwp Gpuighg dbyp L dhw)G dkYG t hw-



Jwuwpynid 0 : Uywgnigby, np tpt g,,...,8,, U Ay, B, Pnlyghwib-
np wwpquant) Ywngplpwg 60, www
8,(x,5..05%,), tipl Ay(x,,....x, ) =0
S (XX ) =9 e
&m(X;50sx,), B Ay(x,,....x, ) =0

$nilyghwl wwpquantyd Ywnpqplpwg L:
47 . Uwwgnighky, np wwpquwaqgnylb (Jwulwyh, pGnhwbnep) Yupqpl-

pwg dnLlyghwitinh nwup sh thntudh, et S(x) hhipwihG $nGyghwsh
thnfuwntG ybipglty 1, (x,,X,,...x,) =X, (I <m<n) dnGyghwi b s09-
nwgnpdt| ng twlywh hnhnfuwywGbbph GEpdnuédwh gnpénnnipynilp:

Uwwgnigby htwnbjwy $nGlyghwbbph wwpquaqnyl Yuwpgplpwgnt-
pnLlp’

X
48. f (x,y)=[;] x-p y-h ypw pwdwGbihu unwgynn pwGnpnp

e

49. f(x,y)=rm(x,y) x-p y-h dpw pwdwlbihu uwnwgynn
dGwgnpnp (rm(x,0) = x)

50. 7(x) = «x pyh pwdwlwpwnbtph pwbwyhx (z(0) = 0)

51. o(x) = «x pyh pwowlwpwnGbph gnuiwphG» (o(0) = 0)

52. Ih(x) = «x puh wywnq pwdwlwpwnlbph pwbwyhG» (ZA(0) = 0)

53. (x) = «x phup sqtipwquignn wwnq putinh pwlwyhG»

54. h(x,y)=«x L y pytiph witGwthnpp pGnhwiny pwqiwww-
whyhG» (A(x,0) = h(0,y)=0)

55.d(x,y)=«x L y pytiph wiklwdibé pGnhwinip pwdwlwpw-
nhG» (4(0,0) = 0)

56. p(x) = «x-pn wuwnq puht» (p(0) =2, p(1) =3, p(2) =5,...)
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57. long(x) = «x puh wiklwibé wwpq pwowbwpwph hwiwphG»

58. ex(x,y) = «wwpq wpwwnphslbph wbupny y pyh Jbpiniént-
pJwh 0ty x -pn wwnq puh wunhGwbh gnighshG» (ex(x,0) = 0)

59. f(x,y)=[</;] (I%;]=x)

60. f(x,y) = [C;](C; =1, ipb y < x)

61. f(x)=[e-x]

62. f(x)=[e’]

63. f(x)=x" (x-p sgtipwquignn pninp npwlwh qnuyg/ytiGwn
pytiph wpwnwnnjwihG, tpt x -p qntyg/ytiGun L)

64.%gnp v,(x),..., v,(x¥) wdkGnptp npndwé plwpwlwlywb
$nGyghwibp GG, npnlip Ywilwjwlwl x-h hwiwp pwjwpwpnd GG
vi(x+1)<x(i=1,..,5) wwpwGbphG: YwubGp, np  f(x,...,X,,,)
PnuGyghwl unwgdnil b g(x)5es X, ), (X 5y Xy Xpagseees Xpasey) bt
v,(x),..., v,(x) $nGyghwltiphg plnhwlnip winpwnwpdnud gnpén-
nnipjwdp, tpk x,,...,X,, y thnthnfuwluwGGbph papnp wpdtipltinh hwidwp
wnbnh nlGEG hbwnbyw) hwywuwpnipynlGGbpp’

S (x50 %,,0) = g (%;5...,X,),

S (Xpsees X, Y+ D)= H(X s X, s [ (X X,V (7 + 1),

S (X5 X, v (¥ + 1))

Uywgnighi, np bpb  f(x,....x,,;) PmGUghwl uvwnwgynd t
8(X)sesX,) s A(Xpsees X s Xpazsees Xparas ) Vi (X) ey V(X)) wwipqu-
qnyl Yunpaoplpwg dnLGyghwhbphg plnhwhnip winpwnwpdnid qnpén-

nnupjwiip, www wjl wywpquanyyb Ywpaplpwg t:
Uwwgniglp hbwnlyjwy weGsmpntGGbpnyd  wpdnn dnLbyghwitiph

wwnqugnt)G YwpgplpwgnipyniGp’
65. £(0)=0, (1) =1, f(n+2)=f(n)+ f(n+1)
66. f(0)=0,f()=1f(n+2)=2f(n)+ f(n+1])
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67. f(0)=0,f()=1f(n+2)=2f(n)+3f(n+1)=1)

68. f(0)=2,f(1)=4,f(n+2)=3f(n+1)=(2f(n)+1)

69. f(0)=2,f(D)=3,f(n+2)=4f(n+1)=(f(n)+])

70. f(0)=2,f(D)=3,f(n+2)=4f(n+ )= (f(n)+])

N fO)=LfN=1Lf(n+2)=3f(n+1)=(f(n)+4)

72.f(0)=2,f(D)=3,f(n+2)= f(n+])-(f(m)+])

B.f0)=2,f(D=3,f(n+2)=f(n+1)-(f(n)+])

74. f(0)=3,f(1)=4,f(n+2)=3f(n+1)”")

75. £(0)=0,/(1)=2,f(n+2) = (f(n+ 1) =) f(n)

76.E)6ph $nLbGyghwa@, npp hwywuwp t x -p sqGpwqubgnn L x-h
htwn thnfuwnwpdwpwp wwnq pytinh pwiwyhG:

77 Uwwgnigby, np jntpwpwsnip wdklnuptp npnzdwé $nulGyghw,
nph wpdtipp hwywuwp t g pwgwenipjwdp yepowynp pyny Ybwnbpmd,
wwpquani)b Ywpqplpuwg t:

78.%gnp f(x) L g(x) PnLGyghwhbpp npnzqwé GG hbnlywy duny’

f(0)=a,g(0)=b
f(x+1) = h,(x,f(x),g(x)) :
g(x +1)=hy(x, f(x),8(x))

Uwwgnighy f(x) L g(x) $nbyghwlbph wwpquagniyl Ywpgpl-
pwgnipyntlp, bpb A, (x,¥,z) L h,(x,y,z) $nilyghwbbpp wwpquaneyl
Ywnqplpwg bG:

79.Uwywgnigl, np  jnipwpwlgynp  wwpquanyl  Ywpgplpwg
$nilGyghw pGnhwhnip Ywpqplpwg t:

80.Uwuwgnigb], np nbnunpnipjwld L wwpquagnt)i winpwnwpd-
dwh gnpénnnpyntlGGEpp thwy GG pGnhwGnup Ywpgpbpwg $nibyghwht-
nph nwuh GYwwndwdp:

81.Uwuwgnigt, np tpbt wwpquanylb Yuwpqplpwg (pGnhwlnip
Yunqplpwg, dwulwyh Ywpqplpwg) niGyghwhbtiph wndtiplbpp thntuby
ytipowynp pyYny Ytwnbpnud, wwyw vtnwgynn $nGyghwi Lu YhGh wwp-
quaqntji Ywpqplpwg (pGnhwanip Ywpqplpwg, dwubwyh Ywpgplpwg):
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Uwwgnigb| hbwnbywy $nblghwlbph wwpquagnyt YwpgpGpwgnt-
pjnLlp’
82. f(x) = «x-h qni)q pwdwbwpwpGtiph pwlwyhG»

83. f(x) = «x -h bl pwdwlGwpwnplGiph pwhwlyhG»

84. f(x)=«x-h yupq pwdwlwpwnpGbiph pwGwyhG»

85. f(x) =« x -p sqbpwquwbgnn qnuq pyutiph pwhwlyhb»

86. f(x)=«x-p sqpwqubgnn YLGwn pytiph pwlwyhG»

87. f(x) = «x-p sqbipwqulgnn wwnq pytinh pwlwyhG»

88. f(x,y)=«x-h L y-h pGnhwlnip wwpq pwdwGwpwnGtph
pwlwyhb»

89. f(x) = « x -p sqtipwquhgnn YGw pytiph gnuiwphG»

90. f(x) =« x-p sqbpwqubgnn qntjq putiph gniiwphG»

91. f(x) =« x-h wwpq pwdwGwpwnpGtph gnLiwnphb»

92. f(x)=«x-p gqipwqulgnn wwnq pytiph gnLiwphb»

93. f(x,y)=«x-h L y-h pOnhwlnip pwdwGwpwnplGtiph qnidw-

pha»

94. f(x,y)=«x-h L y-h plnhwlnip wwpq pwdwbwpwnlbph
qnuiwphG»

95. f(x,y) =«y-hg ns thnpp L Sx-p sqbipwquignn Ywunwpyuwy
putinh qnudwnhb»

96. f(x,y)=«x-h L y-h pOnhwlnip pwdwlwpwnGbph wp-
tnwnpjwihG»

97. f(x) =«x -hg thnpp wwnq putiph wpwnwnpjwihG»

98. f(x,y)=¢«x-hg ng thnpp L 3y-p sgbpwquignn Ywwwpjwy
pytiph qnuiwphb»

99. f(x,y) =«x-hg uké L 2y-p sqbpwquignn wwnq pybph wp-
twnpjwihG»

100. f(x)=«x-p gqbipwqulgnn wwpq bpyynpywyltph pw-
GwyhG»
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102. f(x,y)=(x!)"
103. max(x,,...,X,)
104. f(x,y,z)=|x—|y—z”
105. f(x)=«x-h w)bi pwdwlwpwplbph pwlwyhG, npnlp pw-
dwlynd G 3 Ypw wnwhg dGwgnpnh»
, GpE x L nluwnwpdwpwp wwpq Lo
106. f(x,y)= Y, tp Y tnluwnwpdwpwp wwnq
whnpny, hwlwrwy nbwpbpnid
x + y,tpb x 2 y LqnynipyniG niGh wyGwhuh i

107. f(x,y)= phu.np y =2
x = y, hwwnwl nbwpbpnid

5,tprm(x,3)=0
108. f(x)=<4,tptirm(x,3)20Lrm(x5)=0
0, dGwgwé ntiypbipncd
109. f(x,y)=«x-h L y-h wikGwdité pGnhwhnip pwdwGwpwnh
L wikGwihnpp plGnhwinip pwqiwwwwhyh wpunwnpyuihG»
x,pty+z=x
,bpix+z =
110. f(x,y,2)= > oP Y
z,bpix+y=z
0, 00wgwd nbwpbipnid
111. f(x)=«x-hg thnpp Gpw pninp Ywunwpw| pwdwbwpwnlt-
ph qnudwphG»
112. f(x)=«x-hg thnpp Gpw pninp Ywwnwpjwy pdtiph pwlwyha,
npnGp pwdwGynid GG 3 -h pw»
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13. f(x,y)= {/llog2 x”

114. f(x)=«x-hg thnpp pninp wjG pybph pwGwyhG, npnlp
pwdwbyntd GG 7 -h ypw L qniyg sEG»
x,tpix >10Lrm(x,y)=2

115, ,y) =
/(.3 {O, hwlwnwl nbwpntd

x + y, tipti x pwdwlbihu y unwgunn

116. f(x,y)= dGwgnpnp wwnq phy t
0, hwlwnwy nbwypbpnud
x, tpl x qnuyg t L nplt npwGwpn t
17, f(ry= |5 BPE¥ Anuatlnn pyh lunpwGwpn
0, hwjwnwl nkiwpbpnud
x, bipt qnnipynl nuGh wjlGwhuh g wwpq
118. f(x,y)={ phunp x=a’
0, hwiwnwy nbwpnid
X, tpb wpq k
19, fr,y)=1{ ) WM
¥, hwjwnwl niwypbpnd
x, bpb x pwdwGynuit 7 L sh pwdwbynid 4
120, f(x)= pixp y thp U
. 0, hwijwnwl nbiupbipnud

1, tipl x Wwnq pwdwlwpwnpGbph pwGwyp
hwjwuwnt y juwnmwpjw) pwdwlwpwnpGeph
pwlwyhG

0, hwywawy ntiwpbpnid

121, f(x,y)=

5%, tpti rm(x,3)=0
122. f(x)=142x,bptirm(x,3)=1
0, GGwgwé nbwpbipnud
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2x + 3y, bpl x YhGun t L rm(y,3) =2
123. f(x,y)=<8x+y,tpbx qnygtLrm(y,3)=0
x, Ubwguwé nhiypbipnud
x +3y, bpt x Ly tnfuwnwpdwpwp wwnq b

124. f(x,y)=
) x ¥, hwywnwy nbwypnid

—y,hpbxmwnqthy<x

125. f(x,y)=<x*,bpby>x
5, 6Gwgwé nbwpbpnLd

2%, bpli x qnuyg tL y YtiGen

126. f(x,y)=13",tipt x YaGuntL y qnijq
0, iGwgwd nbwptipniy

x-y,pix>ylL yqmqt
127. f(x,y)=<{2x+3,bptix=y

4, Wlwguwé nbwpbtipnid

C(x,y),tp x wupqtl y=2
128. f(x,y)= (x, ), tipk x wwpqtl y

5, hwjwnrwynbwpbpnud

2x, tipk x qnuyg t Ly YtiGun
120, f(x,y)={ pb x qrug tLy |

x + y, hwhwnwynbwpned

Uwjwgnigtip htnlbywy $nblyghwbbiph dwubwlyh YwpapGpwgnipynibp’

x-ytpix2y
130. f(x,y) =
whnpny, hwlwnwl nbkiwpned

—hhx wdwbGyned t w
131, f(xr,)= ptix-pp 4 y-hyp

ﬁnnnz, hwywewly nbwpnid
132. f(x)-p wiklGniplip wGnpny $nilblyghw t
-16-



133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

S(x)=x -pn wwpq tpLynpywlGliphg wnwehGhG
j3y41, bpbi rm(x,4)=3L y >4

f(x,y)=1<10x,tpbirm(x,4) =1L y=2

(whnpny, dGwgwé nbuwpbinnud

(x, bpk x - h qni)q pwdwhwpwplbiph pwlwyp

hwdwuwnpt y - p UGG pwdwlwpwnbliph

pwlwyhb

(winpny, hwhwnwy ntiyptipnud

8, tpb x sqtipwquignn YtGuw pybph gnudwpp
hwywuwnt y sqbipwqubgnngntjq putinh

f(xay)=J

f(x,p)= S
wlnpny, hwlywnw nbwpbpndd
— ¢y
fx0,2) = z,tpz=x" L zqmqt
winpn, hwjwnrwyntiwpbpnud

2, tipti x L y pybtinh pwdwGwpwnpGbph pwlwlGbnp

f(x,y)=4 hwjuwuwnkbG
wanpny, hwlwnwy nbwpbpnd

fx) = {2, tpt qrynupynul nGh k pGwlywG phy, np x = 3*
whnpn, hwywnwynbwpbipnd
Ltpbxwwpqtlx=2
f(x,»)=40,pt x qnujq t
winpn?, dGwgwé nbwptipnLd
2,tptirm(x,3)=0
f(x)=143,tplirm(x,3)=1
wlnpny, bpki rm(x,3) =2
2, ipti gnynupynLGnLGh k pGwlwGphy, np x = 2*

f(x)=
wbnpn?, hwhwnwyntiwptipnid
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143.

144.

145.

146.

147.

148.

149.

150.

151.

152.

2,tpix=0Ly=2
fO,y)=<Ltpix=1Ly=3
whnpn?, SGwgwé ntiwptipnid
5,bipti rm(x,4)=0
f(x)=42,tipbrm(x,4)=1
whnpny, i0wgwd nbwptpnLd

f(ny)= 5%, bpb x ywunwpju bl y > x
’ wanpn2, hwlwnwy nbiwpbpnud

FOuy)= 3, iptixwyunqtly>x+3
I wbnpn?, hwywrwynbwptipnid
Ty,tpixqnuqtly=7
f(xy)=<5=x,tipixqnyqtLy=3
whnpny, i0wgwé nbiwypbpnLd
5y,bpb x wwpq t L y Yuwwnwnju
whnpn?, hwywewynbwptipnid

{x 27, ipxqnuyqtl y<3x

f(x,)

f(x)

wanpn?, hwwnwyntiwptpned

7,tipixqnuqtly=2
f(x,y)={x+ytipixqnyqtLy=7
whnpny, 60wgwé ntwpbpnd
x+27,ipixwwpqltlx<Sy
whnpn2, hwlwnrwlntiwpbpnid

jone]
‘x+2y, tpt x Yl kL rm(y,4) =3

x=y,tipti x Yt L rm(y,4)=0
whnpn?, i0wgwé ntiwpbipnid

f(xy)=

~ 18-



1583. f

154.

155.

156. f

157.

158.

159.

160.

161.

162.

whnpn?, hwywnwynbwpntd

2,pi xwwpqtly=3
f(x,y)=<3,tpi xwywpqtLy=5
wlnpny, Gwgwd ntiwpbipnd
x+2,tipti x wwpqtLy qnyq
wbnpn, hwywnrwyntwpntd

f(x,y)

1, ipti gqnynpynLGniGh &, np x = &~

) whnpn?, hwywnwy ntwpntd

1, ipk x Ly pytiph wnwytijwqnti)li pwdwlw -
pwpbtipp hwwuwp GG
whnpn?, hwlwnwy ntiypnLd

o
:
|
-
{ny, tipb x pwdwhGynidt 6 Upw iy sh
|
|
|
|
|

f(x,y)=

pwdwlynti 2*
whnpn?, hwywnwlynbwpntd

fx,y)=

(xy) = 2,6pix27y Lywwpqt
S wGnpn?, hwlwnwl ntiwptipnLd
x-y,tipix>y
fOy)=<y-xtipix<y
winpn), tiptix=y
x+y’,tiptix>3L y ytGunt

f(xy)=4x=ytipix<3Lyqngt
whnpn?, i0wgwd nbwptipnid

x¥,bptix bt L y qnuyq

Jx»)= wanpny, hwlwrwyntuwptpnd
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163.

164.

165.

166.

167.

168.

169.

170.

171.

172.

x-y, tipi xytiGintL y qnuq

x+ y?, ipbi x YtGwn kL y YLGun
fxy)=
winpny, WGwguwé nbwptpnid

Jx+y+5,bpbxu|wnqthy>5
f(x,y)=<x=yipixwwpqtlLy<5
(whnpng, dhwgwé ntiwptipnid
Jx+5,hphxl|hﬁlnthy=3
f(x,y)=<x+y,tpixtiGntL y=6
(wanpny, dGwgwé ntiwptipnud
Jz, tptixqnugtl y>3x
f(x,y)={10x,tipt xqnyqtL y <3x
\whnnng, §Gwgwé nbiwpbipnud
(2+3y,bpti xwwpq tl y>7
f(x,y)=33+2x, i xwupqtlL y<7
\whnpng, iGwgwd ntiwpbipnud

f(x,y)={x+2y’bphx=3 L y wuwnq st

whnpn?, hwywewynbwptipnid
2,tiptirm(x,y)=0

f(x)=4<3,tipbirm(x,y)=1

whnpn?, JGwgwé nbwptipnud
flx _{Z,bpbx=3y

whnpn hwywnwyntiyptpnid
2,tptix<2
f(x,y)=<1tipix>2”
whnpny,tpti x =2
(3, bpb x qnuyg L L y 4G

J.y)= {wﬁnnnz, hwywawynbwptpnid
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x-y*, ipix wwpq b L y wwnq st
whnpny, hwhwnwy ntwpbpncy

x+ y,bpti x nplt pup Pwywinphw t L
174. f(x,y)=¢ ylwunwpjuw

whnpn, hwywewl nbiwpbpned

173. f(x,y)={

175, )= z bptz” =x
wﬁnnnz hwlywnwy nbwpbpnid
1, pli x wwnq t

176. f(x,y)=12,tipb x yuwnwpjuwy t

wlnpn, d0wgwé nbwpbpneyd

x+y,bpbx=2y Ly=3"
wﬁnnnz, hwywrwynbwpnid

177.

2. @3ntrpLAh UBLLLULEN

@yniphlgh dbpbliwh pwnwnphsGbpG 66G° dwwwybGp, qpnn-Yup-
nwgnn g{tuhlp L nEYwywnnn vwppp.

. |A JA|x|1x2 | |x,. ] ka (A A [ .
qtuhly - X
dwwwyk

nbYwdwpnn uwpp ——»

@)niphlgh dtiptiwh wluwwnnud b dwiwlwyh wewGdhh =0, 1, 2,...
wwhbphl: dwwwyblp weohg L dwiuhg whdbpowdhg b UG pwdwbyws t
poholbph, npnGghg jnpwpwGynipnud dwiwlwlyh gwbywgwd wwhhG
anyws t 6haw 06y Ghp 4 = {a,,a,,...,a,} (n 2 1) dnunph-Giph wjpnipb-
Ghg: 4 - nu wnwidGwgywé t nwwuwnly Ghep' A: dwdwbwyh JnupwpwG-

gnip wwhhl dwwwybbh Jtpgwynp pyny pohellphg pwgh, dlwgwo
pohelbpnud gpywé t A: A wwpniGwlnn pohelbnt whywGklp nwwnwpy:
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Gpnn-Ywpnwgnn qitublp dwiwbwyh jnipwpwlynip wwhhG np-
wnwpynid t Gy pehe, Ywpnnid wyn peentd gnpdwd Ghzp, Gpw thnfuwpkG
qpnud nplt Ghy A4 - hg (hGwpwynp t* Gyl Yupnwgwé Ghpp):

NGjwywpnn uwppp dwiwlwyh jnupwpwbsinip wywhhG quGyned t
JhGwybtiph Q ={go,91-+Gr-15 P15 Pm} (nm21) Ytipgwnp pwqinipjniGhg
nplt dbynid: g, YhSwlyl wewGdlwgdws t QO pwqinpynilnid b yng-

ynd t ulyqplwlwl JhSwly: GGpwnpynid t, np @jniphlGgh dLpLGwh
ufunud £t hp whuwnwipp dwiwlwyh ulyqplwlywG ¢z = 0 wwhha,

quGytiny uyqplwlywb ¢, dhdwynui: QO ={q,,9,...9,,} <€ Q pwq-
dnupjwl wwppbipp Yngynd GG gnpénn yhswybtp, P ={p,,...,p,} € Q0
pwquinpjwl@ wwpppp’ Gqpuiwlhs Yypswlylbp: Iwdwpnd GGp, np
hwjinGybiny nplt qpuihwlhs yhdwyned, @yniphGgh dbipblwh wywp-
wntd | wuwnwGpp (Ywig b weGnud): NEYwdwpnn uwppp, GiGing hp
yhSwyhg L grfuhyh Ynnihg nhuinwnlynn Ghzhg, wpnn t

w) thnfubig hp YhGwyp;

P) thntubil nhvnwnydnn Ghzp;

Q) thnjubi qiiuhyh nhppp, hwenpn wwhhG wbnwinfubing w)b
hwplLwG we Ywy dwhu poheltip, Ywd pnnlb; nbnnid (wyjuhGpG hwenpn
wwhhG qituhlp Ynhwwnlh win wwhhG hp Ynndhg qpywé Ghzp):

L24wé gnpénnnupyntGGEpp pGnipwgpynd GG hwiwwwunwuuwGw-
pwp 3 wpnwwwwnytipnudGtipny.

A:OxA4—>Q
5:0xA— A
v:Ox A —{U,2,8)

UwhdwlOmd
T, =<A4,0,4,8,v> hlguyp, npntn 4,0 pwqimpjniGatpp L

90
A,6,v wpunwwwunlbpnudGepp GYwpwepdwd GG gepunud, Yngynud t
@)nipphhGgh dtipkiGw:
Lywpwqpklp BynphGgh dkpbtwjh woluwwwlph pGpwgpp dwiw-
Gwyh ¢,(¢ +1)- pn wwhbphG (£ 20):
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GOpwnpkGp, #- pn wwhhG O)nphlgh dbpbGwl qunGynd t
g(r) ((0) = ¢g,) UhSwynid, huy gpnn-Ywpnwgnn gituhlp phnwpynd t
x Ghp:

w)bpt g(¥)eP, www GnphGgh dhptiGwh wuwwnwipl
wywpunynd L:

p) bRt ¢(1)€ Q, www nhnnwplunn pgemd x Ghzh thnfuwnkG
qndnud t 6(q(#),x) Ghap, (++1) - nn wwhhG nbhwdwpnn uwnph yh-
Swyp® g(r +1) = A(q(), x), huy gpnn-Ywpnwgnn q(tuhlip nhiwnpynud £
GnuyG pohep, tipt v(g(1),x) =S, hwplwG wy pohep, tpb v(q(),x)=U L
hwplwG dwtu pehep, tpt v(g(#),x) =2 :

UGhpwdtizuin t 262k, np wluwwnwGph L' uygpnid, L’ Ybpgndd, tpb
wzfuwwnwlipt wdwmndby t, @)niphGgh dbpblwih qifuhlp wbuwp t
quiGyh wnwehl ng nwwnwny peoh Ynw:

Bymphlgh vbpbowyh inpdwl bnwlbwlGbpp

©PymphGgh dbplilwGtpp Ywpbh t Gwpwagpby Gpynt bnwlwyny

wryntuwlw)jhb L nupuwwinybipw;h:
UryniuwlwjhG Gnwlwyny GbpYwjwgiwb nbwpnLyd

T, =<4,0, A,6,v > Byniphlgh dpkGwh, npinbin’
A={a;,a,,...0,}, Q={4osq1-s9,15 P1>s P} »
A:Ox4->0,

S:OxA>A,

v:0x4->{u,2,8},
npynud t hunbywy r x n swihwOh wrynwuwyh dhengnd.

al a] an
4
ql l(qi,aj),§(q,,aj),V(ql,aj)
qr-l
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T, =<4,0,4,6,v> ©Onphlgh dbpbbwsh nipdwiywinlbipwsh

bnwlwyny Gbpywjwgdwl nbwpmd Q@ pwaqinipywl jnpwpwignip h
yhSwyhl hwiwwwunwuhuwbsgynud t ququp — 2ppwlwly, nph Gepunid
qpynud t h Ghop: 3nupwpwlynip i - h hwdwp (0 <i<g r—l), q, - h

hwiwwwwnwuluwnn 2pewlwlyhg nnipu GG quihu |A| hww wnbtnGbp,

npnGghg jnupwpwGyniph Ypw Gadnud £ 4 pwqinipywl hwiwwwnwu-
huwb a, (1 <Jj Sn) Ghzp: ¢, -hG hwiwwwwwubuwl ququwphg nnupu

bbnn U @, Ghany Gaqwé wntinp nianynud t nbwh A(g,,a;) -hG hwiw-
wwuwupuwb ququpp, L wn wnbnh ypw a; Ghzhg hbwn hwlwqdb-

nnud gpynud t 6(g;.a,) Ghap b wyw v(g;,a;) Ghap: UyGhwyn t, np
wju Ybpw Ywenigwé mqt[wwwmuhnu dhwpdtipnpbG GYwpwqpnud t
BjniphGgh dLpLOwa:

ShunwpyblGp ByniphGgh dbipbGwjh nupjuwwwnlybpwihG inwbwyny
GbpYyujwgdwl dh ophGwy: Yhgnip, B)niphlgh dbpbGwh, uubiny wp-
huwwwGpp 1-6phg Juwqijwéd Ywiwjwlwb »+1 bGpywpnpjwl pwnh
Upw, wwpquwbu unmgnud t° 7 =0, pbi ng, pwnp pnnGtiny wGthnihnfu:
CGn npnud’ wfuwnwipl wywpwnnud b wyn pweh wiotiGwdwlu Ghoh Ypw
YwGqltind, 7»=0 nbwpnd p, bqpwithwyhs dhSwynwd, huy »>0

nbwpnud®  p, bLqpwihwyhs YhSwynud:
Uju @yniphlGgh dtpkGwih npwwwn-
Ytipp GEpYuwywgywsé t qdwgqpmud:

fwlh np @)niphGgh vbpkGwlbpp
Suwihnfunwd b0 hpkGg dwwwybGh pohy-
Gopnd qpwé  pwntipp, wwyw npwlg
dhongny pYwpwlwlwld Ppnbyghwhbip
hwpybnt hwiwp Gepywpugthbp nilly-
ghwjh  thnthnfuwlwGGtph  wpdtipGtiph
hwywpwénG pweh inbupny npnawyh wy-
pnipblGnud:

Ve, (e, e N,1<i<nn21)
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hwowp  (,,@,,...@,) hwjwpwénth dbpbGwywlws Yon  (Ywd
wwpquwbu  Ynn)  YwGywhGtGp u*u**u pwnp, npp

ap+] a;+1 a,+]

YGwlwykGp k(a,,aQ,...,an)-nq: Vwulwynpwuybu, L_l pwnp o

a +1

puh YnnG t:

Uwhtwlnd

YwubkiGp, np T Oymphlgh vbptGws hwaynid t f(x,,xz,...,x,,)
plwpwlwlwh pnilyghwh, tpb V(a',,az,...,a,,) hwywpwénih hw-
dwp (a,. eN,I<i Sn), ulubiiny wpfuwinwpp & (a,,az,...,a',,) pwnh
Upw, w) ybpowynp pwjibiphg htitnn wdwpuinid t wyl, wwpnbwlybing
dwywytGh Ypw k(f(al,az,...,a,,)) pwep, bpb f(a,,az,...,a,,)
npnaqwé t, L p) Yhpwnbh st k(al,az,...,a',,) pwnh ypw (wjuhGpG,
w2huwwnnid £ wGybipg)” hwlwnwl nbwpnud:

Uwhowlmd

Ywuklp, np f(x,,xz,...,x,,) pUwpwlwlwh pnbGyghwl hwyup-

4tith t pun @)niphGgh, Gpb qnynupyntG niGh 7 BynuphGgh tbipkGw, npp
w)l hwyijntd t:

Uwwgnighblp dh pwGh pnLbGyghwbtnph hwaytihnipjnibp pun @jni-
phhgh:
1,bptix=1
1. l:—l-}= 0, tpti x >2
x
npn2ywé sk, pix =0
YunnighGp wju pnllyghwh hwyynn Byniphlgh dtipklw nupyw-
wuwwnltiph dhengny.
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.1(1)U .1(1)U A(A)O 1(1)9 .

\1 (1)U 1(A)Q

A(1)S

2. Yunnighlp htwnbyw) $nlyghwb hwzynn Bynphlgh dbpklw.
. {0 ,pix <y
xX=y =

A(A)U

x=ytpx2y
UbpbGwl uyqplwlwlO wwhhlG nhuwpynd t dwwywytbh ypw
onwé  1..1*1..1 pwnp, pln npmd dbpbGwih qqfuhyp qnGynud t g,

x+l  y+l

uyqplwlwh ypswynid L nhunwpyndd bt dwwwybGh Jpw gplwd pwnh
wibOwdéwu 1 Ghyp: B)nuihGgh dbpblGwh waluwnwipp Yuqiwybpw-
tGp hbunbyw Ybpw. w)l «pGond t» de{wlwh Gh wpywd pwnh jnpw-
pwlynip dwjphg, wunhdwlwpwn Guqbglbing X - Gnu y - p: bpk
ulqpnud Ytippwlned 66 dwhuwynndjwhb 1 - Gpp, www dwwwybbh Ypw
wobkG hGs «pGoynud t», qpynud t 1, L whuwwnwipl wdwpwnynmd t;
Jwhwnwy nbwypnd dwwwybGh Yypw d0nd 66 x—y -1 hwwn 1 -bGp L * -
p, npnGp dbphGwh dLwihnfund t x—~y - h Ynnh L YuGq wnbned: Uju
dtipGwjh nipwwwwnybpp GEpYuwywglbiGp unnpl.

1(1)u (1)U
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luGnhpGbp

Ywnnigh) hbnlyw) pywpwlwlywt $nGyghwi hwyynn BynphGgh
OkptOw.

1. f(x,y)=x+y
2. f(x)==

3, f(x)=[—’25]

7. f (x) =rm(x,2)

8. f (x) =rm(x,3)

9. flxy)=x-y
10. f(x,y)=x'y

1. f(x,y)= rm(x,y)

X

12. f(x,y) ==
Yy

13. f(x)=x+5
14.f(x,y)=x+y+5
15.f(x)=x*4

x+2,tpix >3
16. f(x)— {x*l, tp x <3
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x+ytpix>2
17. fix,y)=
f( y) {xbpbx<2
x+y+2btpix>3
18. f(x,y)={
y,bpbx <3
x+y+lLbpix2>22Ly>1
19. f(x,y)z{
0, hwlwnwy nbwpnt
2. f(x)= {x +3, bpt rm(x,2) = 0L rm(x,3) % 0
0, hwlhwnwl nbwpntd
x+y tpk rm(x,2 =0Lrm(x,3)=1
21.1te)-{ )=0urm{x3)
1, hwlwnwly nbwpn
x, tipti x qnuyq tL rm(y,3 =0
22. f(x y)={ )
0, hwywnwl nbwpnud
x, tplix 2>y
23, f(x,y)={
yhphx<y
+3, ipx <2
24, f(x)=4" "> P
x=1,tpix>2
x+2,bph y<3
25. f(x y)
y=-l,tpy2>4
2,tpix=>4
2. f(xy)={" 2%
x+1tpix<3
+2, bipt Ik(x=2k,
27 f(x, x+2, bipti Jk(x=2k)
x=2, tpt Fk(x=2k+1)
+ybtpix>y L 3)=1
28f(x {xypxy rm()’)
0, hwjwnwy ntiwpnid
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x=1, bpb x YbGuwn t
x+1, pb x qnuq t
x =2, tptirm(x,2) =1L rm(x,3)=3

29f,y {

30. f(x,y {
y =3, hwlwnwynbwpntd
31. f(x,y) {(x +y)=3,tpt rm(x,2)= 0L rm(y,3)=0
y + |, hwywnwly nbwpnid
2
2. f(x.y)= {x+(y 2), tpti rm(x,2)= 0L rm(x,3)=1
0 hwuwnwlmbu.mnui

3. f(x,y)= x+y tphrm x 2 lhrm(x,3)=2
x =+ 4, hwywnwy nbwpnLd
x+(y+2)bpiy2x+2
2, hwhwnwyntiwpntd

Il

f(x)

x+y+2,bpix=2kLy=0
x,y)

X + 5, hwlwnwl nbwpnLd

+y)=lLbpiy2x+2
36fx,y)={(x y)=1bpty2x
X, hwywnwYy nbwpntd
_|x+y+2,tpb3k (x=2k) Ly =0
37.fx,
x+5 hwywnwy nbwpntd
38. f(x,y)=(x+y)+7
+8,tpt x>
30, f(x,y)= {( ~y)+8,tpl x2y
x+y+8tpix<y

x +y, gt rm(x + y,2)=0
|x - y], bpti rm(x + y,2)=1

o f(x,y)={

41. f(x,y)= max(x’y)



42. f(x, y) = max(x, y, z)
43. f(x, y,Z) = min(x, ¥, z)
44. f(X,y)=3-x

45. f(x,y)=2-x+y

46. f(x,y)=x+3y+3

e
X

47. f(x,y):J ¥
\0, bpby:o

,bipby # 0

. f(x.y)=1| 2 P E2)=0

|2 + y, hulwnwl nbwypnuil
49 f(x,y) = (x *y)+ 2x

50. f(x,y)= (x'+ y)

51. f(x,y)= x4y

tpix >y
52. f(x,y)= [ ]
)’+3 bpix<y

bbx>
53fxy P y

0 bpbx<y

54. f(x,y) {(2" 1)+, bpb rm(x,3)=2
{

0, hwlwnwy nbwpnt i

25, bt rm(2,2) = 0L rm{y,4)> 1

55. fix,
fler)= 0, hwjwnwly nbwpntd
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hpb rm(x,2)=1

2x = lhphrmxy) 0

56. f(x,y)=
y +1, hwywnwy nbupnud
{x + y, hwhwnwl nbwpntd

57. f(x,y)=

2x, bipti rm(x,2) =0

58.
f( ) y =1, hwywnwy nbwpnid

2x,btpx 2> y +1
59,
fxy {y Lbpx<y+1
2y, tpirm{x,2)=0Lrm\y,4)>1
S0

1, hwywnwy nbwpnid
61, f(x)= 3x, bpli rm(x,2)=0

' |x =1, bpb rm(x,2)= 0
[ ] bpti 3k npx =2k
O,tpIknpx=2k+1

x + y, tipi rm(x,3)=0
8. f(x ) {x * ¥, hwwrwl nbwpnid

62. f(x)=

o4 7(1)=| 252 |

65 f( ) 2y+1,tpi2<x<4
Sflx,y)=
Y 1, hwjwnwy nbwpntd

3x,tpt Ik npx=2k+1
x=7,bp Ik npx =2k

66. f(x)={
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2x,bpix <y
67. f(x)_{x;y‘bphxzy

I: ¢ 4 Yy
68. f(x’ y) = 2
' h 'u‘"m‘ll 'I»bulpnllj

]» bpti rm(x,2) =0

69. f(x)= x*, biph x qnug t
| 2x, tipb x 4G t

x-y,tpti x qniyq t
70. flx,y)=
f( y) {x =, tipt x YhGun k

2x, tpb rm(x,3) =0
7. f(x)= [g] bpti rm(x3) =1

x=3, bptirm(x,3)=2
x?, tipb x qnuyg t
72. =
f(x) {x(x;l)’ bpb X uhﬁu‘l t

x+3,bpk x qnuq t

73. f(x)= [ E]

3 , lipbi x Y&Gn t

2 -—
74. f(x,p)= {(x +1), tptirm(x,3)=1Lx <y
3y, hwlwnwl nbwpnii

x-ybpix=5Ly>3
75. f(x,y)=15, tpix<5Ly=3
x-ybphx>5Ly<3
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= l:
76. f(x, y) 3
2x-+1, hwhwnwl nbupntd

77. f(x,y)= (x+ 7Y, tpti rm(x,4)=1
, 3, hwjwnwy nliypncd

], tpt x>4 L x qnuq t

(x+2)2 =~y tpix2ylLuxqmqt

78. fix,y)=
f(x y) {y,hwuwnwlmhulpmd

[lii], tpt x qnugt L y=0
y

79. f(x,y)= 1 y=5,tipk y>6 L x YGunt
x+1, hwwnwy nbwpnid

\

80. f(x y)= (x+y)2, tpix<yl rm(y,3)=2
’ 3, hwlywnwy nbwpnrd

(x=2)-ytipix>yLx>10
81. f(x,y)={2x tpbix=y
4, hwlwnwlynbwpnid
a2, f(x,y): {x(xéZ), tipb rm(y+l,2)=l L xqnuqt
x+35, hwywnwl nbwpntd
Ywnnigb) Bjniphlgh dbptilw, npp Vx € N -h hwiwp hpwlwbwg-
anud b obpbGwjwlwG Ynnh hbwnbyw) dLwhnfunip)nlGGlpp.
83. k(x) > k(2)* k(0)* k(x = 1)
84. k(x) > k(2)* k(x = 2)
85. k(x) = k(x =2) * k(1)
86. k(x) = k(x =1)* k(0)* k(1)
87. k(x) — k(0)* k(x =1)*k(2)
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88. k(x) > k(0)* k(x =1)* k(3)

89. k(x) = k(x +2)* k(1) * k(x)

90. k(x) > k(x +1)* k(1) * k(x = 1)
91. k(x) > k(5)* k(x +3)* k(x = 1)
92. k(x) - k(2x)* k(x +2)

93. k(x) = k(x+1)* k(x)* k(x 1)
94. k(x) > k(x)* k(x)* k(x = 2)

95. k(x) > k(x)* k(x =1) * k(x)

96. k(x) = k(0)* k(x)* k(0)* k(x +1)
97. k(x) = k(x =3)*k(0)* k(x +2)
98. k(x) > k(x =1)*k(x)* k(x+1)
99. k(x) = k(1)* k(x =1)*k(x +1)
100. k(x)— k(x =2)*k(0)* k(rm(x,3))

101, k(x) > k(x)*k[%]*k(x)
102. k(x)—> k[ﬂ » k(x +1)* k(rm(x,3))

103, k(x)— k[%]*k(l)*k(x;l)

k(0)* k(x 1), tipti rm(x,3)= 0
104. k(x)

k(2x), hwlwnwy ntiwpntd

k(x=1)sk(x=1) bptix > 4
105. k(x)

k(1)* k(2), hwiwnwl nbwpnLd

k(x)* k(x = 2), bpt rm(x,3) = 0
106. k(x)

k(0), hwlwnwl nbwpntd

—34-



k(4)* k(3x)* k(2), tipt x qnuq t
107. k(x)
k(x), hwwnwy ntbwpnid
y k(x=2)*k(x) tiptix=5

108. k(x)\

k(2x), hwlwnwl nbwpnid

k[ﬂ + (0)* k(x), bpls rm(x,4) > 2
109. k(x)i’ k(x)* k(1) hwywnwl nbwpnL

k(x2 ) tipti rm(x,3)=0
110. k(x) = k(x = 4)* k(2x) tipti rm(x,3) = 2
k(2x), hwywnwy ntiupnLd

k(x=2)* k(1) bptix >3

111, k(x)/

k(2x), hwywnwl nbwpntd
k(2)* k()*k(x=1) ipti x> 6
112, k(x)<
k(x), hwywnwy ntiwpnid
k(2x)*k(2), bpti rm(x,2) = 1
113. k(x) <
k(x = 1), hwiwrwy ntiwpnid
k(2x)* k(0)* k(1), bpl rm(x,3) = 2

114. k(x)

N k(2), hwlwnwy ntwpntd



3. FLUYLUL @YGMP JUUULUNMGEMP JUUULCULGULAFULED

3nipwpwlgnip ubbnqwé n pGwlwG pyh hwiwp N"-hg N -h
Upw thnhudhwpdbip wpnwwwnybpnudp Ynsynud t pGwlwa pybph wwpq
hwiwpwywymd: YwGunnph Ynndhg OGpdmuéybp b hwdwpwlwinudp
htnlyw| tnwGwyny’

(x+y)x+y+1)
2
quGnud t jnipwpwlynip (x,y) qnugh hwidwpp, huy r(m) L I(m)
ynuGyghwGbpp (nbu (1)) ypwlwbgGmd 66 m hwiwnp nuGbgnn qnuygh
we' ¥, b dwh' x, wlnwidlbpp: UyGhwywn t, np CU(m),r(m))=m L

rCl,y) =y, U(C(x,y)=x:

n 23 hwiwp dwlwéiwh tnwbwyny GEpdnusyned t

C" (%)%, ) = C(C" 7 (X eor Xy ) X,)
ImGyghw, nph dhongny hwiwpwlwygnd 66 pGwywh pytph 7 -jwl-
Gtpp:

Awiwywunwuhiwlwpwp @ (m) 1<i<n (nbu [1]) $nilbyghwib-
nh dhengny putn n-jwyh m LYwlGwnnpul hwiwph Yepwywbgbyned t
Gpw 7 -pn whnwdp:

LbpinotiGp hbnwy GuuGwynuwiGepp N = {A} N'=N u
N°=N°UN' UN?U..UN"U...: N°-hg N -h ypw thnfushwpdtp
wnunwwwinybpnudp GEpdnudyby £ Ynntith Ynnodhg hinbyw nwbwyny
0,ptn=0 ‘
Cln=1,C"(x,...x, )+, ipin>1

n=2 npbypnd C(x,y)= +x  $nGlyghwb

B(x,...x,) = {

Gnnbgwl hwiwpwlwimdiGph hbn Juwwywéd nhwrwpyyned GO
htwnlbyw| $nbyghwibpp’

e p(x) = «ibly hwwn x-hg pwnugwéd hwiwywpgh gynnbywhd hw-
OwphG»

e d(z)=«z qmnbgwl hwdwp nGhgnn hwdwlwpgh bpluwpne-
pjulbp»
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« z qynnbiyw hwdwn nuGegnn hwdwywpgh
o Ai,z) = i-pn whnwdhG», bpli1<i<8(2)
0, hwjwnwynbwpnid
o @(x,y)=«w)d hwiwywpgh qnbywl hwdwphG, npp
unwgynud £ty plwlwG phyp wehg Ygwapbiny x qynnbpwl hwdwp
nLGgnn hwdwlwpghl»
o (x,y) = «w)G hwiwywngh qjnatiywh hwiwphG, npp unwgyned

t y qmubpwl hwdwp nGbgnn hwdwlywpgp wehg Yygugpbiny x

gqJnnbpwh hwiwp nllbignn hwdwywpghl»

« z gynnbiywb hwdwp nGegnn hwdwlwpghi-pn
wlnwdihg ulyuynn j ipywpnipjwidp hwnywsh
qJnnbywlhwdwphl»,tptii21Li+ j-1<6(z)

0, hwywnwy nbwpnty

0 0(z,i, j)=

ey(x,y)=«y hwwn x- btphg pwnyugwséd hwiwlywnpgh qynnbywh
hwdwphl»

tuGnhpGbp

1. Uywgnigty C(x,y) $nilyghwih wwpquanyl Yungplpwgnt-
p)nihp:

2. Uwwgmgti, np C(x,y) $nilyghwh hnfushwpdtp hwiwww-
wwutuwbnpniG t N2 L N Ghols:

3. Uwwgmgty /(x) L r(x) pnbyghwbbnh wwpqugnyb Ywpgpt-
pwgntp)niip:

4. Uywgngty C"(x,,...,x,) dnlyghwsh wwpquanyl Yupgpl-
pwgnipniap:

5. Uwwgngty, np C"(x,,...,x,) $nibyghwh thntushwndtp hwiw-

wwunwuhuwbnpnt t N” L N dhol:

-37-



6. Uywgmgly @'(m) i=12,..n $nbyghwlbph wwpqugnil

Ywnqpbpwgnipjnilp:
7. Uwwgnighy p(x), 8(z), A(i,2), o(x,y), w(x,y). 6(z,i,))

L y(x,y) $nGyghwGbinh wwpqugnt)G Ywngplpwgnipnilp:
Qhgnip ,B(x,,..,x,,)= m: 3wyyby hbnbyw| pniGyghwbbpp b wwyw-

gnigh Gpwig wwnquqntyG YwpgplGpwgnipynilp’
8. B(8,4,1,10)

9. B(8,x,,4,%,,1,x,,10,x,,)

10. B(x,,x,,...,x,_,,8,5)

1. B(x,,3,%,,1, x4, Xs5...,X,)

12, B(x;, %3, X5, X4y X5 505 X151, X,1,2)
13 B(x; %, X5 Xy X103.%), 3, X5 %75 %)
14. ,B(x3,0,x2,1,x1,2,x3,x4,x5,...,x,,)
15. B(x,,3,x,,1,%¢,%;5...,X,)

16. B(X,_ 5%, X5 X 55000 X,_5)

17. ﬂ(x,,x,,x,,xj,x5,x,,,x,,xs,...,x,,_z,x,,_,,x,,)
18. ,8(1,2,3,4,5,x,,xz,xj,x,,_,,x,,)

19. #(2,8,24,%,,%,,....X,_,X,)

20. ,B(x,,x,,Z,xj,x‘,4,...,x,,_,,x,,,n)

21. B(x), X, X5, %5005 X,,_ ;515 %,,2)

p
22. A x,,0,...,0,x,,0,...,0,x,,0,...,0,...,x,,0,...,0
—— N—— N N——
\ x x x3 %,
,
23. | x,,0,x,,0,0,x,,0,0,0.,...,x,,0,...,0
\ n

24. B(L1L XXXy X3, X g5eves Xp_ys Xps X3 252)
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25. B(X,5 X3 Xp_ 15 Xp_psees X5 X))

26. B(Xy3X3,X), X 45 X550 X35 X,5 X35 X, 1)

27. ,B(O X3 X55eeys Xp_ s X 0)

28. ﬂ( "_3,x,,_2,x,,_,,x,,,xj,x6,x,...,,x,,_4,x,,x2,x,,x4)

29. ﬂ(x,,xz,xj,x4,5 6,7,8,%9,X,y5... )

30. ﬂ(x,,xz,O 0,0,%;5,%,,X5, X5 5000 X, _35%,_5,0,0,0,%,_,,X )

31. ,B(x6,x,,xa,xg,x,,,,...,x,,,x,,x,,x,,x“x,)

32. ﬂ(x,,xz,xj,x4,0,0,0,x5,x6,0,0,0,x,,xg,xg,x,o,x,,...,x")

ﬁlh‘uwgm.gb[ htunbywy $nGyghwbph wwpquagnyl YwpgplGpwgnt-
pintlp

33. f(m)=«m qnbpwl hwiwp nGbgnn hwiwlwpgh m-hg
dbé qnuyq whnwdibsph pwlwyhGy:

34. f(m)=«m qnbgwl hwiwp nGtignn hwiwlwpgh wwpq
wlnwiGtph pwlwyhhx»:

35. f(m) =«m qnnbpwh hwiwp nGkgnn hwiwlywpgh 3 -hg ik
wwpq L Y&0w whnwaGkph pwlwyha»:

36. f(m,x) =«m qnntipwG hwiwp nllbgnn hwiwlywpgnid qnyg
inbntipnud quGynn x -hg Uké YhGuwn pytiph pwGwyhG»:

37. f(m)=«m qnbpywl hwdiwp niGgnn hwdiwywpgnd Y&Gwn
wntintpnud qunGynn 735 -hg thnpp qni)q pubtiph pwGwyhG»:

38. f(m,i,j)=«m qnnbipwh hwiwp nGkgnn hwiwywpgh i-pn
L j-pn wlnwdiGkph m-hg 066 pGnhwlnip wwpq pwdwlwpwplph
pwlwyhb»:

39. f(m,i)=«m qnnbipwl hwiwp nGbgnn hwiwywpgh Ytpghh
wlnwdhg 0hGsL i-pn wlnwdip Gbpwrjwy wlnwdGtph wdtkGwihnpp
pOnhwGnip pwqiwwwnhyhb»:

40. f(m) =«m qnpbiywh hwiwp nlGkgnn hwiwlywpgh 5 -h Ypw
pwdwGynn qnijq whnwiGtph gnuiwphG»:

41. f(m)=«m qnntigwl hwiwp nmlbgnn hwiwywpgh YLl

wnbintpnud qunGynn 3 -h Upw pwdwynn qnijq whnwiGbph gnudwph»:
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42. f(m,x) =«m qnnbywl hwiwp nilGbgnn hwiwlwnpgnud YhGwn
wbnbpnud quGynn x -h Ypw pwdwbynn qniyq pybiph gnidwphln:

43. f(m) =«m qnntipwl hwdwp nlGgnn hwiwlwpgh 3-h L 7-h
Upw pwdwhGynn whnwdibkph gnudwphb»:

44. f(m)=«m qnbgwl hwiwp nlGbgnn hwiwlwpgh qnig
winwdbkph YEGwn pwdwlwpwnpGbiph gnudwphb»:

45. f(m) =«m qnnbywl hwiwp mGkgnn hwiwlwpgh qnuyq nb-
ntpnud quGynn 4-h Ypw pwdwldnn winwiGtphg pwnywgwé hwdw-
Ywpgh qjnnbgwh hwiwphlr:

46. f(m) =«m qnnbpwG hwiwp nGbgnn hwiwbwnpgh 3 -h Ypw
pwdwlynn wnbtnbtpnud qunlynn winwdbtphg pwnyuwgwé hwiwlwpgh
qJnnbywi hwdwphl»:

47. f(m)=«m qnbpwl hwdwp nGbgnn hwdwlwpgh 4 -h Ypw
pwdwynn qnijq whnwdGbph wpwnwnpywhl»:

48. f(m)=«m qnpbywl hwiwp nGlgnn hwiwywpgh &(m)-p
sqbpwquignn YEGun wlnwdiGtph wpnwnpjwihGs:

49. f(m)=«m qrbpwG hwiwp nilGbgnn hwiwywpgnid YaGwn
nbnbpnud qunlynn qniyq pytiph wpunwnpjwhG»:

50. f(m)=«m qnbywl hwdwp nlbignn hwiwywpgnud YhGwn
wtintpnud quGynn 3 -hg Uk¢ pytiph wpuwnpjwihG»:

51. f(m)=«m qnnbywl hwiwp nlbgnn hwiwlwngh 3 -pnhg
OwfuwytipphG J -hg dbd whnwibtiph wpuwnpyuphG»:

52. f(x,y)=«wjl hwiwbwnpgh qjonbpwl hwdwphG, npp unwg-
gnud t x qyonbgwl hwiwp nGbgnn hwiwlywpgh jnipwpwlsnip wi-
nwdhg hbwin wybpwglbbny y phyp»:

53. f(x,y) =«w)l hwiwlwpgh qnbywh hwdwphG, npp unwg-
ynui t x qynnbywh hwiwp nuibgnn hwiwlwpghG wehg b dwhuhg Ygw-
anbiny y phup:

54. f(m,i) =«wji hwiwlwpgh gynnbywl hwdwphG, npp unwg-
ynud £t m qyonbgwl hwdwp nlGbgnn hwiwywpgh i-pn wlnwdh wdb-
Owibié wwnq pwdwlwpwphl wehg Ygwapkind m phyp»:
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55. f(m,i)=«m qnbigwl hwiwp nGbgnn hwiwlwpgh i-pn
wlinwdh wiklwité wwpq pwdwlwpwph hwiwphg Juqidwé hwiw-
Ywpgh gynnbigpwl hwdwphG»:

56. f(m,i) = «w)l hwiwywpgh qrnbgwl hwiwphG, npp unwg-
Unid t m qynnbywa hwdwp nibbgnn hwiwlwpgh 7 -pn wGnwdhg htitnn
wybwglbind 7-pn wwnq phup»:

57. f(m) = «wjl hwiwywngh qynnbywh hwiwphG, npp unwgynid
t m qnntipwb hwdwp nuGgnn hwiwywpghg pGunpbiny wyl winwdbb-
pp, npnGg hwdwpGbpp pwdwGyned GG 3 -h Ypw»:

58. f(m,i)=«m qnbtigwl hwiwp nGbgnn hwiwywpgh 4 -hG
wwwnhy nbnbpnud L 7-G sqbpwquignn wlnwdGephg pwnyuguwé hw-
dwywpgh gynnbywl hwdwphby:

59. f(m,i) =«wjl hwiwlwngh qnntigwl hwdwphG, npp unwg-
ynud t m qynnbywl hwdwp nlGbgnn hwiwlwpgh Gwhiwybpeht winw-
Uhg uluwé plGwnpbiny i Gpywpnipjwdp (nbwh dwhu) hwnywd»:

60. f(m)=«m qntpwl hwdwp nltgnn hwiwlwpgh qnug L
3 -hG wwwhy nbnbpnd qunGynn wlnwilbphg pwnywgwéd hwiwywp-
qh qynnbigwl hwdwphG»:

61. f(x,y,i) = «w)l hwiwywpgh gnntigywh hwdwphG, npp unwg-
ynui bt x qynnbpgwl hwdwp nGlgnn hwiwlwpgh i -pn winwihg hbwnn
wyblwglbiny y phyp»:

62. f(x,y) = «wjl hwiwywpgh gnntigwh hwiwnphG, npp unwgyntd
t x qyrnbywh hwiwp nlbtignn hwiwlwpghg dwluhg” bgwapbiny y qyn-
nbywG hwdwp nGlgnn hwdwlwngp, huy wehg Ygwanptiny x hwun 7 »:

63. f(x,i) = «w)l hwiwlwpgh qnbpwh hwdwphG, npp unwg-
ynui t x gqynnbgwl hwiwp nlGlignn hwiwlwnpgh i -pn winwidhg wnwg
wybjwgtbiny x hww x, huy i-pn wlnwdhg htinn Ygwagnptipng G0w-
gwé wlnwdiGbpp hwhwnrwy Ywpgny»:

64. f(x,y) = «wjb hwiwhwpgh qjnnbywl hwiwphG, npp unwg-
ynd t y qnbpwl hwdwp nbbgnn hwiwlwpghg pGuptinyd x -hG
wwwhl whnwibkpp® uyutind y gnnbigpwl hwdwp ncbbgnn hwiwywp-
gh ytinghg»:
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4. 3UUUMPSULP dNFLLUShULEN

Nhgnip M c 3" F(x,,x,,...,x,) pniGlighwh Ynsynd t hwidwwh-
nwbh M pwqinpjwl hwiwp, bpb
Vf(x,..x,) € M 3n, € N (Fn,x,..x,)= flx,,...x,))
VmeN (F(mx,...x,)e M):
OphGwy’
M= {x+y2,x3,2xy} pwqinipjwl hwiwp hwiwwhwnwGh &G
hwlnhuwGnd hbnlyw) $nGyghwhtipp’
w) F(x,,%,y) = (x + y')sg(%,) + x"sglx, - 1|+ 2xysg(x, = ),
R F(x0,%, %) = (x +y7)sg(rm(x,,3)) + X sglrm(x,,3) -1 +
+x° @Irm(x0 J3) - 1| + 2ch§|rm(x0 J3)- 2| :
M= { x’,x+ Zy}u { xk-y"k,me N} pwquinpjwl hwiwp hw-
dwwhwnwGh t, ophGuwly, hbinlywy pniGyghw’
F(x0,%,y) = X" 5g(xo) +(x+2y) sglxy | + ™2y sg(x, =1):

fuGnhpGtip

Loqwé pwqinpniGGliph hwiwp Ywneniglp hwdwwhunwGh $ncly-
ghw L wwuwgnigh| Gpw wwpqugnt)i uwpgpGpwgnip)nilp:

1. M={2x,x’,x+x2}

2. M={ xt+y?, x‘él}

3. M= {x+y,x v, x>, rm(x, y)}

4. M= {x+y,x 6z,x”" 522y}

5 M= { x-y,x=y,rm(x, y),[ ]}
y

6. M= { X2 +,2x,x” }
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13.M =

14.M=

15. M=

16. M =

17.M =
18.M =
19.M =

20.M =
21. M=
2.M=
23. M=

+y ,x—}’,z*‘y, -
Y

xz,yz,x+1,y+2}

2,95, %0 + 9, x-'—y}

[y] L y+2, [«/—]}

x’,x= 3y,x+7’[ ]}
y=1

-
%},y,x+5y,y+7x}

N
u

7y,x’,x’*',x43y,x+6y}

[-xJ,x+x",[Z],x+10,x2}
Ly 5

x+3y,x= 6y,x’*',5x,2y}

) x=3
x—y,x-y,[7;y],x+y}

t(x, ), i}/k=0,1,2}
rest(x,y) [ky

x+y,z=c/c=12}

1= x,[y+3} xl/l= 78}
x=1

5-1/1=123}u{x+y}

r=3/r=13,5}u{2x}

xl,k+y/l=12;k =34}

xr,b+cy/r=23;b=01;c =89}
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24. M ={x+y,k-x-yI(x=y)/ k=012l =3,4}
25. M ={x=y,x+k-y,y* /k=0121=56,7}
26.M = { 2,y3,a(x+y),xy/a>3}
27.M—{x’,x-y}u{ax2+y/aeN}
28.M={ax2/a23}u{y,x-y}

20. M ={x+by/be N}u{xy,x"}

30.M= {x ~3yz,y* /keN}

31. M ={3x,x+1}u{x-2y/ye N}
R2.M={x+y,x-yu{x+k-z/ke N}
3B.M-= {7 X+62,y" k- x- y/keN}

M={cx y/ceN}u{x+y,|: xy]}

38.M={x+2y/yeN}u {x X }
36.M= {c 2‘/ceN} {x—2'° x+7}
37.M = {x yy,x+k- y/keN}
38.M-= {x+3y,x+4y,rm(kx y)/keN}
30. M ={rm(x,y),k-z/ke N}
40.M ={x+y,x+3z,k-x-z/ke N}
#. M ={x3x}u{x-37/ce N}
2. M ={x+@y) /ce Nju{x+1,%}
43. M ={x=7,x+2°}u{2°-x/ce N}
{x 2x} {x+3y/yeN}
45. M = {x+y,x y} {x+ky/keN}
{x ,rm(x, y)} {x'/i=l35 }
47. M ={kxy,l(x+y)/ k=3,4;l € N}
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48. M = {[%/—]rm(lyx)/kzezv}
9. M=< x" x+y,|— } x'+y /abeN}

50. M =
51. M =
52. M =
53.M =

a-x+byla=135,.;b=02,4,.}
i=024,.Ju{y’ /1 j23}
a-x/a>3}u{by/b>4}

¢ -x+c,-ylc,,c, € N}

xy,cy + z, x+lz/cleN}

Ix/le N}u{y=n/ne N}
x+k-yl-y-z/l= 012keN}
x,k-y,l(z+y)/ k,le N}

58. M ={k-x-y,l(z+v)/ ke N, =12,3}
50. M ={y=1/1=158}U{x+2k/k=0,24,.}

{
{x
{
{
M ={
{
{
{
{
{
60. M ={a+bx/a,be N}
|
{
{
{
{
{
{
{
{

55.M =
56. M =
57. M =

61. M={ax+y /akeN}

62 M=<a-x /a,beNa>[ﬂ}

63.M ={x'/ie N,rm(i,5) = 0}
64. M= {x” Irm(i,2) =0}u{ )" / j € N}
65. M ={x'/ie N,rm(i,2) = 0}u{)’ /> 2}
66. M = x/aeN} xz/rm(14) OIGN}
67.M ={(x') /i, j € N,rm(i,3) = 0,rm(j,2) = 0}
xX+y,x } { ,y/l_]ENl>2}
x-y' Irm(i,3) = 2}u{a*” I rm(@,2) = 0k a > 7}
a-x+b-yl-z/a,b,le N}
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68. M =
69. M =
70.M =



a-x+b-ylabe Nyu{c'/ce N}
kx+ y,Ixz, p(y ~ z)/klpeN}

71. M ={

72. M ={

73.M= {x+y,x ky,l-x-y,(m- x)’/klmeN}

74.M ={ax+by+cz/a,b,ce N}

76. M ={x+k,ly,z" I1,k,me N}

76. M ={a-x+b-y/a,beN}u {x'+yf/i,jeN}

7. M ={x,y}ul{xy//i=024,.y=135..}u
v{a-x+b-y/a,be N}

5. GULU2GLP &4 UhUUGULU2GLP
RUQUNIEB3NILLEN

Ohgmp M < N: M puwqinpjwl pGnipwqnhs dnuGlyghwl uwh-
dwynid t hbnbywy bnwbwyny.
Ltpt xe M

2""(x)={0, bpt xe M’

Uhuwplnipwgnhg dniGlighwl’ hnlyw) Ypw.
- (x)— 1, tpt xeM.
=01 bl xe M
M  puqinpynilp Yngdnmd t dwlwstyph, tpb Gpw pGnipwgnhs
PniGlghwi Ywngplpuwg t:
M  pwqinpnGp Yngynd bt Ypuwdwlwsbyp, tpt wbnh mGh
htinlyw; wuwydwGGbphg nput dayp’

1. 7y (x) SwuGwyh YuwpgpGpuwg $nulyghw t;

2. QnynupyniG nuGh f (x) dwulwyh Ywpgplpwg pniblyghw, wybuyh-
uht, np M = {x/! f(x)};

3. Qnynupyncl nuGh f (a,x) wwpquwant)i YwpgpGpwg pnillyghw,
wyGwyhuhlG, np M = {a/Z-] xf(a,x)=0}:
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4. QnjnipjniG  nuGh F(a,x,,...,x,,) wwpquagnyb Ywpgplpwg
dnillghw, wylwhuhG, np M = {a/3 x,,...,x, F(a,x],...,x,,)=0};

5. Qnjnipynil nuGh f(x) Gwubwlh YwpgpGpwg $nLlhyghw, wybuh-
uhG,np M ={y/3 x f(x)=y};

6. tbpt M —p nwuwpy st, www gnynpyntG niGh f(x) wwnpqu-
any( YwnapGpwg Pnullyghw, wilwhuhG, np M ={y/3 x f(x)= y};

7. 6pb M —p woOybpo t, www gnjnipynth niGh g(x) pOnhwGnip
Lwpqppwg PniGughu, wibwhuhG, np M ={y/3 x g(x)=y} U tet
X # X, wyw g(xl);tg(xz):

Nhgnip M < N": M pwqdnpynilp Yngynid t Swlwskih (Yhuw-
Swlwgkh), bpbk Swlwbih (Yhuwswlwgkh) t

M = {C"(x,,...,x,, )/(x,,...,x,,)e M} pwqdnipyntbp:

bwlwsbih L Ghowowlwsbh pwgdnpimbGph hhdGwlwl hunint-

pnLaG6np

1. Swlwsbih pwqinipjwl [pwgnuip Swhwgkih b

2. bpymt Swlwgbih (Yhuwbwlwskih) pwqdnipynbGliph dhwyn-
pnudl e hwwnnedp Swbwgkih (UJhuwSwGwgbih) t:

3. Yhuwbwlwsbh pwqinipjwl (pwgnip YhuwSwlwskih t w)l L
Ghwjb wyb nbwpnd, Bpp wjl (hwnlbwpwp Gwb Gpw (pwgniip) Swiw-
sbLh t (Mnuwnp plinpbd):

tulnhpGhip

8niyg tnwy hGwnlywy pwqinpyniGGliph SwhwskihnpyniGp.
1. M=o

2. M=N

3. M={39}

4. M= {a,‘az,...,an}

5. M ={2k/k e N}

6. M={2k+1/ke N}
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7. M={w n-puunqphyt}

8. M ={n/ n-plhwunwpju phy t}

9. M ={1,3}u {2k/k e N}

10. M = {2,4}u Pk+1/keN}

1. M = {6} U {w/ n-puwnqphyt}
12. M = {w/ n-puuwnqphy t} \ {2,5}
13. M ={2,6,10,14,..}

14. M ={3,7,17}

15.M = {3,69,...}

16. M = {1,11,111,...}

17.M = {131331 B

18. M = {x/rm(x 3):#0 L rm(x,2)20}
19.M= { rm(x,2)=0 b rm(x,6)¢0}
20. M ={x/x>7L3k x=2k}

21. M = {x/3k x=2"}

22 M ={x/3k x=3".5}

23. M ={/3k3l x=3".5'}

24. M = {x/3k x =k}

25. M ={x/3Kal x=k* +1?}
26.M={x/3y 3z yP+2? =x2}
27. M ={x/x25 L 3y, y=3x+1}
28. M ={C(xy)/3k>0 x=y+k}

20. M = {(xy)/x =2y}
30.M = {(x y/x y }
31 M= {(x y)3vx=2"

}
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32.M = {xy/Eva>2}

BM-= {x (x,)/3vx>5-3" }

4M-= {xy/x 632”}

35. M ={{(x.y)/rm(x,2)=0 L rm(y,3)=0}
36. M ={(x,y)/rm(x,2)=0L y-n wunq t}
37. M = {(xy)/x+3" >2}

38. M ={(xy)/3vx>3" L y=3-k}

9.M= {xy/rm(xZ) OL3¢ y—5t}

40. M = {(xy)/3k(x + y) =3}

41. M ={(x,y)/3z (x<z<ylLz-pyunqphyt)}
42 M= {x,y,t)/t>x 3’}

43. M ={(x,y,z)/x =y -3z}
44.M={C3(x,y,z)/x=3y+5’}

45. M = {C’(x,y,z)/x=y+ 2’}

8nyg wwp pwqinpjul YhuwSwlwsbihntpjwl uwhdwbnuiGlph
hwdwpdtipnipynip.

46. UwhdwGned 1 « UwhdwGnud 2

47 .UwhdwGnid 1 « UwhdwGnud 3:

48 . Uwhdw@nud 1 « UwhdwGndd 4:

49. UwhiwGned 1 < UwhdwGnud 5:

50. UwhiwGned 1 < UwhdwGmd 6, tpl pwquinipnilp nuinwpy sk:

51.UwhdwGnid 1 «» UwhdwGnd 7, tipk pwquincpynuGp wGybpy &

52. UwhdwGntd 2 < UwhdwGnud 3

53.Uwhdwbnid 2 « UwhdwGOnul 4

54. Uwhdw@ntd 2 < Uwhdwbnud 5

55, UwhiwGnil 2 <+ UwhdwGnid 6, bpt pwquintpjniGp nwunwpl st:

56. UwhdwGnid 2 « UwhiwGnud 7, bpk pwquinupynuGp waybipe t:

57 . Uwhdw(nid 3 « UwhdwGnud 4

58. UwhiwGntd 3 « Uwhdwlnud 5
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59. UwhidwGnud 3 « UwhdwGndd 6, bpb pwqdnwpynilp nwwnwpl sk:

60. Uwhdwntd 3 < UwhdwGnud 7, bpb pwquintpynilp whdbng L:

61. UwhiwGnuld 4 « UwhdwGnud 5

62. Uwhiw@nud 4 < UwhdwGnud 6, bipk pwqdnupyntlp nuwnwpl sk:

63. UwhiwGnid 4 « UwhdwGnud 7, tpb pwqinupymbp whGybpe t:

64. UwhdwlnLd 5 « UwhdwGnud 6, bpb pwqunegynilp nuwnwply st:

65.Uwhdw@nud 5 « Uwhdwlnud 7, Gpb pwqdnepnilp waybpe t:

66. Uwhdwlnwd 6 « UwhdwGnud 7, pb pwqdnipnilp nwwnwpy sk b
waytipg L:

Uwwgmgt] htnlyw| pwqdnpnGlbph  YhuwSwhwskihnipyniGp
hwiwdw)l 1 - 7 uwhdwbnuiGbph.

67. M = {1,10} (1-6)

68. M ={3,7,17} (1-6)

69. M = {n/ n-pwwnaphy t}

70. M = {n/ n- p yunumyw phy t}

71. M ={1,3}u {2k/k e N}

72. M = {2,4}U Rk+1/keN}

73. M = {L,6}U {w/ n-pwwnq phy t}
74. M ={2,6,10,14,..}

75. M ={5,10,15,20,...

76. M ={11,111,..}

77. M ={13,133,1333,..}

78. M ={x/rm(x,4)=0}

79. M ={x/3k x=3"}

80. M = {x/x - h pwdwGwpwnpGbph pwlwlp hwywuwpt 3}
81. M ={x/3y wunqphd,npx=y+2}
82. M = {x/3k x = 24}

83. M ={x/3zx=3 +1}

84. M ={x/x>7 L3k k=2x}
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85. M = {x/3k x=3*.5}
3
86.M={x/3y, y+y<x? Sl:yT:”

87. M = {(x, y)/x = 2}

88. M = {C(x,y)/x=2"}

89. M = {(x,y)/x > 2"}

9. M = {(xy)/xSy }

9. M= {xy)/x<y }

92.M = {(x y)x=5- 3”}

9. M= {xy/x 5. 3”}

94.M—{(x,y)/y—3’- ‘}

95. M ={(x, y)/rmlx, y)=l}

96. M = {(x y)/x=3 >2}

97. M= {(x )3y, x=y }

98.M—{x,y)/3k x=7" y}

99.M={(x,y)/3y, x>3”}

100. M ={(x,y)/3z, x-y=1z}

101. M ={(x,y)/x-pamya tl y - pwunqt}

102. M={xy)/y-panyat3k x=3*y}

103. M ={(x,y)/x>3" L 3k y =3k}

104. M = {(x,y)/rm(x,3) = 0L rm(y, x) = 0}

105. M ={(x,y)/x - pwwnqt L y - pYwinwpju}

106. M ={(xy)/x =3k +1, y-puwpqlt}
M
M

R X

107.
108.

= (x,y)/H z,x<z<yl z—nthwnjw[t}
={xy)3z 27+ 2 =27}
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108.
110.

111.
112.
113.
114.
115.
116.
117.
118.
118.
120.
121.
122.
123.
124.

M ={(xy)/x-pu y-p tnhwnwpdwpwn wwnq G}

M ={(xy)/x-p L y-hwikGwibé plnhwbnip
pwdwlwpwpp YEGun t}

M={(x,y /x—nl;wmwnjwlthEZy:x’ }

={y)/x<yu y<xt}

{xy)/3kx-y=3k+2}

{( /Ek x= k3hy>x}

(x

(x.y)/32 xy=1=2}
{(x,)/rm(min(x,),3)=0 L rm(max(x,y}4)=0)}

{

(x

(x y,t)/t>x-3’}
{(xy,2)/z23x-(y=1)}
{(x.7.2)/x = y=32)
{(xy.2)/x+y=2]
{(x.y.2)/x=y=y=z}
{(x, y,2)/z=4x=3y+1}
3y 2)x=y+27}

{x y/x¢y } x y,z)/z<x+y}

ERERKEE&EEEKE
]

6. UuuLuuh LUMrQALLBUS dNHLUShULENP Bd LhUUGULUGLP

RUQUNHB3NELLENP IUUUNULULNFY

Swjnbh t, np VnZlBF(xo,x,,...,x") Owulwlyh YwpgpGpwg

$nLlyghw, npp hwiwwyhwnwbh t §" dwubwyh Ywpgpipwg $nibyghw-
Geph pwqldnpjwl hwiwp L, punn tnpjwl, hwdwpwlwinud t win pwag-
dnipynilp: Uynwhuh hwiwwhwnwh $nblyghw Yupbip t weneglp tniwn-
ptp GnwlwyGtpny [1 - 4]: OphGwy, YhGhh Ynnihg Gwrnigdwé hw-

SwwhinwGh $nGlghw planiGywe t Gowbwlby K™ (x,, X, ,..., x, )-ny:
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Uwulwynpwybu, Kz(xo,x,) hwiwwhunwGh $nllyghwh dhengny
hwiwpwywiynid t §' pwquinueyniGp:
COnniGdwé b0 Gwl hbnbjw) GawGwynuiGbpp.
Vn € N hwiwp Kz(n,x)=f,,(x)‘—“zn:

Nuyufp pbnpbd

g' pwqinpjwl gwiywgwé ny nwunwpl ubhwlywb Gopwpwqlint-
pjwlp wwunlwbnn pnibyghwbph pnpnp YihGjwh hwdwplbph pwqdne-
pjntlp Gwlwskip st:

JFhdGubind pwqdnpywl YhuwswlwsbihnipywG 5-pn uwhdwGiwh
dpw, Mnuinh Ynndhg wpygti £ Yhuwbwbwstih pwqdngnibGbph hbnlbyuwyg
hwiwpwlwinudp’

7, ={y/3xK*(n,x) = y}
(n hwiwp nGtgnn YhuwdwGwsbih pwqinipntGa t):

luGnhpGtip
Uwwgnigti, np’

1. Bf(x) w.ly. $nilyghw, wyluhuhG, np Vxz = {x}:

. dn,np z,= {n}:

. 3An,np z,= N\{n}:
. 3g(x,y) wwpquanyt YwngpGpwg $nLblyghw, wyGuhuhG, np
Ty = {C(nm)/nen,bmex,}:
twnwqnuntp hbnbyw| pwqinipynlGbpp Swlwsbh”™ GG, p&™ ng,
YhuwSwGwsk h® &G, pb° ny:
6. M={n | n,=@}
7. M={n | n,=N}
8. M={n! a en,}, npintin a - G npnawlh plwlwb phy t:

2
3. 3n,np 1, = {n*}:
4
5
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15. M = { 2}=
16. M = {n/'f(lS)}
17.M ={n/ 1 £,(10) }
18.M ={n/1£,(5) u 11,(7)}
19.M ={n/£,(5)=7}
20. M = {n/3xf, (x) =13}

21. M ={/ £,03)+ 1,00 = £, )}
22. M ={C(n,m)/x, c x,}

aruyuLnHa3nL

. Mamues A.H. AnropaT™bl H peKypcuBHbIe QyHKUMH.— M.: Hayka, 1986.
. Pomkepc X. Teopusa pexypcBHbIX QYHKUMH W 3(deKTHBHaA BbIYHC-

nrMocTh.— M.: Mup, 1972.
Bepewarvn HK., Illess A. Jlekipiu mo MareMaTH4ecKoif JIOTHKE W TEOPHH
amropa™oB. Y. 3. Berurcmimelie ¢yHkimm.— M.: MITHMO, 1999.

. [Ilerep P. PexypcuBHnie pyHkumu.— M.: HJI, 1954.
. JlaspoB U.A., MakciamoBa JI.JI. 3agaun no TeoOpHH MHOXECTB, MareMa-

THYECKO# JIOTHKe U TeopHH anroputmMoB.— M.: ®UIMATIIHUT, 2001.
UwpwojwG 3.P., LhghjwG U.U. COpwgwlywngbiph wnbunipjwl nwupGpwgh
fulnppGbph (nLédwh dEpnnwlwh gnignudltp:— Gp.: 6M3 hpwwn., 1984:
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411 AOLPABYSTY, 4.9 UNYWURUSUY, UU. 2NFAULSUTL

uLeNrhEeULLLD SBUNMFSUTL MU AhMLELh
aNANJIUSNk

(Utponwlwi dtnGwupy)

Uwninpugpywd t wnwugqpmpjwi 30.09.2008 p.:
Quihup’ 60x84'/,6 : @munpp’ odubip: <pwn. 3.0 duniny,
wnwuwgp. 3.5 dwiny= 3.3 ww)d. Swinyh:
Sywpwlwy’ 100: Mwwybp’ 97:

BN hpunwpwlyympymG
bpluwd, U). UwGmyyw 1:

bplwGh yhnwliws hwwuwpwih

owbpwwnhy wynihqpwdhwjh unnpupwdwing
bplwG, U} UwGmlywé 1:
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